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The Ten-Day Guide in the Cambridge IELTS-12 Era
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CRMNEZE (812) #2344

(§112) F2017 £5 B 10 B &5 Cambridge University Press #1 Cambridge English
Language Assessment BIP EE A, AEFEWH, M “S§/R" & backpack EEEZEM
MEZS, BFEBEAEZSFA (§12), WA TE—BFEEXFRLABDTOH
o] £ ,,

SHEXHFN "WER" 25, Pat —EEHMN—#ERBTE S/ Sample answers
for Writing tasks 384>, FF 4 #ffexaminers’' comments, EAXEFEFEREZRBHRE
TTRESHEZEENNAEXIER TR,

KEH AP ESENEX, Pat FERTERFIMRENEXRIER “£H" &, &
ARAESRIEABASUR, BERXNREZARRFREEEEAXLHFTERNAEE.
45 "#13" £ X, i native speakers E S{EN A IER BAEC A RFERIMAT
"BE, XRFHBOHRIE, [ examiner REF A BBz R EBERTHSEL
FE¥e) “HIBAEHE" —HIRF. “| know you are talented. But this is not my style!”

WREHREEE (§12) ENHETRE, RERAALNBEEENERDEN
TR SFEZAMARBERTINER “F—H", fln, FF (8112) 2EEHX

¥ examiners' comments .

There is not much development of ideas relating to each sector. ( {&J 12)
p. 125 , EEHX 89T . Task Response)

The use of some cohesive devices could be more flexible. ({&]12) p. 129, &



There are often spelling mistakes and errors in word choice. ( {(&112) p. 127,
BB MWD . Lexical Resource)

Grammatical control is variable and some forms contain errors.  ( (&1 12)
p. 131, EE$XHIFH . Grammatical Range and Accuracy)
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Preface

W hile | was on vacation in Florida this past winter, getting a brief respite from my
whirlwind life as an IELTS instructor, | had a chance to reflect on my teaching
experience and to consider how my own publications could best help IELTS candidates

to succeed.

Legions of secondary school and university students have committed themselves to
taking the IELTS testésHowever, in preparing for the writing module of the test, many of
them feel daunted and dié&tiented by the sheer volume of information they are supplied :
the endless word lists, the béff{ing grammatical quagmire, the bizarrely contorted
sentences and the innumerable péssé’rglesr.which could, purportedly, help them break

through to a higher score.

This book goes beyond what readers generally find 4p, other |ELTS writing section
preparation materials. It focuses on the skills, technigues and-mindset needed to do
well in the writing section of the test. To ensure that you gain maxigium benefits, | set

the following nine criteria to assist me in developing the contents of this book .

a) Helping my readers to generate enough ideas that will allow them to write

convincing arguments within the time limits of the test.

b) Distilling the common English writing lexicon into a concise list of words and

phrases while training my readers in proper diction ( word choice and usage) .

c) Deconstructing bewildering grammatical points for my readers in a practical

fashion, and identifying common mechanical mistakes made by IELTS candidates.

d) Instilling a good sentence sense and providing a handy toolkit of linking
devices, i e. essential conjunctions, common transitional phrases and key

sentence structures.



e) Training my readers to build a tight-knit and focused essay structure.
f) Providing my readers with various sample essays for study while discouraging
rote memorisation or mere reproduction of the essays.
g) Furnishing my readers with accompanying audio support to help them to
memorise particular selections of the visual text.
h) Reflecting the latest changes to the IELTS writing module.
i) Presenting a high level of utility to candidates of other English writing tests, such

as the TOEFL-iBT_ Writing Test.
These nine criteria p-roifgdad focus for me in developing the contents of this book. | hope

that your experience with it'is>both a valuable and an interesting one.

Xiaoyi
(a k a. Patrick)
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Uncharted Territory
in the IELTS Writing Test

Many candidates seem to have built whole superstructures with no

foundations.

— Pat
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10 Questions That May Well Put You on the Spot
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IELTS Writing Test

— RO EZE o RA L

oy My Answers

Y ERmRRGER? o

ZHELH, NENEABRSKREE, KERHRNEEREUM, FREER, FMER
REHEEFERXG, RINERBENOE,

SEAEHRNE. F—XEBENSEEEGELENTEXSETSEBPM, A, BXS
MFEMESHEEFEERE,

MLESHFFLFERERXWRE? AEEMIT examiners YL A A TEHHNE. FE
IELTS examiners W% B TEH SLE R work on a freelance basis,, 33 “M—TL", FF
B, EZ, Z8@8THAMNEENALRMARE—ZXETEENEEEZIET A, MA, 5
OBFAETERRERE. FEEEHEEFXLHEREWFRRE, EEEELIAF "TH",
EENMKEFSHETRTALETN, ALESEEEHEEEPHH N EENNFERIBKELY
BABUB TN,

Pat 3 ZBMIER “ci#t" SMbAOFEMNAMFHETRITEBINSRLRE . W
RER "Bl HF AR HFAHFEDEELDEM L, EMEATESERETRE, B8F
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¥ S5 Emi%%S Task 1 2 Task 22 -

NMEBMERKEE, HXEREFHEAMN,

BXL, FEEEEZE, TR—TANLERRSY, BBRBEASREL—EEH
FieEE, EAEE (BEEBINBREBENEZR) EEHETTZ SEENRETF
HEHEOXE, L-—F2ELXIMEXBEHRRIBPBNA—B, AEBEFHEEHEHPH—
EE,

Eitt, MSEHEHERH R, Pat BIUE, MEMEBENFEM Task 2 (KfEX) FE
BCHEERRATES, ARELEO SHELATH, BLAREZEREHTRAAEX., &
IELTS SHE¥AE, AMEXLERLESH2/3, IVEXLERHH1/3, BERERNYR

NMiZERE S B80S | F, BRMREREFXN KB ERZ/E, BENFPY Task 2 F
BHEAE/HATES, = TETRAHEBHNEM, B4 Pat RBABWEFRERBAY
&, EREMEMN Task 1 B 2, XREN. BRAZEZNUHE, THEBEFEHE

MK, SEEREEES LY %E%%T%ﬁ’f‘@ﬂ’]%mf’ﬁi BELLLRIF
BHERFE—&, Z0, WREE wfm#‘%@i WEEWEFESTask 2, S5 Task
2 &5 F e et mﬁiaﬁéﬁwﬁ*\%ﬁaﬂxm@@ﬁmwu

J?[Q}

™ SR

T S A0 P T % -

HTFESVREREHN “$£8B" X, UESTEFHOETESIES, MHFEH
EXEPthiHLHRE 250 words HNAKEE 7 HH9KHl, B2, HFSHFERM/) KM
Rifk, BABHHRRECHEGATIEHERMTHFE TR (B, KfEX#Bid 250 words,
IMEXEIE 150 words ), ERBFH. BEXETECE "M 2REKRH, (KRS 6.
(2112) p. 131 895 FEXE H1FIE. The fact that the response is under-length limits the
band score rating. ) o

BR, MTFELAH TFHTRER (minimum length requirement) BIEX ¥R, ¥
BESRTHHUARFISNRERET, fltn. (819) p 163 HEEHRIEXAT T 268
words, ™ {(§111) p. 137 N7 AWEXHERER ﬁﬁﬁﬁ’ﬂ 255 words, IRILIFHE. =i/,
NETRERHE (off-topic), BEEFWALE

HR: SKXRURASE, BEREZFE. HRTHOKXBELERBRNBTIRR, &
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i N T [ELTS Writing Test

BFHLARERHEAHE
EERTFHREA—ATE

WEINNFROEROER, RERREMIE 250 words, B ARE T word coun

¥ AFRKERRUERBBES? .

XHRE Pat T /AL, BXLE, SIFEAFMRAERARMEEERS K%, FFiE
"REMEXRZATKES" NIRZRXZERBEPALEELNGR, HEBH (814) ~
(212) EHBYFEFRANSIEX, HRRNT S "EHEHG" ®?

BBAAE, BF (§112) 12970 7.5 AE X EHXET.

ffacte

Public transpor@8wan issue that 1ll. The taxes which we pay should be

spent on the type of tfédsport with the most benefits to all citizens

BXE (f111) $137 W7 MEXEHXERIE.

Learning a new language for the purpose 8% working in other countries seems to be
more and more popular. Adults in need of monéyor, recognition are trying to pursue

their happiness far away from home

EHhFSIR. 7THM7.5 AEXEY, EEFRUHN "HAHE", &XE, 5% (9
10) £162 AEER T EXNENXERF.

‘The question depends on the age of the child. To punish a very young child is
wrong. as an infant will not understand what is happening or why he or she is being
punished. However, once the age of reason is reached, a child can be rewarded for

good behaviour

e, EMNRESLEYDH “THKHEG" 187

XEABARFENERLR "S®7T" 004G F, H# I A X&) Cambridge English
Language Assessment Rt E A ALXEBDNG F,
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[ECTS Writing Tegt Wl "I FT T LFE B LR e S S

¥ E#AEER ELTS SERE? -

TR “#M" FR W, EEHEAKREROTFTEERN, A, PatFHF
AR CRERE" NfUE, STHRIBOEME (5122003 FZRAINEE) BAZHES
FTLBHAANANERET, FHALEAFAEM LRI EF BRI “FH" BERF
ELTS 281, A\MitFARBAMRENFEFE 4% "EREFIOL" HF "FRIBRERR
REE" HER,

SHESANSEELRBREAY. XB (Ed %) Days NERRKRTRE=FE
Cambridge English Language Assessment ZE ¥ AR M E R S hLFrEFEANER, HETE
L ELTS SHEENETARNAEEENERER, WREEEFHHEX IELTS fEXE
BUEHGCERGORE, ETUSEAREKE (ELTS SEBRAESTEXLMR),

Dz

S

L
HSERa NI
o B =

EXFDEEHBHOS. ﬁEﬁIﬁ%ﬁ% eREME",

EELYRNZRATEMZIHSER, ﬁ&ﬁmﬂ%#ﬂ%z?ﬁﬁﬁﬂ#ﬁiﬁﬁ%§$ﬂﬂﬁ&a
R "wHEXS MERERXEBEENSIC nfd@egn, environment, knowiedge,
government, experience ¥ E believe E“%Rﬂﬂﬁﬁﬁiﬁ#itéﬁ?\% PiES",

{BX—F# @, IELTS examiners theE BEBME 4 R EN B RBRE 'Iﬁ RTEAEXH,
A FOBEAENHEEIR (BB A WoH0E EEi%EH occasional errors), AEFR3|#E
BX, BFES¥~E0456 (Flin. (§11) p. 137 £ 7 HE X #E EiFiE Although there
are a few spelling errors, these do not detract from the overall clarity of the response. ) .

ERENMR (A) MEEETHIEELEXENESHHSEIR, HRAERC, BhE
D UBEN" RS,

¥ SR RRREIER? -

—TKRIHERR. TFERACEHEHITER

EHEIL. SEEHEAM—HHBRTERS, FNEANEFTERSEFR, ZERS
FEXFNGES, T, aBEXEEG, CRHARITUEDPELXANHRMELT (L.
T2 HHREMNEIHEK Answer Sheet, ZERBEB M ARIITHEEY) BT EH> ELME

6



N [E( TS Wiiting Test

"R KM ideas IBC ERES T NMXEFLHEEREFICHE T E, #E Answer
Sheet BB S %

" REEXSEANRESK, LONAGRESHRERLEFLATE?

X342 1. Short time frame ( edJ/alFR %))

ELTS EEZHXMRBRFS L HRET LFERKNBRE, MEXESHBEEX (Task 1
REA Task 2 WiLX), BUZENRMARLBRRBRR/RAOKS, BFHIE. Y%8
EXRFENRNEEREERth—EER TR, TUESHAABLTH (EELERY
HEBTAHE— note) ,

MM ENSAMBRAMMMTYE, SARHWOENEIRRAINE LY, BN
BEENGIHEIFBHROEF T HERHORL, FTAFESROBESESHE,
AN, B—EERERGEED. S5 10 12 T8, FAFRERHNE & 8%
VESEH, SIBREFLE
RIBTER, BRI 1 G

X3J2 2. Different tasks ( REAsSTFIES %
KEEW%&%%W%%;m%1ﬁﬁﬁmmﬁ2ww}° KB R EE L 20 Héb

EEEM, WRXEREEE 0 MHELTA, EiketESKEH— N,

Task 1 BRMEZUM S, BEANREWN., AR, FR, TEXAWEHEFR A
AXBRERENGEGE,

HHEE2F, Task 2 Wit XNBRHHFH EWM—A IELTS examiners & X695 K 55

e P s e Pt

FEXRUARGETITMRARI LB AR RANH, FEAFHHIFRECHUSR, MBS
EE, Task 2 R XMELHERES, MEARBERE,

BUEEVRE—ARENSEERLTE, REMESBIEFEC 24, PETFTEHKRSE,

th—EFEFHASTR, 2BPEEZEHEEX, AFFFTLRHE M,

X 3= 3. Unfamiliar topics ( P EX £ FH ZehiEM)
AEXEAREFBFAEVES NN GRE EXEFRXARE, ELTS kX EFAHEHLESE

7
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YE—TEmOEE, XERENTEEORE,

ESENR. IELTS (X8 topic EERBBPEEEHFFIREBN, AL, TLEERES
FIMEZ G4 "RER", ETHEHARE, ANEHNE—S—Pibdx, X2
BLENEE, L TE/LERBAEXEE.

NB— In a number of countries, some people think it is necessary to spend large sums of
money on constructing new railway lines for very fast trains between cities. Others
believe the money should be spent on improving existing public transport. Discuss
both these views and give your own opinion. () 12 JU#l)

N _ Unlike many other countries, in the UK police officers do not carry guns. Some
people think this leaves citizens unprotected, while others believe this reduces the
violence rat@g&scuss both these views and give your own opinion.

=
HB= WMany museums cha%%« r admission while others are free. Do you think the
advantages of charging Qogle for admission to museums outweigh the
disadvantages? ()10 H&) Qp@;l
<L

'S , ‘

REM Many governments think that economic pr%r,e%i_ls their most important goal. Some
people, however, think that other types of p are equally important for a

country. Discuss both these views and give your owr(w. (&111 /&)
A

XERREAXEINLMIZTHWMNEE, EFEXFLENEBMEBIBE, EXZH
TEREBUMR TR —SUESFEPEEENREANELHLXELENAOHE
27, REABAZEREFEHTREFANZESHNOE, FUREEAFTLERAMOR—
BRERNTESHETEZHEREINETEHF TSI EIHASUNEIL, EREEXE
EROUERHXERE,

. Pat HIEELEH T native speakers BEW X ideas ¥ B %, RIVEGEDay5
#0 Day 7 Bid LBk,

KiEFARBEARAMPERHRER?

—LEEFEXZEEAREBEC—EHEREE HH7 4, ERARTRAIAFS #5E
5.5%, RAREMNBEREHECHEINFZRXEENAERERAMES ~5.5 7,



Eearatalp T o4 M W T IELTS Writing Test

W TEOILEXBAITULERERE ZLESASENZLOS S, RONES—£
FAH

4 %5 1 Some people argue that citizens shouldn’t be responsible for their own medical
costs.

ST LR, EXFRBEAHLRBELHEH X, shouldn't & 4 & & should not,
don't %% &% do not; A8 &5 I'm &5 & | am; # can't &% B cannot, (i
E&, cannot PR A EH), #l4 (4 8) % 163 W . This cannot be the
responsibility of the parents alone.

¢4 48 2 Scientists have presented lots of evidence for climate change. .

S RATHREXG OERR lots of, FABEHLZTUHA many A # a Iarge‘
number of, 4= (4] 12) # 129 W é4 4] & . For many people around the |
world, the preferred method of transport is high-speed rail. X449 é) F ik &
REEIRPE, BRESHELFREHRS,

2% %8 3 Junk food advertisements are everywhere. They attract the attention of young
people.

M. AOXEFHR, Arap R, ELTSEHAFTE k4", (2fs it
XAfey A4 6), examiner HF X B3k “HH” T, A8 Z Tl They
attract # # M4 474 attracting, FlME T il @é & TR HiE F

£% %8 4 Make sure that globalisation does not threaten our own traditions |

S s (WRAHEARHBF L, ATRHUREFLNEOT) ARERALEFASH
B2y, A, BOEGHAKNEHETRA, Hlove letter Y B, BiEed A
# 1" AR F, REARREANBRESIT AR “EER",

% ¥ 5 We should be friendly to others because the Bible said, " Treat your neighbours as
you would like to be treated. "

S, ERAEBTAEER, RELKSHEERFE, FHEMW (religious faith)‘
A R T A4k 4 academic writing #3869, £ LR A B A B FME “H" I
#%iE4i& (proverb), EXBRRAF L FE L RAHKSHEREHe
e iR, ;
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IELTS Writing Test

" IELTS frx @R EALUER 1750 we? -

I EEERRLR (X, AXR—MMRELHEE, BESRYGEFASHENER,

EEEEROALE, HRS "ME" RRRRMEFARIEER 1 FIwety, BA
SUSARXBBIFEN, FLLEBBHRY " WYE" FHLTURXBHAZAMIH,
EERSEMKRE, BIFERE,

AL IELTS St R2BFTUER | 1 we B? BNENHER, %8 TF Cambridge
English Language Assessment 28 E LB,

BAEREBMN (8110) B (§112) HX—FEREH LXK
€110 ¥ 162 ﬁf%%merefore | have to disagree ...
R
110 % 166 TIFF B, | bﬁs@g“that
/%};\;}
§111 5137 WE 3 B&. By this | medyhat ...
SAS

4111 €137 MERER. | believe that Iearnin?.."k_

.—/5?[
412 £ 129 WE 3 . If we can reduce the number o@ps..

\
&1 12 %129 TIE R ER. | believe in order to move ... ‘i\}

EthAMT, KiLBRREIL - 0kZ BHEFEALH (KELR (§14) ~ (§812)
HILEFRET7 ~9 HEX) BALHBEH |, MEAEP—LERHNEHBERT we,

Frd, BREEMNARFESEUYRIERNBINZENBEER | Fwe, BERES
IELTS ig X8, WLRHLENTEEEHAN | HE we "WEHK" T,

Bonus Question

Y ARMERREATMESHRERASERS? L

WIFR—#eEN, ELTSHEXXNTFRENERZAR V, MAE “TK" X, #Hhilx
XEEXTRIE (BAREMNEHME "BK") HXRERHRFN, flto. TEEMMX

10
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e R Writing Test

ERE, BTAANERES, EEMA¥RXE—RESREVRIERH X HEMY
/AR

The reason is because... —»  The reason is
new innovations —»  innovations ( £1)37)
repeat again —» repeal

past history — history

cooperate together —» cooperate [ with sb. )

IELTS fEX B —aTINERH “TTiE" & There be 8 INR AR EFERMY LS
t&k%1’ﬁ8¢ﬁ§&§#ﬂﬁ%§ CH¥EFER, BEEMHFAHS IELTS SEXEME there be

ﬂﬂmﬁm$ﬁo-ﬁ%@3ﬁ¢%E%I$%WQ;
» % -
There are two main causes oPﬁngils' behaviour problems.
oY,
S
Some people think that this is not imp%ﬁabtfp&cause life will be easier if there are fewer
languages in the world. $ c
<)
SA
\%\?“
-0 BEE o9

AW HRAENZRGEECEINERTERRER, ERNHFESHE¥ASH
BRE, BREXBOEEREERRNTS.

“1 have great children. They are very good. "
— Donald Trump

(H R A TR (HFkK) Day | RdExt ey )

1"
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IELTS Writing Test

e
5 AFUFATHBRPEEELPHE, SELE, ERRSATFRATIUEREREX
5%, At AFENNEINBEEULARR, BEFULARLEFTER?RERLIAFT 4.
EMBOOFETER, ERZMRERN, BERINR "—RER".

AMERXEFETREBMIRZEN “KISS principle”, KISS BN FBH XS, EF
“Keep it simple, stupid. " (EEHKEX),

s BEF3IMAT

R,
ELTS X 10 A BRE S B RESIELE ﬂ
. e, EE
%& '
79
= ():s\
1. BHEA 7\?& »r

INAEEEGRET "HEG" REEAREAERINRRRZ—, EPERBIZIIRERE
H—HMRER. "SHEARREET ", WRIWBEROMY, BLARBESNECSHES
RTRERT, BALFHRAMFEANEERN CXETHAARBLE.

HEFARS TEHXLEGHEST.

AR asa

# Teenagers do not have many after-school activities. ( (§]9) 8 A B X ENHE G, &
HERRTRERALE AEELEXENGFHITXA "EHEA")

“ Learning a new language for the purpose of working in other countries seems 10 become
more and more popular.  ( {(§]11) 7 AL X BAEEEG, 7 HERTHEREEEY

oW, BEEEHTR "RET" 5%

14



1

l
|

‘ % For many people around the world, the preferred method of transportation is high-speed
rail. ((§112) 7.5 AEXENEEG, FX, FENKRLL examiner ZFBERERT
\ There is a wide range of structures. BBk aR)

% The question depends on the age of the child. ( {(&110) 2 EEXENE LG, WE
ZENANXNEEG "RFR", SEHENGFHERBEE “TTR" 4)

"2 #am -

#?‘J‘EE‘]*E&E “ERGH + RSN AT BEMrPE A and / or / but X
3M™ME S — E*a

Tﬁﬂﬁgﬁﬁégﬁﬁﬂﬂiﬂ
EZ L *kﬂii’
/\
* Poor student behaviour is a wndespreaé‘i\:@blem and modern lifestyles are responsible

for this. 7%/
R
&

“ Children can be educated about environmental issues, Bub ts need to take action.

- 3. §#4 ~

SR ERthE FIEEH + TESHE, BENHIaGHEINR. EXATGAH
TEEMaNZEEHFEand / or / but, MEEE#NEEE,

EMEAORG— DT BENZ T T BEMARNERE, R, FEEAGHT
RGN (EER, SE—DEANBETHSHUENE, HEB—ROREER, —F

EFIL. SHEMEAGIRREANZEENEN, SRIEEHERAVERZE, REXR
NERNERAOHALRRAAMSHRKS, MARBREBC "&" HEH,

THXEFQERENTRFRFECXEN "TH" ERAONHALEE.

15
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n IELTS Writing Test —

- SRadIR

“ Some people believe that it is good to share as much information as possible in scientific
research. (12 fl4)) (4 +that 3| SFHREIEFENT)

< The main concern is about the type of computer activities that attract children. (that 5|
BIEBME, &1 activities)

“* The gap between their salaries and those of people who work for the good of society is ;
not fair. (who 3|SHZEiEME, &M people)

-

% Responsibility is developed in the child, which leads to better behaviour. (& which 3|§
HEBMNE, BHIIENES)

“ Countries are becon'\v’ﬁg.fmore and more similar because people are able to buy the same
products anywhere in the"&‘Waﬂlc;lr (because 3| S MR ERBENEG, HBITEAZXITRRH
REA) J

“ If parents could raise children to be reé’pg’hsmle people, the whole community would ,
benefit. (If 3| S8 FHKEME, E&Fﬁmiﬁﬁhtiﬁﬁm%#)

f):—‘

% When they get to school age they have not learned any sﬁlﬁz&pntrol (B when 3| S 898
EREMNG) )

N
f‘n -;‘k

A
b0
?’

< Some people think this is completely wrong, while others belleve |t is valuable work
experience. (while 3| S#KEMNE, FRTENTGHTILE)

ESHEALHNOFRBIAFELHE, RATL2EZRET "KEG" ®? ‘

BXL, ZHSFETRHEATABXE, XZHERXAEF1 241048, EHESMN
E1 -2 HiREIEHSAEE, BEAKFERERE 12 ~20 words XX EE®E, EFEH
HPEF3I~4TANGY "THKMEG", EXEETHIRLIY, MEREELETTFTES
"R HXET, BERBHLRLRELE, l

IELTS @ aEX, REFFRKEGH “"HEHTR",

(FERAAN TR (HFkA) Day2 Zarmeh 4 3])

16
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JELTS Writing Test QPO TR T A S Y T

1]
WEXY" 2—RES, EREEXNAEEREFID, REZLENESE "THRE",
REE T HEEIHE LI,

fFlin, ARV HEZRMAEN T E R %2 A feedbacks, MBEEXERESHSE “Hih", 8
H 7408 feedback (Ri%) AMERXBHILERTHE, Frbl native speakers 7 & B
feedback X MEAMKRERSBHEN B8,

B "TRHEHROEN" HEAERRS, SEXBNMEKE—FFSERENMEH,

R
CEEWTUR @)@%‘ifﬁ IELTS {ECH

. » ‘:‘r\r’?"’r'\-‘
A TFHATAE
%@5‘
.._\
L){'FE"]ﬁmﬁiﬁ%ﬁﬁﬂiﬂﬁﬂ)ii&ﬁ!%ﬂ?ﬁm#%E’-]%*ﬁﬁ BZ2MNEXERER
“ERTE. ‘

7R
l,g( %
relatively A 52

BREE: tA -4, A7 “HiEmTW, IAPAEFEEZFMNGET Tk
R FRLRER, AhiEELL relatively WG RLAREERANER, M PEAR
FNHLAESACTERRHBE G ER X

BBC $if): The amount of money taken is relatively small. (4 %1% 5 A& relatively
smaller, A 22 —1{% “%k4pkF" T)

affect
HRER.: affect AT “Hr@-..oe T # R A FH A, Hik 3 R Fie effect 4 % A& affect
1 AR R R &, K5 effect iiﬁfﬂ'ﬁé‘]ﬁ

BBC #if): More extreme weather will affect the UK as a result of global warming.
(affect 2 “#=Hm", ©RABHFH)

18



N |1 TS Writing Test N & i

S#BIf: Wealthy parents might spoil their son or daughter with toys, resulting in
a negative effect on the child's character. (effect &2 “#%”, {2 £ £19)

extent

HRAR. INFERFHARNAHCZL P FRAT A EHCHERNS, REHE
EA AR AR F B . extend

(1) extent £ %134, AT “BE", CAXEXIEBREZORATL

f#F B | . Governments should spend money on railways rather than roads.

To what extent do you agree or disagree with this opinion?

(2) extend A%hid, A7 “EM" HES, TEKELHEMTAIRA, 2L
uwxwiﬁﬁg%nzﬁwémﬁ

spended, sended f%"?@
HRAE: AAMRSFFEHEH HBX" EFAREEXRIALRF LN,
Wit EMS X spend (BRH) spent Ji-}:‘\.#zi%&}ﬁ])

send (RH) sent (1 -&g siat-a}ﬁl)

knowledge §’3§
$RFERE. XA LEKEREM-s, G583 HE FieXA @6 9 N FH8MHE 2
T, FA AtEEmFR-s, Pat heAEEERTHT (LRELRELR
e “fRAANRIENILHKN" F5E, REME—MFHANRL)

information
WRRE: 8" LRfet-s, b RERFEMLAB—K

advice
HRREAE. “E LR TH, Rt % 4 EF RS MR L

potential

#iEEE. FAFHRFMNAE “# A" potential & @ Au-s, Pat 3k B 48 ) Af 2k JF & &8
3 bodybuilders, “Af14BAMHE A THEI S, Fhki-s

19



ey 5

- TELTS Wiriting Tes! S ——

BF¥ABI4: The training opportunities can help employees to achieve their
potential.

behaviour

BIREHE. ARXEFAREFE, “474” behaviour FHAE LA A HHBX, 224
e EAE L2, behaviour %2 48 KT # £ 15

818 . Responsibility is developed in the child, which leads to better behaviour .

rise / raise / arise
SRERE. ARXANHACBRES-ANLAET, #HEESH.

(1) raise: Bimghia, #&H (XF#H) KARAK (HF);

(2) rise: FEME Ay 458 F L

(3) arise LAFBH D Ay LAREELEHRETEAEAHEARRKAFAM “
A", ERBET emerge i RLE A —E X RLEA, LRFZACAFT “L
#7, HAfLSHK TR S

result in / result from

SIRRE, A5 &S EHHAR, #ﬁﬁﬁ&?ﬂ%&@mﬁﬁﬂxﬁﬁﬁﬁ
A, EREFEFRR “RE" 4.

(1) resultin ... & “FHEXFH", €ehif L 452 lead to
(2) result from ... & “@XFHFFH", €L L4152 be caused by

Bl ERSELE, resultin Ztbresult from £ A, wREfi=o g LR,
MRRE AL result in ¥F T

ZF ¥ APlM: The hospitals argue that their agreement would result in better health
care.

outweigh
HRFEE. eHELL “p.... RER", FiL: EHHBREHEFH!L

###A: Do you think the advantages of charging people for admission to
museums outweigh the disadvantages?



o T i AT |F TS Writing Test

congestion

HIRFE: ALLa KRR F40i £ % X 2 congestion ¥ # traffic # & 4845 rafic
congestion, ATFRBHE, 122 LMz 62, a traffic jam Tl L& H X traffic
jams, T traffic congestion #FKiZ R4k “HEHYHR",6 BALREEE congestion
AT

SI¥FBIR: Better public transport services would help to reduce traffic congestion.

modern

HRFAE: £29HTARMGEEA, modern X A4 RiZ4k, T Pat 2 %% & 3|
- morden X iX#e) “43” (PHARELHLEZHHAHSHRAIALAEREA)

in a word 2

HREA: Pat 2R ARFTHEAARNFLEL A S TR AL RENTF L 54
“RMTL" WEL, THORy naword AERA MRS o Rk, AX%
XEFABHEZH VR -

nowadays
BIREE: LM% nowadays ¥ A — A F& s, % nowadays £ i ¥ L 2
ARetFEE, FRRAERE T, PRERAFEE B WAL A present K 4
current

economy

HRRE: AMS—HoHMT L #8FXT “HAL” #EiC, #hE 2. economy
A £ “23F", economics A £ “LFF", economic AH A “LBFmE
#", M economical M AHE X FH “ H4EH"

BFFAHIG: Immigrants also pay taxes and contribute to the economy.

lack

HERA: MM BRcute Y EAER FMAMLEHLFER “HALH", LM
= 5 i g

(1) % lack # id ##H4&, X — A A3, LiAKL: lack kA, Lt
%82 0 R BAEFT A



foy J

= = ——— = [ELTS Writing Test D e e . ]

Guardian #14]: Many young people |ack the skills that they need at work. (&
K& EL, lack ##hi8, FTAXK 66 @0 ESREE, £ €A K4E the skills
Z [d) ﬁéﬁ&ﬁﬁﬁ])

(2) % lack ¥ &ia&het4&, €85 &L MA N9 of

e~

BBC #l6]: |ack of exercise increases the risk of heart disease in children.
(lack fLix &) & 2 4E & 44, Ffrm&%‘##i&ilﬂﬁ.u‘fjﬁ of)

benefit

HRRE: 154480l benefit 1 g A “B4&", 225 EH 5Hia s, #R
T+ B R 114 L ZH 2 % — 49 troublemaker .

BBC #4): This free ramme can benefit low-income families.
~ @\J

(2) #4ii& benefit from 1) & &Qﬂ@ P

LFFEABEG: Low-income families (4&&%&%&) can henefit from this free

O
programme.
TR
4~ benefit 4k 3hid 8t 69X AmA R F M sk, sthk4ik benefit /£ 15 & 4F L 2 fL i 4 %)
“HBLE" T,
* * *

REBREEARPERZNEXEN "Hi", REREERREEAFHTERESR
MREMBATBENemE. HXXT6-7 HNEXRIR, BEERERHEBIN

EHEEFEE, HRPAK, Ht4IEERE native speakers HLHF ¥ Ao E®IEE
FHEBIRE?

(HREETAMNEA (HA) Day3 Zxtmess )

22
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IELTS Writing Test

1E EERF@R. “NE, BAAERBURXERERBELARR?”

REZXMOBEESHFES M, WRREE. "PEABREOURAAERIKR? £
EFRRBXNEERBTR? PEH 14 ZAO, FMH—BAEX, ANASHEETFORR,
FUASXFRRY, TR PARENEE, EARBURHESHEFFETIEALEE
R XBRR R?

2, REE. £E. NEAS/IKIEFOADLERCSBITT 412, HFREL
ESTHR "EAIA BERLBRRR? HE, ZHREZERNHILE, EXBANE
ABEL. BEBRN, ZHNHRS AT HATHESARNTREE, #AKS
B, BSHNERLETECRENEENSE, BHRREMARIHE, FREBHSE
=G, MIERNTFELU R XA ERZ~E6) APA, MLA F Chicago style, 1
M$Eﬁﬂiﬁ$ﬁﬁ%ﬂ%#ﬁﬁﬁ%ﬁﬁ§ﬂ&e

BERR{&EF IELTS “-31'152‘1\15 iifﬂﬂ]_.l'uﬁ'iﬂﬁﬁgﬁﬁ‘lﬁ??Eﬂﬂﬁﬁﬁﬁiﬁqﬂﬂ
BA (ﬂlM) ~ (21]12) Eﬁﬁﬁ%%ﬂﬂ*ﬁ*ﬁi (7~9%) BRBTHPREZE (R iE
] B i [ETHdaY _"ij

éf.ﬁmﬁm&%mﬁ¢uﬁ+mmEus%z%ﬁ§+:ﬁmm,mwseo

J BX PK 5 BR

(1) —4sgeuosmtre -

BRSO X SN, RMNW\EANBR B WL XHHAAX#THE, IELTS XIEXER
HBAER T HAEFHE.

C(SHTRER) REEETSHEMARS, ARGH-HAR, EREMTXH
R causes R A, solutions MR 7. problems B # 3 & &) B, factors ¥ 1@ E!i
measures KX #9#5E. effects (3L influence / impact) 1%,

C(BHEXE) MEERFAMRUSHEBLEFENEHE,

24
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e T T e JaeRia B 1. IELTS Writing Test

EEE+EMEX&%HE,ﬁﬂﬁﬁ%mmmﬂﬂﬁiﬁiﬂmw%~%%omu
WRELZNEFHIREK, ABENAERN ZATSEE Argument, 3F Report f£3X,
MEBEEXSMIBNAGE2 ~3 BEXHF T,

FIMES FLFANTEHLSRBHXT.

@ Some people say that the only reason for learning a foreign language is in order to
travel to or work in a foreign country. Others say that these are not the only
reasons why someone should learn a foreign language. [iscuss hoth theee views
and give your own opinion. (8] 11 test 3)

@ In many countries, the amount of crime is increasing. What do you think are (I
main c lu‘.u@gtnmt How can we deal with those causes? (#]10 test A)

(3 At the present tims,;”}he populatlon of some countries includes a relatively large
number of young adutts, +compared with the number of older people.
advantages of this situation 1‘5 m: the disadvantages” (€] 12 test 6)

@ Governments should spend money off 1a&rays rather than roads. 1o what cxien
do you agree or disagree with this statement? ﬂﬁ test 1)

® In some countries the average weight of people is mcregs)ugg and their levels of
health and fitness are decreasing. ‘Vhat do vou thinl ‘r,g;u
problems and what measures should be taken to solve the (ﬁlja test 4)

® In a number of countries, some people think it is necessary to spend large sums
of money on constructing new railway lines for very fast trains between cities.
Others believe the money should be spent on improving existing public transport.
Discuss both these views and give your own opinion. (8112 test 7)

@ People today can perform many everyday tasks, such as shopping or banking,
without meeting others face to face. '\ hat effects will this trend have on i |

and society as a whole?

® Today, multinational companies and their products are becoming increasingly
important. Some people think that this trend is damaging our quality of life. Do

you agree or disagree?

(EREE. 2, 5. 7 A Feport, Hbe4ERR Arcumen)

R N
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Lixre 7
o //;’, 3

Hh, Argument (f8FR “FI¥") XAABRREAR,

IELTS Writing Test =

O wFitied
ERCESCE 3
W st HA
O hE2FR

EERTFHRER—ATE

Figure 1. Frequency distribution

Afpument ) 4 FigiE) A

Type No REAHR X B I

Y Discuss both these views and' give WHTE R, 5
your own opinion. D&GH
Do you agree or disagree? / To what S

2 LR . , SENDE- | -1
extent do you agree or disagree?
Do you think the advantages out-

3 weigh the disadvantages? / To what e e i
extent do you think the benefits out- i
weigh the drawbacks?
What is your opinion? / What is your

4 4 ¢ / RELER i3

view?

MNAEEHUAERR, £#8F —EURXFEZERINEELAWNRRHMERT
Argument £ £ BT Report, T0RE Argument, MARSBABBEERE T LEHAB—%
Argument, R E Report, AR A NE B ETRREIRSHT causes, solutions, measures,
problems % & effects / influence / impact,

XA R TUHREAOEXSHTSHARN ST EMREE, EF2REHNE,

26



B u R v B DN B Writing Test o - ST ——
IELTS Writing Test

REEXTR

(2) MERBRMEH—MERT -

NBX", REEBREEHEE. SHERN, BEEXEHITUR

RIEEHM, BR, NEHLEAF XM, WE (four-paragraph structure | Fo 5 B3t
five-paragraph structure) R BB RBRENTREE, WA (214) ~ (8112) BENTH
BX (7~9%) LERTHTHNZRHEMNESE (EBXEHWFEEP.307),

Argument 4 MBS STRURIEN .
| 1~34

Il 1+ 5~619

ﬁ%§ i 1+ 3-~44
%gﬁ%g 124

}'\

(1) FFk B,
51-~345F

!hmmmmﬁkbgﬁﬂﬁﬂ@ﬁ!

F—8. MBRLHF, ﬂﬁ%# RRERAAHREH, 5—18
ENFARETREFMNEE, B ﬁ} fﬁwimhmmi
&4y,

£ XA L@y EM, XEFELTAD

F=6. MAKRATHERE, K (414) ~ (412) 28 FHHELEH)
TAEH: ED&GCERPHEHEDERE SKAAKAFLIRE A
AERATHNE, GRSARFELNAG, 22, BFAERHETHF L
L R—F PR AEFLBRENATHCTHEA,

(1) Etheyss
— B B3k 1R
Fi 14 15 89 3P

A,

E2XME_RERREACEMEN—F

F—8. mEEEOGR—FHUSE, wREEXHELFLAGRE
—OEAZARREL, MAXBEALKRELS,

Fo . REIAFRNEGE -/ o# 5 (LHAKAELE reason 1),

r



Lry
, T O TR T R Gl e v
IELTS Writing Test ‘

(&R)

Argument § 4 BiITPNEHMR

4. Bt SRATRF LN (LA reason 1 #9EF L HHH
supporting sentence) , 2%: RFAHO LI AR L REARE—2F
AREEAGHY, LAFAEBAE, A, REMAS, Bk,

A reason T A B BEILA R A 44, ik T AAEN R LA LR
H, 44 Day 6 etk b A 2 K5 4,

Fwa ., AEAEHE-No®r s (EP/t-Fk.zélJ reason 2)

) EENE
“RREER | 6. s AR RRAATLHE (F reason 2 6 & EF5
Lo e suppipling sentence, R TRABHERR—H BALTASE, #HFEK
?ﬁhﬁﬂﬂﬁ.&iﬁ‘ﬂj@k_z_@}}_i ERNEA),
FEWE B F S 4] (ﬁﬂ-‘ﬁ‘ﬁ}ﬁ % . BP reason 3) # % L&) (B reason
IR EHE), :1*1: m*&ﬂﬂﬁ reason 1 #= reason 2 it 47
THEEAGEFLE, 2 feas::n 3 ﬂfﬂ Ee R EFE AFEBTR
E, s XdkaFAnitA
SNME=ZRBEFiIFER, tEEBE2AXHERN—7A o
%"'éJ: M#irt_#!ﬁ..ﬁo
8. RABIFHFNEG—AEd (BPABEEH reason 1),
F=8., RFEIHZIAN®EY (B reason 1 # = 7 & i% 4 supporting
L) ERESSE
sentence)
—BuftfTitd

Fwé. RbAK2@e) reason 2, HFIthreason 1 IR EHFZ 4Lk
BT RGNE, (EHAMFERRETL, SHFEFTHFOEAL
XER2/BELERAN—FF5%:B8, 6—HEFEL1/34£%),

FEéE). R LB —81& (BPaT — & £ 85 E - = 15 4 supporting

sentence)




— - -
R e S T e IELTS Writing Test

(&)

Argument )4 Bifh g%

(V) ZRE,
E1-~2418

[
oW

(513

0. BtV BREATKRAMAN R —7F, XHEARLTAE
ﬁ:-é]%*ﬁ'_éj%c

F=b. EVATRMAGI—%, X EA LT AFd — 8 4HF K
— 8,

BE—8 . WEHA /W RE / BOFF B EARA R, 22H
B, wRAREEESSTARAIEASORN, LKL ERTI
ABARAHEELAREBAMAMER,

Al iR

%79

@3’1

~y

A .
fE# 56 ESL (English dsi@ second language) #if, IELTS ffX
HFME "R, ESENRA (reasol$) HARABHHRFXHE
( supporting sentences) B A~ EiB83K "Hﬁ'&’ﬁl"(@ﬁﬁﬁﬁé&tﬁ@i%ﬁiﬂ
(common sense), MAEESAHE. Eﬁﬁ%%ﬂbiiﬁﬁqﬁbéﬁiﬂﬁg*?’. )]
icthic (¥A Day6),

Argument 8 FEEUEH TTLURE A .

1-~319
1l 1 + 2-~34
11 1 + 2-34
IV 1 + 2-~374
V 1~214)



IELTS Writing Test

Argument B9 5 BIF &R

(1) FF3kE&,
51-~34

EHHURARALABXEREHA SRX54 RGN LFIEAKA
TR

() e
—BRRRRE
1@ — 75 89
%1 10EH

EXMFE_RRIRREMEHM—AHE 1 M EH

F—8 . MEEAHAQHR—FHRE, pRELXHELSFABERE
—ENABTARREL, MAZELFES,

F=6. F—Aoiks (B reason 1),

%26 reason 1 9% —ARF L H 4 (supporting sentence 1),
Fuga). %:9;0 1HFE AR LA (supporting sentence 2)

#oR: #%ﬁﬁ§$%4i7r1g$r8380n1 ESRIT X HE, 12
Birn iAo AARHRT MO RES T4 6, FMATH
%%ﬁzﬁ&iﬁﬁw£ﬁ§

i,

) EtkeosE
—BREERP
@6 —%
B% 2 M

EXME=RLABCHEH — 7)'&']35—7 %

F— 8. R T—H P = &%ﬁs(w¢ﬁm§ﬁnmmwo
# =€) reason 2 ¢4 F — A RIFF XL H6) (supporting sentence 1),
F =41 reason 2 9 F —ARF L (supporting sentence 2)

2, wRitd8E, SAELTAE R reason2 & $RF i #4, 12
MEm ALt aEE, SN oRENRFIFORFERITL 4,

(V) FEHE
=Rty

SYMENBSULSE, wREIRAMEHI—F
F—8 . BigEFUE,
Fd). IFHWEH—ANTd ( Bp reason 1)

F=6), cHRFIESH ( BP reason 1 & supporting sentence) |

30



(8E®)

Argument & 5 BIF PR EGHR

(V)

ERAE| qeit F e s
=RGHITILS

Fvwé), AW LM reason 2, HEA 5 reason 1 I RB EEZ 4 £ 5

FEE: RFLHFI—4,

V)

SRR,

HASGHEREL L RAERBEHE S Dk

1 ~2 4% ESUFHRESE—ATH

%

~cEREN

il R AP s A AT LM .

4 B X EESRA A BRI B 695 5 (PP d reasons) . {24k
s FaHA4# SR R R L4446 (supporting sentences) ik égtk L,

O BA LAk B BRY S s (PP G reasons) sV,
{fefrd i B EAN5# 55 4 3 RFF L H4 (supporting sentences)
etk AL,

TR, sBAMSBAZAHEIH I TR TSN 4L, WwR2EAEST
ABRXZLATEMGOA—FHEY (reasons) “IRABRRE”, T AMB—F
PEASFEY, EAAEFEISINAINTEMZ AR L HTERIE AL
— M4 BXEHERGRIE “TH" KT A5 EX4H,

Report IF4&MR

(1) FF3LER
51-~314

;‘f#

EHESTSEMEN
#— BRI ARFT, ITFURBERETLLEFERE,
#

J-J
ﬂ ARETESHEM, IRAEERHFALMNEIFGEHE—1T9

4
B

o

26, AARXLZSHEIAALHRBAPMES R,
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IELTS Writing Test

(&)

Report ¥ %1%

SfXMAKFTENRE (NEFRKTFRD problems FFHHE, R\ ;
B EEEAEMECRNBERRE) |

F—6. HALARENBHRAEALHRE, PRELEXHERF LR
RE—#HATEL, MALFRBEREYE,

$z6. mH, XHIANBA (supporting sentence) .

() g—1

ThE BR: wREEHES, RAIFOGRZTLTUASE, (SRANHEAFE

iﬁ%§§ﬁ4bo

%wa:xﬁﬁi‘?%:&&ﬂo
Aa), ; 2 A |
£ ﬂ.ﬂ#\iﬁﬁﬁégu

1
MERSER<G (BZARRFH LS (FZARABRTLHE).
Eﬁ:hxwﬁ’+#$:¢mmﬁi%@&aﬁgﬁmﬁﬁkv,ﬂz
t%i%%£¢&ﬂ#€%iﬁﬁ,4%%%?*&%MHﬂkg

FHEXMARHIMRAE (HBFHRT XM effects F , BIERBER
HIEFRIER N ERARE )

F—a, ARAREABEID AT,
B8, SHLROE—AHATE,
) e | B WA LHEATE,
TR | gy, aARROE-AHAFE,
BEGO. ME, LHEATE,
HMEREHRFESE) (FEAFER) ELE) (FEZAFRARTLES),

BF: wRHAF - AFPF_ABEFTRERORF AFLEFFILERA,
RALAKAERZANAFREPEHLF,

32



(&%)
Report ¥4 &%
CERRESE
(V) SRR )
51 -2 4E F—6. MEBEBZIANMALGRA,
F6). MIEMEHE, AHLT AN —404H4,
. 2 (1] ”
(3) Mixed “RI#ER" EEAEM -

ZE &R 10 fﬁmxm&wﬁt%m@ BSEAEROBES, HF2REE Report,
RZ‘EF%Q‘]Argumen‘%%jm FTEHARE “OFG" E@.

The way many people interact urrﬁﬁ%: other has changed because of technology. In what

ways has technology affected the npu%’@%unnthn that people make? Has this been a
positive or negative development? (interact wﬁ%’b Eikﬁiﬁ,'ﬁﬂ])

f

¥
ABERAHNE— AR E#iﬂiﬂ’lﬁﬂﬁﬂf{%‘? BT #38 Report, =1
EEEN R ERLRF %, BT REL Argument, PFIA, lkiﬂgﬁ:g(ﬁ‘l Report 0 Argument
“BR OB —RREET,

WRBERHFH REE FH, TREK, FHEM—TEEXBRE N Report 70
Argument s 7, ETRE Report HEFE— T THRBREXRT, E 2 Argument HE S
— N EHREXE, WEREHBEENRA MO E Report EHE E2 Argument 7557 X486

KRR,

Flin. AFMEANE—OR2EEFWEH4L, T_EERLEFE, B, BIONKEZZB
B ENXNMAF, EFAE—NTEE ST technology MARXR~4 THLE S THE W,
BREE_ T IHRRBRERFI% (X—BREOHFENF TS5 A On the one hand, ...70 On
the other hand, ... k3|), X¥, RIF~HRHBEOE THEEREAB QOHE, HETE
AERIIRE LAY,

R, RBE Mixed AREANFHAEK, BRILHBROAFOEEB 2O/ 0@
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- IELTS Writing Test

WIFT, A, BF Mixed BEBEERMMT. XEREIE, FIUEXLEELELH Report
RELLUM Argument ER P HZEXFRAER,

IELTS fXHRHEHE "BHEEEN", AERXFEEENEHHRTTH, hERX
EMERNSHL, LLIELTSEXBRT “/\BRX" BeE,

(HERFAR TR (HFkA) Dayd 2t mes4 )



Mission Statement

— B EH R

— 73R 28 Wideas

A
=g~

IR ideas 95952 RR

The Generation of Ideas

An idea that can be put into action is better than a complex idea that can only

exist as an idea.

— Pat
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IELTS Writing Test e R T T A e R VR T |

R fExEZ2famn “H” .
= B et 2 R

Rt S, SEM IELTS (EXEHM —ERUBE XL HZKT LB NEE, RS
FZHPBEXNZ "SZFHY", EE2ETER IELTS examiners FEEFEIH "¥" TE
=it4, MEEIHENEHA THRES,

LTS 33 e, {pEnN S Boe 8 B s RSP oea HEARAS

RX3Ith, GRE B 24 i, EEEFLURFHFENS % BF graduate school
B E#th iR GRE 5%, ﬁhsﬁ RE *f ideas ¥ Bk & insightful ( EH &8 690
2h), S

Qq!f\

IELTS Il $ 5 g 2385 2 e 1 Wit (Enésﬁpr?rcaency test), AHMKIBEHIES
| EAESEAERE DX EDRBRI T BBREU ECTSMA. FL, ELTS 5t
BAETRXZFENRE 4 BRIFRAH ideas 3 E BEIF T E éﬁﬂéiﬂﬂﬁﬁj]. EEXF
ideas Z S #0%1 iR i i3 2 49 E 35k 2 2 reasonable (ﬁ%i%ﬁiﬂﬁﬁ#ﬁﬁ%% profound
(FRZIAT) o

W&, B Cambridge English Language Assessment H &4 IELTS Ee £t & —
RN ARENER (English proficiency test) , {4874 & 4 & 2104 deas 7578 5 &) E
2 W AEN, HEMRTRALR, 4R IELTS SEMAEHRSR .

ENPLFNEZRELE P, BINOVEFNZER 1 HEERHTILS 260 words L
E#ideas, MEEFERT I BRAEHNRLZ AT L, ERXIXARNERFR?

FEARTENSEAAFTHAE IR, HEXBERERETaL =y its (N8B
ideas)



e IELTS BHERR qor-o

* In a number of countries, some pecple think it is necessary to spend large sums
of money on constructing new railway lines for very fast trains between cities.
Others believe the money should be spent on improving existing public

transport. Discuss both these views and give your own opinion. (812 test7)

* Some people say that the only reason for learning a foreign language is in order
to travel to o% in a foreign country. Others say that these are not the only
reasons why som%& hould learn a foreign language. Discuss both these
views and give your ow %\?ion. (811 test 3)

/ézl

* Many museums charge for admission@@e,others are free. Do you think the ad-

vantages of charging people for admrssion. igums outweigh the disadvan-

tages? (110 test 4) (}S
P

* Every year several languages die out. Some people think that this is not
important because life will be easier if there are fewer languages in the world.

To what extent do you agree or disagree? (#]9 test 4)

* A hundred years ago, many people thought that the human race was improving
in every area of life. Nowadays people are less certain about this. In what areas
has the human race made important progress? In what areas do we still need to

make progress?

E4LHTEE—SHZARERTET WU XTERNSLS (BIE B reasons) BFE
AN



¥

f/;f/y J

C o KBOUE # kR HUR

rFENNBEadEE, #7 "LRRARK" (brainstorming) EEERNELEFHEEN
—HEEWR X ideas Mil& H%k, IMAZNRER. THE, FSBEANTHNELKE
ERHE,

Bx—7m, ENEHFRMECEERKNSHEEHE, FLENRALGERBHEY
"BHAR BE "TREAHN", mAASER—EME. EBEH (RHFSFH) ideas By
ML, MTFAMBNIER, FEFTERE AR BRASEEEHH T ideas, BEHR
BHEBRBOLRRAR " FIME" TN,

Bit, Pat BIEMNBINE. ESHEHEERFTEREHROSEVE, ST #T—%it
BHEE R brainstorming, XX T HRECHERY "HRR" BEEFLH, B8, &
HERARKOEGHLEP, RNVARTE-ERLTEENELH, TARBIXE (buy
lottery tickets) T, ELRHMETELE,

-~ IELTSfE3UR% A
pe 12 £BBREE

Pat INEHRE TN 2003 FEESHNE —EEXHT (FNBFENFREAMENEZTIL
1 (ELTS EEZEAAESEX2MR)), TUAREHE. TEX12 KRTERES
EHEREREZHUFBNEACANEMEES BEEXEHY ideas, HEFTERR, —F
BRMREICHRX 12 FEELANERLEE, HTEHECRSATHAEN FihERY
ideas BSCERE X T .



EEE—————) A TR _—

+ HiRE - HE
* R » B2
« WF « B’E
< K > B
& Bk * M
* X4 <+ Rl

Efficiency

%*ig»* Skl
Techn: ogy.

&
&
) !
Right 4’&‘@ Responsibility

ooy

&
{n
Employment &  Money SX‘
&

Safety

Environment

Culture Fun

X 12 MIEACER, RERZ? "WiL" BINUY, MEDLTHR, HMERTRLET
REBEAMAZENRKRKBLEC, b, Pat HEEATENXRREHFEFINCR.

wEe  (]#S) XX
M (RE) R
wmE  (NE) W/E
i (®m) @R
Bl (BB) WF
T (X)) R

39



IELTS Writing Test

THIC "AXR HRFTUAXTERRESENTSREHBECIEL.

BLRI. £EH6 MEFHE T EAE—R, MEMTIHEEC ITMHS (BHRXD
FEF0 “BRF" streak KZEE, FUBRINRNPERENCELRIMAZERA "BFL" O),

JESTREEC XM H S X E /LB, AHEIZEXMN E& 6 4~ %£id (Skils, Technology,
ight, © nvironment, © mployment, C ulture), B TE2EMNE -T2 ERERRICET,
MICIZBTHE-NEIN, SHTMBTREENE —MINEKRETEENICIZ,

”hEiz 12 % ﬁﬁiﬁmﬂiﬁﬂ BESATHESEF/LFEFREMNELA
B 3 4] 30 4 SRRiES Bk, LB E ideas fiT T “IGEEL"
Ei?&%ﬁ:iﬁ bramstormmg BRRER “®/ES" (a hit-or-miss effort)
Hﬁﬁﬁmﬁ'—iiﬁ?&ﬁ EN
Tm2E6i%eA,
F—&

f"‘ 7>
A hundred years ago, many people thought that thb Iizqman race was improving
in every area of life. Nowadays people are less certain abeut this. In what areas
has the human race made important progress? In what areas “do we still need to
make progress?

ot ERBEATAXMN—EEM, REXENBERBERTE, ERE ideas
A%, R "#l", BAXMEALERXKR, XET,

RELRZERBERAFLBEITUBRNEHR, 2RISR EHR K, it
“REI" MEBEEIREBRGL,

MAFEITEN 100 FE, AXHHSSHARTENEHERHMMLR?

ESEN 10 FEAXRETEEHSNAKREARST. ' (HloT Y HH industrial
technology, Rk #l#k agricultural technology, % i #}# transport technology %), & &
(£ ¥ & % work more efficiently, 4 ;&3 77 {8 more convenient ), * 7 (EXHER
medical advances F0E 57 Bk % 892 # improvements in healthcare services, fR% 100 3

40



R R PV A T vl o W R L IELTS Writing Test

TREIE MEY K /X diseases that were incurable a century ago 2 42 1 Il #34 ® can be
cured), 5 (AMNAES MR KL have more entertainment choices) %% % F 4 Bt
WRX, B—ARZAEF2~3 MO RAMRS, MHTF5BRAWILT, S—FQBE 1 ~2
THARRBBT, FAXESRSHLELBE T RN P —ANBE, APkt
BCRBHFENRERITLL,

AXMAFEBRTEEOMYFEAF: == (rising crime rates FFH49ILF K, higher
youth crime rates S & D FILFEEK), 717 (global warming £ERIEEE, air pollution 25
75#), 2% (higher stress levels ® X #[E 5, lack exercise &t = iz & , the increasing
rates of heart disease and high blood pressure /Ui 0 3 M [ % 565 # & 4 g hn) |
(ERSREZEDE the growing gap between the rich and the poor), 1 (BEEGFIRE
traditions and customs E#AR) %, NET@IEHECKS "AF" SRR,

SR, IRXAMEN—MER, TURBERALT, TR ideas 2T ERBH
TE—R 250 * words 89 short essay Fr BTN, IR H S H LN SEFEEER B EE
XRiE, ¥ Day 7 EHEABRBLI TR, SERNEXIZBLNFE),

RNBRE—E "9R" ENHERE,

Some people believe that there should be fixed punishments for each type of
crime. Others, however, think that the circumstances of a crime, and the
motivation for committing it, should always be taken into account. Discuss
both these views and give your own opinion. (|7 Bfi)

fixed @ “BEM", crcumsiances & “ 4", = "m,
i“rif‘ur'_?E 5 3[’,3?” ’ lake into ace :.:!,Hlﬂl]% " %Efﬂ " ( %Egﬂiﬁﬁ'{n%g Day 7
B-WMITR, X% HEEPHE N ideas)

AH: RBEYT7 POBE_EEXM, FHELHR, BE O MNESEHASHIERD
HEFE,

BLEERRNEZNESHILRETFTEENEN, FRENZEREE, RHEERL
HARFILRDTEAERAR?EL L, IPEFREEEZRRODBATFESI,
TUNEFEHABHTREN FEEABRPIPOBREBRLEG “HAERTH"
BMENPRT, A, EHEFRCREREIKEE S B RNE R Z 06 R MR ?

4




Y }/y Ll

IELTS Writing Test b RTINS RN T

%, MELA, B ELTS SENEFESEAARNIESRASEN ideas, FF
Bk "R, BEBNENEMRRIRM,

MERILRESEZRFAOTLE.

W% (18835 improve the efficiency of the court process) , % (BRI
J0 deter criminals), W% (/& ¥TE 5160 % M reduce the cost of lawsuits) %,

ZEBILOLBRLENNNFLNTE. 0FH (ZHHESERLHLEMFA),
EE (XREBYHRE 517 more responsible, thE 4 A{SA& more convincing) %, '

ETRGREERMNET, DEAIEAHLTABFEY "IELTS €BHHE" T,

HGEH,

%
In some countries, the averaWht of people is increasing and their levels
of health and fitness are decreasin @Vl’lat do you think are the causes of these
problems and what measures should bﬂgv to solve them? (48 HE)

S¥: BEAASURIE. RERRTRAOREM B (ﬁmﬁnx B, ERNE>R
KEIEHD), 2 (rely on junk food kKL R &, etk exercise ®RLOEDE),
S (B, FTHRMEE K spend too much time walching television or
playing video games) %Z A EH IS ZHIE,

MEMBRAERTUE. BEEAMN “LIZZEF" (encourage people to exercise
regularly and avoid unhealthy food), /&4 FE B8 (drive less), RBSTHAEBF L
HE (walk or cycle to work), A/ FEBIMAITH M E B (spend less time watching
television or playing video games) %%, Nf#HEH ECRBFSHERTEE,

L]

Every year several languages die out. Some people think that this is not
important because life will be easier if there are fewer languages in the world.
To what extent do you agree or disagree with this opinion? (]9 E&i)

9. EiEde out BIERS, ©ARIER X BTN EIER become extinct,

42



—TELfS \f\.’ntlng Test T o y

Pat & X¥MBHEE Arizona MikiT8f, ¥E07%E)id %) Navajo people i ENE %
BE, BNANESFE. NERNEXENXA Tt TEH T I ERHDERIES,
BERRT Navajo FLHULWEE “FiE" HNERES I, Hitwe 2L
RET, L8 Pat FANTXHANTRB T —F, ESHRIERAFXMNFIES XKL
BRANRNZFFARE, REEETHESHALHEIR? 1§ “F" —Nidid,

EFXRHEBENEHITNE .

W FE (remove the language barrier S§BES B, iLABTEEEXN), ®tl (T8
IMERMUANBORERBESER T ENLEE S ML have more job opportunities ), 1%
(BRNMTREFAR/NEROARME NS provide public services in minority
languages, ‘B fFFF % reduce government spending) %,

RN XFEZNEHNEE. T (B XL ZHM reduce cultural diversity, S
RZ X {kfZGeE kK cause many traditions to disappear) , Fill (FERBLTHANTHES R
RE R I feel isolated, ﬂﬁﬁ#ﬁ?ﬁh%%ﬁ feel frustrated) %%,

TEEHRERRBERBREN,

- EIa

Many museums charge for admission, while others are free. Do you think the
advantages of charging people for admission to museums outweigh the

disadvantages? (€] 10 E&i)

# ERE, BYEIERY admission fee HF entrance fee, “WIN[ITEH" WEX

& charge people for admission,

S REPEEAFENG 10 FIHMNTAZINFE. SUBPREIREXZHUNSE
%, FEHRFIEFHA?

H3L, SRBELTS SHENEFE—#, BDERBETAATFEEXRE—EE—
TEHEFWMEE, RHRNSBEYIE, Si531H 26 British Museum ( A%
®#¥18), Natural History Museum (B4 S 1@#)18) #0 Science Museum ()%
WMiE) 2HRX /AN, EEYVENZERERS, SUEFHE, BFT




IELTS Writing T et 10—

RESHET, FUBYERBRSARITESHNABRANRIE, HiKt, LBEHK
EERHTIE “S#®" (free admission) AL “BEZ#|" (voluntary museum
admission fees) MR, IREXEEAXNBYEZROBAFES WUNHEEHIR
z_'o

WMk EAPUPNEBE, RINMBEENEX#FEE "BEHT", RRbEH
S BIMY ideas B XRESE,

WYEWRRRNTFLA.

e (RBABLA 8 reduce the burden on taxpayers), G (@PEITUFTES
HHE E I T 18 1E R increase their collections, SN B ELEBFEFTH), HlL
(EYETUEESNLREAESNIEAR, EREFARNEHTEDELHENNRS
improve their service, i EtalLL6)i& Rk create jobs) %,

101 R ) 2 2 T RE 7 4 0 BB

(—LE4 B A taxpayers REATELSRSTSUA BN EVEEEXRTLFE), U S
({E U A K E low-income families TS AL FAEHERLEZSUE{YIE) FF5,

XELANRTEREBLE deas WIHBREFREERERPY "OEREE" BH
HEEF

SR

-

Some people say that the only reason for learning a foreign language is in order
to travel to or work in a foreign country. Others say that these are not the only
reasons why someone should learn a foreign language. Discuss both these
views and give your own opinion. (&) 11 E&)

S FHBRTFEENARTIAEFLEORBEATUMN & (ESHLAEE
communicate more efficiently) , 77 (BBEZEMRITHELENANEFib
T#. R &2 8HF understand and protect their rights), ¥ '% (BEBIFER

H#biE &V 35 #b &Y X L 0 4 5F A R adapt to the local culture and lifestyle) , 5 &
(iItESNRTRETHELHENHE more enjoyable) FHBEREWE, WP




e N IR SRR B TS W_N!mg Test N

i#®# 2 -3 RECRABLEFENREMT,

FHMBARERBEAMN TN a8 (3 FH IR gain new knowledge) ,
il (FHBITUIENEXZEAFK Y HLE job opportunities), 4 (TRHEE
BROX), T8 (SI2E % 6 X make more friends, &R R 8 & watch
* foreign films without the subtities, U7 b & 8K d listen to songs in a foreign |
language) % 75 thAEBR (B EE MR,

gtE

In a number ountries, some people think it is necessary to spend large sums
of money on caﬁ@a ing new railway lines for very fast trains between cities.
Others believe the %gl should be spent on improving existing public
transport. Discuss both 1%%\ jews and give your own opinion. ()12 Hii)

™

/P

v -
| [ A

4#7: existing public transport & ﬂﬁﬁ’i@t&ﬁ

FHERK, REBFABZHBRE, Rif "F" —1T.9

FREGHGERGROBRITUM 22 (BT ANHERTHZE increase the
efficiency of personal and business travel ), 42# (EERTE E, M TRENES help
passengers feel less tired), &t (ERESITLIEEXEHHR YL E create many job
opportunities) FAEKIRR,

EREASHTHEVELHXTBENRANTUM =< (TUULRABTHLARZTBES
E R LTH make existing public transport safer and more reliable) , i (HEREHN
ARFBRLSWIRAE, MERAGFERKEN G TEX B AFFEEMBEF may damage
the environment) F AR,

REAFREBEREGER, ERHH AHEL", RBROSALIUMESZHY.




(9% gy 3

L T I SRS,
IELTS Writing Test ™=

WREX 12 FRFERNDARSHA, BLAFCEERE 10 FNLBAAERXAEN

T#Ed.
* HKe > WX
“ WF + |E
 IREE - RE
- ME - RE
* X - K@
@ o8 J

REHEFE. ELTS X TMEPREES %", HRAE, MEADH deas 3t
& IELTS examiners &% 2Bt X H,

(HILAAM TR (HFkA) Day5 Zaehsks)



Mission Statement

— ERHRETRFY
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— BAFSGRSURI SRR R
Clarity Counts

We are living in a world of growing complexity. That is exactly why we crave
more brevity and clarity.

— Pat
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IELTS Writing Test

- B 24 “well supported” ?

TREURAERIRN, PEAES—FEBd, WRUESIRA (reason) 2/G, MXF
ARREGERHRF LT, RERFXFANIRARATRBA NN LR, HARTHE
ZBEEHA a lack of development & not well supported,

ERMERESRFXZFANTIETIRAER, BNALTERBINRE. PERZEN
£ IELTS EXMBRAXFOERBIT "SK" 7, ERSBERSEFLEXENRFXFG
ERHIMAERS: (1) BEXXEH "FH" X, (2) ZREHYDH “giF" X, (3) M
Rk “RR" (pr.afou_nd) Xo

RaAEFIA, fPIF?ﬂ“J'ﬁEﬁiﬁﬂE‘IH%E "EmHR", BERZXFINAFELHRE,
SEPERZEMN %&%Eﬁiﬁﬂ?‘ﬁﬁgi’ﬁ’lﬁﬁ? supporting sentences IR L E XK,
ELE, (§14) ~ (8112) a?‘i?@)’(iﬁﬁ?iﬁﬁliﬁ BISMBEIMH T =M HAERN
R

(1) BEEXL
(2) BEES
(3) BEEESE, EW “¥E" (common sense)

1E40 IELTS = 737 British Council BAS#3IE 8. “ Good arguments are well developed
and are not difficult to understand. " ( it 4k &8 1000 KIS

Bk — X8, MERFLELEXHFEH model answer EEmH— T &
(reason) EH'E#1 ~ 3 4 supporting sentences (FREHNEREET—TNELLE),
FiL: BRAXHBONEGKTIR, MEASEHEEG, #3469, EXO08RET, RERIEXTEN
aF. HEEHPBEEASERRTIULT,

S MER (reason):

An advantage of going to school at an early age is that children develop faster
socially (UtEFINRBLFNFLZ —BEFINNHESTRHEHSEBEER).

48

el TR a e
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" R e M B N wa S |E TS Writing Test

RIENESHNRFAXES (supporting sentences ) .

BEIFE A RHE 6 Model Answer 3 FiX 1411255 7 4 supporting sentences .

RIFZHFA 1

They make friends and learn how to get on with other children of a similar age. (b
NXMBE, MAFLERHEZNERBEOETFEL)

BRI 2.

&
p Sl

This is often not posé@g at home because their brothers or sisters are older or
younger. (ﬁﬂﬁﬁ‘”?ﬁ? ﬁ U ERHNNES, BAtNORBBHELEBNNE
BAREER)) 5

‘*»': T\
S
FRENBFAXHOLERSH, §— 67mgg BEHNRFAXBFOEHLEEES
SHRAXFEOSHEER. HEE "FR", TMY?

RIS, RIORETUEN, EETHE. mﬂﬁﬁw:muﬁmnﬁﬁx
£, FrA® supporting sentences T— M R IESHELTEMBEE AR H1#e0,

BINBEBEFF AR RE The Official Cambridge Guide to IELTS (B HiM) E®
897 7+ sample essay B FF X 54 L f .

W) ‘ME= (reason) :

People are more active in their sixties and seventies than they used to be (&A+t+
FTHZANEEEEZFMIIER) .

RENEENRAXFE (supporting sentences ) .




i/ay 73
' ) o T IELTS Writing Test

(Ef) REMNE/ELELEIREMHLAT T M 4A supporting sentences -
BALZHA I

They have time to enjoy their retirement (iB{k) and do activities that they could not
do when they were at work.

RF T 2

They can also help to look after their grandchildren, which is a great benefit for
working parents.

’F%"iﬁﬁa%ﬁ*@§ﬁ" #, SIFFIRHE M sample essay ETHMEBAXBO—EE

x5, %ﬁ.
o
ZFIAR XA, #T&@ﬁ%gﬁ%yv% MEEHN. #HREHESENNR

(language proficiency test) , |IELTS Wrmf{gglﬁ AR EBELEETRABH. EHHN
KBIRECHBRERIEH K, ﬁx%§%$%§ﬁ§mm MEH, BRTX—5, BF
FRARFREADEBR, NRYBERE ELTS SERBS WK RRFLHOSH
"BAL", BASRE—FEBRER, T

Py
©-> native speakers BB FERIF XFH)? o9

LR (BIEA. reason) EHAEMNERAXFOREXBERTNELE FARIERXH

P& (hRARSEZENEIRY real content), XARLNEH. 5k, MENREZE

%, HES, EE-£SRANETETUSS/LARFLHA,

B2 Pat 1 % I E AR % 11 % B 3 F #8 supporting sentences B % " — L k"
(clueless), FHELEBHFRAA MM AFTERAVRXRFIBRATRSEY, HXAE
B 7 native speakers 8 C £ E# 2% supporting sentences #1, A ETHHELEHKILBEDS
BUHNBRAXFOHAEIHSEETHHHFT,

& XK Academic Writing IR 2 F, BIRNERHR BT EAFE TEHXBNEERS R
FEBRERFAIFON.




N [EL TS Wiiting Test

¢ Why is this true? R ARRATTAKIL? AR AXFHOEHRHA?

¢ What does this mean? 4¢SSt ARERIEEH4L? REFR2ET
AEFHN AR X EESRBBEHA?

ELTS fEX M RAXFHONERESHE (reasonable), HFREFX, #@iTilje X4
B, BNATUNSRARHUESHEFEIHGT, MESSENE. IRBLMURFX
ﬁﬂ—iﬂﬁ&%iﬁiﬁﬁﬂ‘], A URERENFSRE,

w 1. Why is this true?

WA G

Playing violent vudbo games can cause changes in young people’s behaviour.
miﬂ#ﬂ%%ﬁi)#whﬁfiim

BT (5] 8 € Why is this true? ( ?H‘r’zd}&f—i“ﬂiéﬁlﬁ?) y BINATUXHESHEN
BRF L4

F1ARFIHA.
These games make it fun to fight and kil

FE2ARFZHG.

They also teach young people to use violence to solve problems.

$3ARFIFHFD:
As a result, many young people become aggressive (H s £ #) towards
their teachers, clasemates and even their parents.

W ERAE XA MR 2R
Extreme sports involve high risks. HLFRE 3h 3F BAR F &Y B R,

IEEIB E Why is this true? ( AHATTLLX#H?), RNRTUBHEERNTEEH
XM AR NBRAXFG.
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F1ARFIFHA.

For example, bungee jumpers reed to jump from very high places.

#2ARFXFA:

They may be seriously injured if the equipment does not work well.

FHERXA A
Higher taxes should be put on fast food. B % 2 B ARk B H e AL,

FEMYE, BEBS Why is this rue?, RTUBHXFESER BRI RIORIFX
Fra.

¥ 1 ARFEHE

The healthcare syst a large part of its money on health problems
that are caused by fast%%;lg

7 "k
F2ARFXEED: ‘<4 ,,r\
People who have these problems should b?‘m%g{_orﬁiblc for their own choice of
food. ;32}"@
{re
FIARFZHN: ‘?\ “

The extra taxes that they pay can help to improve the healthcarc system.

‘g’ﬁﬂaﬁ} S — -

MBS Bk L ey d et , IR R4EA This is because, Therefore ¥ B
RAAMEgia, M, s, BIE, KFRE, AMHFKE, HE XA F
1T S F R TAAMOLEE Why is this true? # R, A4S RGO L TR
NELWALET

» 2. What does this mean?

X Fh 75 A 7E K 2 6 Academic Writing 1§ % F{E BB E L Why is this true? B)iRiEIER ST
H—te BENREBE—ITIRALEBMITAELRBR, BARBITIEGB S What does
this mean?, BiNtLTUBER XM RENFRRA XSG,
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WA R AL

School uniforms help to reduce economic and social differences.
BIBA B TR Y Zifrfeitomiith £ 7,

BTMARRA—ENER, ERHILBHR, RINZLTUAEEHMNIBESREEN
BREHREARE, Bid@BE What does this mean?, RITUBRXHNRAXFHG.

81 ARF /.
They help to make all students feel equal and confident.

F2ARFERA:

Uniforms also reduce the pressure on low-income parents to buy fashionable
clothes for their children.

FRA—AER “TF M.

Art skills are not essential skills that most students will need when they enter
the job market.

essential skills (U HfE) ITMMISEERR, BALBI @ B C What does this
mean?, RATMUBHXEEHZEMBENBANBHAXFS.

%1 ARFXZF.
Most of them will not reed to draw or paint at work.

2 ARFALRH:
Other skills, such as language, maths and computer skills, can help to prepare

them better for their future careers.

ERORFALHFABAUEREBHRO TR ERERW. E5TERT,

ﬁ'_ﬁmmﬁ; —

ELTS L ZH A FIH OS5 S H#ITHER A FRETL B L L THARL
“EHLSMRT REMBA-ANHLEN, HOBEAHMGRTIHAT,

53
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oo EREARIT O AR ? oo

FHRFXBFONZERERTH. BAN, XM ERSAEEHE, EREERL
supporting sentences REXR i, BA? HH IS I EEBEEIH/OE,

ZRPERENFTXAEFER (cohesive devices) #IEMRHE. ZRiF, BRAL
MEFTHECLIRIT, EL—FTERNBINBAEIFOXHE, HFRBOEHER
TERE, AN "HEFR" BET "E89" NERSATELHE, BRE#HT 23, BA
examiners [ % B4 2 3K % 4 4E 9% IE 9 i 3 89 cohesive devices H=2,

SUHFE X T 17307 % #9835 B K Ruse a range of cohesive devices appropriately ( 15
LipfE A 5#%}&%%), me.

Y e,

Not every sentencé?@%t start with a linking word. (H# AR AF—8EREEM
i 4899 R A 45 ) :

HEENRHNZX DN EHEH.

SR (reason) . 9 m-( "
Governments should encourage the use of public transport.“
RIFEZ#HA (supporting sentences) :

They can make public transport more convetient and affordable. Buses,
trams (Fih @ %E) and trains are good ways of commuting and getting

around. This means that more people will use them if they are cheaper
and more reliable (TTH ).

EXTMEAROINIGRFXFGE, E##ia (if), i@ (they, them, this), 54
AESIEXAEZE (buses, trams and trains) #MEEF TUFTXARENRBOER, DR
WE (EXZEBXRWTFRER) HiEE—0F2H "BH" T8, FXHFENHREFS
NS, 88, SHN,

B, XTERERE, THAAELIHNEENBGTT "RIFRE".

s



e e - SRR TR ) Writing Test — o

Use linking words that you fully understand and can use accurately. Avoid using
linking words that you only partially understand. (4% 8 4k 7 %~ 22 8 & B =T w4 2 %
R 6488, BEEAGAR “—o¥” ki)

BREURXBTFHRIEELASEEHN short essays, OEREREX (LRBEHEBE &
B) E@—M2%56 ~8 1 supporting sentences, ARXEX (hBRREEF=/ &)
EE—REF8~10TRAXFC, LAEREPAOTUHNFEHEFER (cohesive devices)
MEX, BREC "FESTRAXBOBLAERBFL", BIHBRFREML (use
a range of cohesive devices) HIEHERHE LR,

S
¥
(ﬁia%g_ (#3 k) Day6 Z@mes% )
078
[2
2S
'df‘i"
é}%’&
Q:S‘
A
£






Mission Statement

—REE et
BRIt XRiFaRAE
895 $phrases

Dy 7

AT, “HhARIE”
— 120 3HOHE

The Writing Phrase Bank

Focus on real content rather than big words.

— Pat
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IELTS ertlngirest“

Iul 5)’“ )Ln.“n = U-‘H'

MNERETCHAARE, PEZETUSRNEA LR EIENEEREIE, EXTES
(individual words) BOREBEXIEESFHEER, MERFEECHE L, ER% IELTS
MENEEBAE, HESHHIM TEBEFSE() (phrase learners) ¥, ME, £
FHERREY IDP EES L, IDP & senior examiner th @14 % 7 & A good phrases X F
IELTS E#mSNEEM,

BHRMB A K, kiR KIE (empirical evidence), th# & Cambridge English
Language Assessment EIFIATMEAEX, RIT—EXKE (§/9) p. 165 8IHEA8 7
BXENXTEEER.

Life skills are vé}‘@:'iihportant and by doing voluntary work, students learn
not only how to rommtjﬁfea{e with others but also how to manage their time
and improve their orgamsatrmai skills. Unfortunately, teenagers today do
not have many after-school actnﬁ?ﬂgﬁ, After-school clubs are no longer
popular and students mostly go home éﬁé au in front of the TV, browse the

Internet or play video games. . -‘,{a‘::.__“ (%19) p. 165
L "<1. ', )

WMREREEEFERXR "&", THA, zzs%%&mm#ﬁéﬁmEUSEW
=MAEE, RAEA—TR AL, mA, R ER G FAME A

(1) b2 ~4 M EEFHUAYN (WRAKRFIRESE, THEOIKMETS) ;
(2) MEFSHERIFEAIM|NGE, FERFEC "HE" &,

BRINBRBEEXNSHSHES ANALRTREBMEBEZNEETHAL (ESEER
TRENUE) .

—

are very important and by , students learn
not only how to but also how to |
and . Unfortunately, teenagers today do
not have many ; are no longer

popular and students mostly go home and sit in front of the TV,

or : %J
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KIETT . E5. hiEMEEN TRA ELTS XM s AR AL RENE
X, mBBELE—T—1ih “18iF" ELLHR,

BINERE (2111) 7 ABXBEHIXNTHER.

A foreign language should not be learned just for travelling or working in
a foreign country. It should help the learners to broaden their minds By
this | mean that the new language should allow us to understand more
about the world itself, and maybe our ancestors’ ways of thinking and
acting. Knowing another language will help us to understand the human
race becaqgg_language is the first poem of a country.

X8 7 ﬁ%iﬂﬁi%"; &@E#} 8 HEEEX—L, 1§ “language is the first poem
of a country” E#E’]iﬁﬁ#ﬂ'mt&ﬁmjt Bt / WABEMLIS NELWRESE. &
EXEERAN “HFiE" &2 good phrasesm%itﬂiﬂ'.ﬁ’l RHENESHRTLE—5¥ER
HERAM “KiE" HRBREEH, RS

(2)12) E@WN 7.5 HBXEGB TR FE.

AN
257

Safety is the main concern for people who travel to work or school on a
reguiar basis. If they drive their cars, they have to concentrate on the
road not only to avoid accidents but also to prevent other drivers from
causing a problem on the road. High-speed rail would allow them to
leave the driving to the professional who controls the train, allowing them
to get some work done while getting to work safely.

HEMNEEREN T XBELETREET. 5 SNTHE,

MNEFINTH 78 HBXLAFTN. %5, #i894EE (natural phrases) H * kiF"
MTFRAIELTSEXNEERBRAEEXIRENEN, MEEELE— —1# “miE" &
DIDEHR,
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T LA i S5 1 4 S T R
120 ‘ ],[l g'u'"]lll

(120 Key Phrases for Task-2 Essays)

4]

=
¥

PR ERAKENET, 12 “PREE oAt E, FAFPKRERARGXF
B RAIT, XK MNEF T el 485 (natural phrases) H# &Mk ¥ ERE
AL E, HANALATARRE@ER “PXEE A,

A¥ZLH AL "F ﬁ‘r} #e 4] 4 ¥ ] & BBC, The Economist, The Guardian,
The Telegraph, Daily Maﬁ City A. M., Reuters ¥ % B £ & ¥4 F i iR 4,

ﬁi“ﬁ*ﬂ"ﬁ?iﬁﬁ #WiﬁﬂﬂiﬁiﬁﬂTM%dim ok A
1E| 1& % * g o =

ks fe R EE, WE, WUF, FE, .\J" ‘g,%a mE, &€, X4, 58
+REFZMLIERE G EF4AE, HEH ideas &%#I&ﬁ&f#!ﬂ

PLEAATH, “FEHFHHL=8 " EXLLLFH, “If you,:u__ge a phrase three
times in your life, it's yours forever. ” 1k $ 4k, #4046 82 R4 69 L ER B 5
FE BFHRAT”, AARARYMBRELI, 8T TRLLAFHEEZS,
ETAMEBAEA LM REFH, § “H” AW, ETALLSFALHLION
&4 5 5, X &M native speakers FiE T &)W A F k. i & good
phrases # 3| T e F A L, —@BEX4#, F—EOEPIHL, —AZHR “AF”
REBHCT,

CZmEC AT R TR FXOCLOARRGRAF AT EMIL, 2FFSH
HE-—KLEHEIAE (120 £ &HEEF) FTR, ARREZE, &FHALE

HEFETARAFI S A LAEGTHALMA “4HF K" (Cambridge blue)
FPAGAEE, EMAREIPRMNEERERR - RBEEIARFHRFEA,

FHANGRFETARY (REFM) T0He)28 £455M4EE,




IELTS Writing Test

EEXEIE

(B&¥4&, B4 LE, AIHRE)

01 develop their skills
[&X] RRMEEE

[ Guardian f4]] Student volunteers also need opportunities to develop their skills .

|Pat's Note: ¢

EREX, YAMNE “KREMHE" K4 “RELAEE" o, REANFA 580
%develop%@prove BTERFEN “ABE”, ETHR. HERERANESE,
# A — ¥ native’ ap@gkers =] it 5 build their skills, boost their skills 3 # sharpen their
skills, LI#W#&E&&)’EAHT KHMERBEARELE, Pat HERRWHKS

RE: RiER— #ﬁ%‘%%ﬁ%%’, ARABRECTREET,

ERICX KT EHEE,

RETLEE

o thinking and learning skills
A Rk R h P

o reading and writing skills
®BH G

o foreign language skills
shiEH Gk

o creative skills » 4€)i& 4 (#iz#.
Moill % 5L ¥ R F creation skills X )

o artistic skills
TRAHk

o3 Rk )

(> WEFEREMNFHNES LR,

o problem-polwng skills *
5 194 69 A7)

o computer skills
B AL, AL

o social skills *
AT T A H

o communication skills *
#) il 5 A

o teamwork skills
H AA-1ERE A

{E native speakers # & 114 F# /R €41
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TELTS Winting Teg: S S

()2 develop good learning habits
[&X] EERFNFS 8
o learn more efficiently % & a3 5 3]

[o develop good eating habits
T i RAF 6944 37 1R

IELTS wEm .| © develop good spending habits
fESCR 553 MM | 7| ma are TR

o develop good driving habits
L MR RAFEE 5 TR

EFHFEMEE—ETHR

()3 broaden their knowledge, about ...

[&X] FRHOMNXF--- B 507
—— R g

| ATMRETIRLMEE, MELNER ?

o,
. N . . AMEER iE, HIEER
A LR TEHE, RTRAMZRT X ch B kit T LA %ﬁ |

-~

L (FA) TR

| 3 4 |
\

o get good grades / o improve analytical skills '

achieve good grades RBHHITHES ‘

o Improve their academic skills @ develop independent thinking skills
3 @
38 8 80 % KA i o
| o increase their knowledge about
| H A A E T # doiR !
\

|
o gain a better understanding of ... :
(L&, FE£ HFF) WwEN |
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04

05

06

boost their brain development

[&X] B (JLEH) KREAE, B, ©i%, mHEEHR (educational games) %
1 & 3T N
o encourage their imagination = make them more intelligent i '

A A AR A iteMNEAERA J

[ BBC #l4]] Playing chess can boost children's brain development.

become more creative
[&X] £E ﬁﬁuﬁh

= 1 & ig
% o~ § iy o5 o]
o think creatively =~ 74y fqelln? eative
Aupans asves KAk st
S
J'zl
NIA
N4
_ : /.
expand their horizons Jif“é )
[&X] (7. $5M8) FRLNORE, ﬁrmmm%@
XAMEIBEM horizons (BRFF) RAREH
1 3% 30 ~
o broaden their knowledge and skills Wit
A0LS NG
¥ RALA & 4o iR 5 HAE o take part in m-cumwhracﬂvluea
o broaden their interests AmikkEy
T RALAN 69 364 R 57 the iy L LTI diow P
\. o

REiRA:
(1) “Sw” E#HFHAOMEE AR take partin .., E#RHE 3 £ participate in .

[#112 #1f)] Parents should encourage their children to take part in organised
group activities in their free time.

(2) broaden their horizons A& # 4 & — M EFHEE, THKERFPERFENE#E R
OiFE overuse (WEER), AEHE RN EBBTEZERNAH LBCLEXETO

83
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()7 improve their social skills

[&X] REMNOHEREED

- 13 01— ~
o develop their teamwork skills @ encourage teamwork and sharing
K R AbAN 8 B A HE S (FIF, FR) BRARSESSF
o become more confident o build self-confidence
TR A EEN-T w1 |
N 7
Pat's Note: ¢

social skills (#&H i) REXEFEREFT, T, £ERXROEKL—, EF
#Rﬁ”ﬁ‘l’li!fﬂ#‘--%ﬁ%ﬁii@ﬂ]t. ik % 2 & 23X AN 3E W examiners “R &2 457
AR

build %i&ﬁiiiw%ﬁﬁ mﬁ“ﬁl
2" SRR,

—, BEHEXLY “WRit” EELE SR

15 \‘3
build understanding and trust itli!ﬂ-ﬁ#l;.‘.f“ i3

o ,;‘ /‘ ’

build self-confidence #f i 4%

'l / )
build strong family bonds 3§ i # H e Famij,

08 work closely with...

[&X] 5% (LEFR[AE. AKEF) REHSHE
A work AT IMFE T, hTLIEE T RERBSEA ETANER
1 % e
( o effective teamwork
A AR (234238)

= cooperate with their classmates
LR % (4R ¥ coleagues,
PAA teammates) &%

o take part in group discussions

Akt

o improve their teamwork skills

R B BASERE S
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09 increase their independence

[&X] (7F=h. %) #RMMNGOIRIY

o make them more independent it 41 % /3 8 etk 5

BEME.
independence & % i3, independent £ # % 1 ; confidence £ 4 i, confident &
H %, violence £ 4 i, violent £ # % i

o improve their life skills % & #4184 4 EH ik
o time-management skills % & #4115 22 ot 8] #4 6 A

o money-management skills A AN E B M $-69 4L H

o prepare them foradult Ilfe WA ARFZEHA LT RS

E manage their ime well *  (F 41X ﬁL’j*ﬁ'Eﬂ- A T
' manage their money well * (H®E) %‘ﬂ-ﬁ' ﬁ ﬁoﬂﬂ’ﬁ-

© manage their budget well (% #) FEHFACHFLAL

' achieve a work-life balance *
(A T employees) FMLAML 4 %z jd] &4 F

achieve a work-family balance
(FKM) FRAIHL RRZ 66T H

.....................................................................................................................................................

: #7 F 2 native speakers ¥ # £ work-life # work-family = [5] & 48 # & “-”

Eiﬂﬁ “U, REREEREXFERENRE N, FwsHE 8 L)L lvanka Trump
WREXRZEHEAH O FHE “We will help parents achieve a better work / life

balance . ”

IIIIHIM‘
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10 gain practical experience

[EX] BEXRER

| 2%% AHl4G)] Law schools often send their students to gain practical experien
giving free advice to people in need.

o lack practical experience & LK 25
.
4
M. lack i, FEALAAEREE, Fofl HET
lack 1k £ @l B, EE LA of, Wi of M T

11 prepare for eMment

[&X] P UFES iz@
’/

o have more job opportunities
HE S L

o vocational training
Rzl (&4 E, KRR
vocational #f & 4~ F & vo)

o enter the job market o M mg]r employabi ;
HAE L 3 _}QQQMQRkiﬂﬁ_

o compete fairly o achieve career
AR ES '“%5111323?$Mﬂ

1 =

[ BBC #4]] Universities are a driving force of the knowledge-based economy .

E @Y. EXE, MFHAMLEHY primary education, & ¥ # F # % #F & secondary
education, * ¥ # # 1| # % # % university education & # higher education, # 4,
£ F X 89 % %% E % 4 tertiary education ## post-secondary education & 5 %, H #

BRAMNEFYFEVZEH—FRAHEA,

[ BBC #I4]] Some people think that higher education is a waste of time.

14




prepare them for the job market
W ANE B LT IHGE KL

prepare them for the future workforce

WoeNH R AR F3h Hhey 2 K

© prepare them for the knowledge-based economy
WReNE L it h 2 FHBH

& achie@their potential
NS
[&X] %5 % 100w

We.
(25 % A614)] Oprah, Winfrey's media business focuses on helping women to
achieve their potential.

¢ potential 7 fit 7l 4 %

o achieve their goals % MAL{1¢) B 4%

o prepare them for adult life
WM ABREZ B A EHAES

o prepare them for later life #F 8544 444 R ey A £ Bk &

native speakers 7 iX Ml 4 E £ 3 M| A later /, TFE late X

[ Daily Mail #146]] This programme helps children to develop social skills that prepare
them for later life .
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WEIKFIE

(01 save time and energy

()2 increase their efficiency

(BE¥4E, RT, £, X#, KK, 2FHHF) |

[&X] H&edEFEn

(_

o make learning more efficient

(# 69 A+ PFIEREHHK =] nuhooummlcaﬁmmeﬁﬁam L

C(ARERIA) EABIAL
o make shopp re efficient ik '
(N%ﬁﬁ%lﬁﬂ T Sotet

1 % A0 N

- S ol
efficiency & %, efficient ﬁgﬂ efficiently 7l % Bl
A <2 L .
work more efficiently £ %&b T4 . %&f /
shop more efficiently £ & b4 {7:5\%‘
travel more efficiently ¥ & #ObRAT 3&\

communicate more efiiciently £ FH ¥4 il 5 &4F

[&X] BEtiakE
o boost productivity #% & & = #
m efficiency 7T bL % #5#E 17 B M 89 B | T productivity I R 45 85 £ %

o reduce their efficiency Mfk 4t 111 &4 2 &
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boost productivity %4 * &
;. boost economic growth {% it 42 5 ¢4 3§ &
boost tourism  » {R#tEHF L E K

boost national pride « #2469 Rk A & &

- ® boost EXFWRXERA¥A, EFELEHAL Task 1 MEXE

03 reduce%}ctions

NN

[&X] ROFH T,

A,
%’ﬁfﬁ’x
. . S
@ cause distractions for srfhg{us{ employees / drivers
3 -4
(EX] (M4 / RT / 3I) KRTH

o ),
concentrate on their studies SN

concentrate on their work % T 4f

- concentrate on driving ¥ &

04 make the best use of their time
[&X] EFx 487 B {69618

XLt -

o is a waste of their time /et i@ 495 % (2 &. X445 24 waste T @
I iiAe a)




05 boost their performance
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[&X] #FtNS (THEHEZST) RA

PR
EEANEEE, performance T R#H &M, WRE “KA”

- 1 &% 8
o increase their motivation B
HEWAN (ZHEXEFET) S5

[t
o lack motivati ;2 HA
5; =
¥,
[ BBC #i4 1] Eating bre ts children's performance at school.
[ BBC 41 2] Developing new é% increase employees’ motivation .
A
< E 7 S
06 make our lives more convenient fg:&
v/
[&X] LRNGEFERESE & N
o make our lives more comfortable #
b H A6 A E EAFE
7 1 & D “

o keep in touch with family and
friends B FAKRERS

o provide people with more choices
HAAMPRAEE S 6hikdE

= I ST

_ NS

[ Daily Mail fJ45]) More and more elderly people (## A) who live alone use the
Internet to keep in touch with family and friends .

@




_TE[TS'Wfiﬁrig#Tesft' o o x - [}

07 find information quickly and easily

[&X] th&, BHRHBRIER

= 1% 0 s
= make communication more efficient
o search for information ik BT R FH '
Ly o make traffic more efficient
| RS RFLHR

[ &1 12 §I4]] If we can reduce the number of cars on the road, we can reduce road
delays and.ffiake traffic more efficient.

B TBIEE |
MR

. improve public transport semcesivi‘ié-fa\-j*.- il RS

AL

- control the number of cars on the road # 7“'?&@1}&_1&5{6‘3}‘%#&1

- reduce the volume of traffic PSR 2
- provide real-time traffic information to drivers %1 3] B3R 4% 5% B %45 &

- upgrade the road system 7+ 4Lik 3 % 4

SS—

[ 8112 Bif)] Some people believe that it is necessary to spend money on improving
public transport services.

08 influence people’s opinions

[BX] (&, FETE. REE) BEANNHEE

Gl X 4515 2 8 influence 218 & 4 3 18

n




Sy 7
IELTS Wiriting T et

IEmER L AT ENER
inform people about new products provide the latest news and information
& Jo AAN % T 47 S0 8 TR BRAR AR F R B 0 A7 Ao IR
encourage people to buy things inform people about important events
HAAM Y4 L ANt TEEFHHELTR
boost the sales of products broaden people's knowledge and inter-
#AFRGHT ests #RAAE foinfo bR

inform people abos g “ & B ANTX Fererer By A"

m&!’j‘!?m:ﬂ“ﬁ F oK) & B advertisement 7T K, #—% (H% %)
-

o are influenced by trends & F|#A ALY Hh
o have different tastes +  # & & ik K ok
HREMEA

o have different incomes + A R B #dLA

o have different budgets # 7~ F) & i

L = have different spending habits # 7 ] #4 % % 3 1%

| BBC fi4] Peoplenave different tastes and interests ( REIBIGBRIINERYF).

are easily influenced by ... “RZE 5 & 2o :5k 20

o are easily influenced by advertisements
(L&) REHZE LYW
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- are easily influenced by violence in the media
(FVH) REDHZINREZR N ATHYh

are easily influenced by their peers
(FIF) REHLIRBALYH

09 make the country more competitive

[&X] \tliﬁﬁiiﬁﬁ%jl

compete Eéﬁ*—,@ompetmon 2413, competitive £ 513

o contribute to the econom

(HHFL, A FRELF) 36?‘--1._.5-,_.-;)

2 FHOT labour shortages
?349 &mtﬁmiT) $x
T

o make the country less competitive
ﬁlﬁﬂii‘]t—?—jj ' ST ‘

o cause housing shoriages -5t { & 4 &k
o cause water shortages  $ 5 /K 43 &

o cause food shortages S XA D4k

% cause R M AP, RER “SK", EHEFZFAFAMA. % cause
L, REE “XARKFLHEE", XoEEEEMMNA of

[BBC #14]] Human activity is the main cause of global warming.
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R EKEIE
(b, k¥ HNETH)

(01 have more freedom
[EX] (EFRZBRLHNHAT. BRENHA) FESZNEH
7 1% iC » N
B
5 & i"i "ﬂi‘ll#-'iliiﬂum 4 e O
Awypnaas

o give them more freedom
L saad

o reduce theiyschoices

\ %3}‘ S
aﬁ’@,‘
SRS
(2 should be a personal choice ~ - #:73?
C(AX] REERA AT 4Q;r%
pa—
o a free and fair society o are forced Qg dis 0l
—A b, AEHRE TS

()3 provide people with more choices

[&X] (B, Mg AANBRESHES

& provide people with more food choices_ )

(R ) AAMBLE SR Kk o

Choices _,
(&%) " provide consumers With more shopping choices )
L (RM&GHE ) AHKEFMNKE S M dhise y




_|ELTSWr|ﬁngTes1 R e —

()4 can have more flexible schedules
[&X] (R4ERERT) TUHER T ERH

R SR s i B

o can study at their own pace
TR A CERESES) o can achieve a work-life balance
(9 EMEEZRONALAN at)  REBEIMPAFLE TR

o traditional classrooms o can achieve a work-family balance

#4944 E (native speakers 4% F 4 B 15 T A Fo B A2 ) AT
physical classrooms “ % # £" %

ﬁ%%é&ﬁ} o spend more time with their family
® B3P EALE—R
a can have face-to-fdee disgussions
TART BT EH AR 7
b o save money on transport costs
o develop good leamning habits 15y P AXAK
AR I 5 3 51N {

o he!r:}-'m seduce traffic jams /
o form close friendships with their class- help to réddce. traffic congestion
mates LR FMNYKRF E A o Fh Y X ARE
(form EiX/M4E1E5 2R 8, “HAR")

REIRMA.
ERFXME, FER% L34T 6 XK T K face-to-face interaction, Bl i X 77 &
WEREZTHELTTO

[ NHS #516) ] Walking or cycling to lectures helps students to save money on transport
costs,

05 have job security

[&X] (RI) AEIENREM
¢ job security 24§ “THMMAEL", THREMK “THE2" X




EZa’y Vi

1 3% 0 -

IELTS Writing Test

a job satisfaction
IAEHER (LiE4E)

AR

o have less job security
B TAHE TR

06 are treated fairly
[&X] (FEMNIERIMN) BEFEANEF

~ 1 3% 32
o have equa%nities
WA F L &).9.

St ‘?ﬁ%‘?@, '
o are treated unfairly <!
(REA) RERQXESHH

-

07 promote gender equality
[&X] R#MIFEE, BHBEXEE

- 1 % 3T

o can choose subjects more freely
(BAAk4d) TAELH dkLR

o have equal educational oppor-

lunites ¥R FFHTHFTNS

o have equal opportunities for
employment and promotion

FAFF koA RS

SR

o gender bias  MAMBR (£94E)

.

k)



ensure £ #hi3 “#HiR"”

o ensure equal opportunities for all students

RGN F AR TS

o ensure equal opportunities tor all applicants

PR Pk A MERFLAF OIS

o ensure fairess #itkA-F

08 violate thgir privacy
[&X] ®RILHAI
X

o security cameras i‘céﬁ%ﬁ%
<Il

o public places 233 Ff ”‘:(T\@y

[ BBC #i41] Many Londoners think that secaﬁf?ﬁ?@neras violate their privacy,
O

Re

o respect their privacy & {1 &9 1244




REXEIE
(EERERE, ¥R, FRAE, RRRRAKE, BHRE, RERE)

FEKMRIE
01 teach their children good behaviour
[EX]) BBBEFRENTHEL

¢ good behaviour & & F # #

o teach them fﬁ%ance between right and wrong

BT ABALE 9:-%

PSR NS

BT 2 AREH K E B LY LE AN FENH o, TEEHRL native
speakers £ &k “HEFHHEE" wa#%%pﬁao  EF R A R E
HARFRAT “FYB", WEAA “ubm".‘é?%;xﬁgﬁ&%w examiners

B N\ 3t ry
87\\5?
o role models ##f
()2 give them advice and support
[&X] IR NFXFF
/ 1 3 T ~
a respect their feelings
FERNHEL o help them to achieve their potential
o support their choices BHETASAES A THBA
F A p A6y ik




IELTS W_m_mg Test

T -

' build strong family bonds / strengthen family bonds
Wit FH (bond R 245007, MANMHEEKLR)

- share ideas and feelings % ¥ # k& &

| © solve problems together &~F % 3 5] 4

| © share parenting responsibilites (&R %) £ Fl oKz TET 6K
I © exercise together —AZ4Li% & 4k

’ ° take p%in community activities together —#Z A& itR E3F)

| =,
g itk B

o family members & B A%, i o usef&;m{pbers of society
| ] i A AR ALY A2 A
- o team members H FA %, i b 3

o community members Ak X &,

()3 have busy careers
[&X] AitmaNEL

13 32 e :
o have a busy lifestyle e J
AR R ISR R
o spoil their children FE E LA Ao KR Z A o F 4 ‘
B A& T




L e TR

IELTS Writing Test

FH R TE

04 achieve good grades / get good grades
[&X] (%4%) REBFRSR

fn good behaviour
RAFEIATH (£194245)

LS T3

o have behaviour problems
A 47 Hh A
o do not follogchool rules / break
school rules %@#&ﬂﬁi
s

Ry
et
s

. %&IQ
75

e

05 elderly people
[&X] Z2FEA (BEREEF)

R4 F 4T A

JE # % native speakers 4% old people xf]’:&#—k:ﬁ#}#ﬁ? # elderly people
f

o look after their grandchildren
(485 #11) grandparents) # A& 7h ¥

o share their life experience with
their grandchildren

FINESFMNHALZE
§£bk
o generation gap 4.4

o feel lonely and unhappy
(EAA) KB HEEHLFRFC

-




[ELTS Writing Test

& ook after REA, BEHETUHELR “BHE", TARFFENLERE
look after their elderly parents

FRATUE

06 meet students’ needs
[&X] (#8) HE2ENNEX

EXMEEENENE meet FRBR, ME "HEXHER" OE2

1 % 30
° help stadents to achieve their o become useful members of society
potential =4z, (F4) RSl EA AN{iey

3% I RIE S 8 T8 BEATR

M

meet sb.'s needs

= meet people’s needs sﬁ&&{nﬁﬁ;}a"-‘*;,_..__’

o meet consumers’ needs AN RAMBEL

9 meet tourists’ needs HABFEMNGEX

07 provide a broad and balanced curriculum
[&X] BEHBEZ. FRBRERH

- 1 # iR N
o core subjects
OB (LA4EE)
o provide a well-rounded education
o required subjects / compulsory AR T R A AR K F
subjects %#B# A8
o optional subjects #4444 A

-

81
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IELTS Writing Test B R e ]

08 become useful members of society
[&X] (%%£) HABEEFTANMENHESAR

- 1 3 B

© become responsible members of o prepare them for employment

society PR E-S A

(F4) AR FTERGLELRR :
o prepare them for later life

o compete fairly 2FRES WAL BHA LB RS
o provide a friendly learning o prepare them for the knowledge-
environme (#ﬁ) B — A based economy
AEFeHEF3) B EAEMERIinBFe 2K
\ ——
*ie

\.

HB&%@%&

()9 do volunteer work / do voluntary ufg’ég X

[4X] #xT E@
—— % e

2 build good relationships with their

neighbours

VR k352 3

TRERAL AN o take part in community activities
© make communities safer Hmit R &5

AR FERE LA

o build a strong sense of community
EIRBGAXS, WBEXs
BRA

o help people in need
# 81 B 69 AN

LT EE

@ harm communities AN E L F
| J




T [ TS Writing Test S
REIRA
EHEXXE, people in need FREH— I BEEMB AL, TAKHEREHALN

o contribute to their community  # # X 4T #k
o contribute to their country % B K 7T #k

o contribute to the economy (&3, & ¥F) HBHMHHE T

= BOfFH B AT

10 improve publ%)!k)%;vmes

[&X] (BAF) Stk /\s

|
- QJ;:\% B ‘.\
o schools and universities ’;&6? = :
POEEXE PRI
»*#i}é@ﬂnﬁ)
o libraries and museums
B # R 5 = improve infrastructure |
o healthcare services &IMM > ‘
BB 5 |
o protect national security
o public transport services BITEREAS
a3 33l AR 4

SHY: HAXEXXE, infrastructure £ B ¥ £ % (the road system), H# £ %
the power supply system), f#4& £4 (the water supply system) % & &% #

~~

# X T healthcare ¥ EI R FR W Z#, KHRAXERY LY T . % healthcare 1 A i B,
FER—MRE, PEFEZE#H; MY health care L FEiFH, PEMNKE-IEH
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[ELTS Writing Test SRS Rl e e o P

11 create jobs / create employment opportunities
[&X] tliERk

4 1 3% g w
o employ many people _ - ‘
(B, &L BENIF) o take jobs away from ...
BRMXESHR L ko9 kLS
- o cause unemployment
employ £ 33 . &1 S

L ¥

i:‘;.:‘\
[ Daily Mail 6} "Heathrow Airport employs many people-

[ BBC #l4]] There is no&g\"&:déhgpe that immigrants take jobs away from local people.
U

12 reduce poverty
[&X] RORBIMK
@_@ poverty £ poor £ E KR . #E

1 % D

o low-income families o reduce social inequality
MBNFE R ( £394315) WA TR

E“BAT" ¥#FEH, native speakers i ¥ 2 f 337 fulfil

P ————

o fulfil their family responsibilities & 17 #1169 % & 4=
o fulfil their social responsibilities ( MAH 4 1k) BAT#N ey LK 1E

o fulfil their environmental responsibilities
(MAZAL) BAT TR 4



e e e 1 |EL TS, Wiiting Test e e |

13

introduce laws to ...

(&X) BitsriEsk ...
E—-<?;«_i&55 XANEEE W introduce T ENME, R “3IN” HEERE

(25 % ABI5) ) The Scottish government plans to introduce laws to ensure that
seatbelts are provided on school buses.

o jﬁiﬂ; — .

© is impractical and unfair
ARTATd LR EH

o practical and fair
(RAKI), % TH7f B EH

o is a long-term ‘$ofitign

R K WA k84 B dt?}ﬂ: @ is a short-sighted policy

R — R AEA BOR

SR S — _‘1.,.3@.& e

_: o regulate violence on television
st LR NERIT RGBT

- © regulate advertising aimed at children
st L ES S AR ATPRGUE

@ regulate genetically modified food / regulate GM food
AR RBITERGOREE

RS

RMN: ¥AEHEFTHEALETHR, 2GMfood X—FWEEXE XL L %
HERBXERHRYE L, HE A4 HHES
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14 run campaigns to encourage people to .
[&X]) (BF) #HhABARIEFFHUREMAMNE -
¢ XArun FRES, MRE “FP"

IR
campaign (A EE R &, EEREBEXE, EHRE “AAMARFIELES",
. advertising campaians (AAEE &R EhEH)

encourane people 1o exercise regularly
BmAMNZ
i %E*

encourage pmm!ﬁ' e a healthy diet
Kﬁbkﬂﬁ:#iiﬁﬁ:fé@,

o %"
encourage people to buy eco-fné? / ears

BRAAN G ERFEA A £ .
KN

encourage sb. to do sth. v/ , encourage sb. d%;sth X

Ry

15 compete fairly
[&X] (£, EBsHR. KNEF, ) AFHES
o promote fair competition (K At) ARitA-FeES

compete £ # 17, competition £ 4 17; raise E R iE (LAHEEIE), rise BRF R
e (LT EE); spend Bt %47 £ spent, T & spended - 8L F
BAEREELHR, EREBEBHEXE, MEM “AKER" #Jl"]#—"TIFFJ?o FERL
HREY "B/ " ZH, SERZELSHT—1REN . (REEBHEFH

4 3 Day 3)



N [EL TS Wiiting Test Ry

BARRTUE

16 provide reliable information

[EX] (&, #ES) BHTRNES

o provide misleading information (/"4 RHKF) REARFHGOEL
4 1 % 98—
® help consumers to make better -
o lnm i
decisions (/" 4) WBhH % & Bl R s
QU Z R LY AL sk say
»

o .compete fairly 7‘9‘* %ﬂﬁﬁ "“ﬁ#" r": b
A L g U ey
+inas 3 B, EMER “HREHE"

_ q}:f\z&
KON

rellablefibﬁﬁl “THREH", 'E?Fﬁ—‘é’.ﬂjf ?Rﬁﬂﬁ Tﬁiﬂ%‘EﬂUi\
Eff, XBEEHELRE - NERFEYT “vop

o reliable public transport services T 4 &4 24 % i iR %
9 reliable healthcare services =T $ &) & 77 iR 4

o areliable source of energy —# T 694k R




7 ~
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MEXREE ‘
(BAFETR, AL, HEBRE, HHH) |

01 damage the environment

[ &X] BFRE |
Yl ] J‘ﬁ 'LE, |} \ ‘
o create waste and pollution @ household waste
fig_a&%@* FRAGRA (LR
MW xrEEEH ma’%fﬁ o industrial waste
BE, TR “HR. BH fa”?/ IHBH (BAHEE)
N 'Zf\§>_ J

[ BBC 4] These companies create waste and pof@?{cz and put people’s health at
risk. }\
\Q\.

o pollute the air FHREHR
- o pollute the environment 75 33

o pollute rivers and lakes 5 ¥ AL #iA

|Pat's Note: &
o 5 [6] #1145 £ i 4 ) pollution, HE 3 pollute M EXFHEE

o i A £ — & 4 1 pollution 2




R A R S T T LT T IELTS Writing Test

()2 create waste and pollution

[&X] PERRBERFSR

- 1 3% iC
o cause health problems ks
o cause smog and
oA E 9]
SRR $HEEARD
i’f tE -
. _ . ¢ smog (¥ %) F acid rain (®
o reduce industrial pollution W) BT A
J
(3 car fumes 5
[EX] AERS (BEEBEIY,
: -
o air pollution &4, %% . ’&% mqoeq
o to global warming
o traffic noise Xif%pH, L2 o ) 43K :
Rl 5 Ry —F T
Ne J
3T, b1 o :
BRAE

control the number of cars on the road *  J&#]% L1788 6474 £ & F
improve public transport services * A i 3 % il R4

walk or cycle to work * FATR A AITE L

encourage people to buy eco-friendly cars
HRAMBEREZENG L £

o develop cleaner energy #t % % ik % ¢4 4L iR

.....................................................................................................................................................
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IELTS Writing Test

AR
“FRERF A" L X XEHE% B H mode of transport, 4 road transport
(/A %iE4), air transport (ALZEER) ‘ |

eco-friendly £ % £ £ R RATH —MHEHE, RER “HETHRERE, \
HEFEAN \
o eco-friendly cars FHFBAFE
o eco-friendly lifestyles 3R4k&) A& FH X
o eco-friendly tourism R&3R A A &Y AR Lk

S W— ¢

reduce people’s de c?}pﬁngence on... WA Af1xtTF ¥ 5 4 & A

o reduce people’s dependence'ff&@;s

i A 4 8 1 s
S,
o reduce people's dependence on social netw% websites
B AT AL R 35 69 R ‘Qﬁy
o reduce their dependence on international aid ?\?@*

A (BEREBGEAR) o EFHEB R

:’ B%. dependence (fk#i) & 4iEK?

04 rely too much on..

[&X] SEHEBT -
rely heavily on... = E3iR#F oo

1 & T
-] f_r.j -~ A5 & | & 3l
o rely too much on cars o non-renewable energy sources
i BRI T A% S RTREGRE
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IELTS Writing Test

13 i€ &
o rely too much on fossil fuels i

i B AR BT AL B

b
o solar energy ka4t
o wind energy R gk

o water power K

o does not pollute the environment

ESLE 228

D
kaﬁ#i;ﬁ@%gmHMmm(Zﬁ.xﬁ{#u)
[ T

rey 100 much on ... &R B ¥t~ phrase, Pt #1805 # H ¥ # X
;&mﬂ#wﬁﬁmﬁ,tma*ﬁ%ﬁgyﬂﬁwxﬁﬂﬁﬁwo$¥ﬁu=mmm

phrases # &% )L 77 " A
2.

[BBC #14] | Pilots today r&ly oo much on technolog§.7:s‘k

contribute to global warming

[&X] CRE. ¥N%F) MEILRER

o contribute to climate change
T B R AR T AL




oy I T e P e |
IELTS Writing Test

WUERE o E %1148 4 i contribute fo £ “HAM” #EE, K LA contribute to

WEEREAHTUEATAR, X7 “ME” IRATARNES

[BBC #14]] 30% of the greenhouse gases that contribute to global warming come

from forest destruction.

put pressure on...

[&X] 3o (BRARR. BITERE) WAEN

ra | 1 %0

¥ el

o grow rapich £
(Aw) Bl

Rt WA AN K
o use more natural resources \§ -
WAL SRR ”'%mi”m'm
S ER (£IF48F)
o create more waste and pollution ’Sk
FAR SRR ¥
put pressure on ... WWEFHFEEARRER, 2L “--MEREH"

o pul pressure on natural resources
(Aoehik, BReEKF) STARTRANES

o put pressure on infrastructure

(A e K i) o ki AR

. @ put pressure on the healthcare system
(A DEER) MEFKEBBESD



L ETSET Yy . : . .
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()7 meet their environmental responsibilities /
fulfil their environmental responsibilities

[&X] (TA, 28, BF) BTN THRENXS

= have eco-friendly lifestyles &353R 4R a9 £ F H K
o reuse shopping bags * EHi{&AMWHh%E
“ recycle cans and bottles *  #&31A A ALALHEHE

A & i7 ﬂ; R = ' choose products with less plastic packaging
MR | 7| aH B ARS8 R

| ’ZJ:2 use public transport more often *
S8 & F X PN & ]

walk or cycle-to work *
P AT R 0 AT $ A

¢ recycle cans and bottles E @ éy can *& “TLL”, Eﬁ;%,j% “AEH"

improve public transport services *
#itt A 3k il R

' introduce laws to protect the environment
it 3k RARAP SR
& 17 3 B
B ff 3L {:0) - = o fine companies that pollute the environment *
i IR A A S HATH R (. XA fine
REBMFHE, HHEHEL)

= give financial support to research on clean energy
L Ak iE feiR o 51 ARG B




Q&_’y V3

(8 become overcrowded

[EX] (8F) EELTHH

(‘

o urban residents s city dwellers

WA R ER

o have more job opportunities

EEEACE AT N3

N

S

RETEFFEL uban Fial R LR 4 AR, HEEREXXE, urban f rural
REHER, SHENETY fw. urban areas  urban residents (4 B &y
B R, 47l city dwellersy | @2(&&5‘ rural residents %

.
09 make... more attractive 4 2
[&X] ik (RS, S, KERESE) FRIIA ¥
07 +& L ~

(n genetically modified food

HARARS (BELIMETH
% % GM food)

o GM crops 4% | éh R4

o grow fasler 4 k4384

ES T3

o cause health problems

F 54 R P

|
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10 wildlife habitats

[&X) BEamEnnEeh (BEEE)
- 1 B v .

o cut down forests
AR AR

o destroy wildlife habitatsl
PES T TSR

o lead to natural disasters
FHARRTE

J

giﬁ.ﬁ wuldlﬁeﬁ%wlld animals (¥ 4 3 4y), #© 44 wild plants (¥ £44),
EREZE. é_&}ﬂ ¥

Q\’l

11 endangered animals

[&X] Bk=m¥ (BAR"E)

'/_
o wildlife products

T 55 A g AL ARG S

o die out / become extinct
R4

8T

o introduce laws to protect wild
animals

ilid 3 ERRP T A S




f/;zy V4

g Test

12 animal experiment

[EX] X% (BIEFEE, “ME" HPLXREIFEER do, perform = F conduct

#ihiE)
p 1 3% g ~
o are kept in cages
o cause pain to them MEAZFE
BEeEamE b i
E L RAEL W m L RALY
o medical research © is morally wrong
EFHE (£i94iF) AR
:
o develop ne}ﬁ&é@é%?s _ . A
L EEL I  reduce their suffering
V2R RV e
2
){é‘i\qi_\ /
o
R Ve
medicine ¥ 2 F T 47, HR%%XT 5B FEHEY w medicine =T b4 F 4 %
# A medicines ?‘

[ NHS #41] All new medicines are required by law to be testea“é)r safety.

- o, T T THme el R SR N R
IELTS Writing
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BREEIE
(BAREHEFTR, 8L, VERE)

01 have a healthy lifestyle
[EX] RERENEFTHIR
"R RRAETFTAR" & develop a healthy lifestyle

= 4 3% T
o do more physical activity |
@ have an active lifestyle WED Sk A ED \
ERERES PEKEH, Y
WE P ERE @ reduce the risk of heart disease and
2 I3 . high blood pressure
Ly, By ECRAPHARGRE
. S Y,

[s 8B do more physical activity T’VFE “Chlngllsh , MiZNHS (XEMERETHK
%) MEEAREARENREL B HFR %

[BBC $14]] Parents should encourage their children to’ &gmore physical activity.

'gﬁaﬁﬂxm]
A E RN

. exercise regularly 4 %44 ik

. walk or cycle regularly 2% FirA AW aiTE
have a balanced diet #&#F ) etk 454

. eat more fruit and vegetables
Btk EAKR (XAMEEZE fruit TI|RA £4)
[ BBC $14]] People in England eat more fruit and vegetables and less salt and fat. |

achieve a work-life balance FEH I4EL5 4 F= 8] & -F 8




Here

/

IELTS Writing Tagt 1 T T T A N S RO

02 cause health problems

[&X] SEf@kba

4 % 98
o a sedentary lifestyle
an unhealthy lifestyle Sz EEF R (LI1F4E)
FHRS ST X (Li45E) e
o are overweight

have an unhealthy diet AR (ovsenuight iy S

oA £ M AR AR FR—8)

damage their he%‘ o increase the risk of heart disease

AERNORE T and high blood pressure

Z o 0 i o o 0 S
s,
o @ -
[BBC #14]] People who have a sedentary i:testf% at greater risk of developing
diabetes ( # /& ). effij; %
fﬁ:ﬁ*

IELTS GfE:Eay |

" heart disease U iEHE
high blood pressure & /&
diabetes #& & 5%

obesity JEA¥iE

- =
_SEWA | T mama s FREN KR PR BER £

asthma “#%7%

lung cancer At

LU FERES 5 RIE (smoking) . ZRAREEX
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03 have a balanced diet
[EX]) RED®ENLRREN

7

9 home-cooked food
K2R E (£8485)

o fresh food
MR (L94245)

\
Rwe
04 have a fast- lifestyle
[4X) (BHEHAMN) 3 ;miﬁ
gk s Ty

o rely heavily on fast food
PERARMTRE

O contain too much fat and sugar

(Hf) &AL SRR Aok

N

pose health risks BB T URKE HtMEAMKRERNKE, #li. pose health risks
to consumers, pose health risks 1o children %

05 outdoor sports
[&X] P5ES (BiF%E)

T &7 “AE" pshES, TR do s# play; RF “Hm” pahEH, T
Rl take part in 8 # participate in




ba

Y :o-;/

7

P icmmn | o

= increase strength, speed and balance
= improve memory and concentration

o build self-confidence * #ti g1F
o reduce stress and anxiety * W E/E A HEE
- improve hand-eye coordination 3 3% F = iRk ¢4t A AL A

= take part in t M ggoﬂs/ participate in team sports

- develop teamwork skills KMA‘P? A

REANE, #EAFHEN

Ry hfizEh

S £
o

Ao H] PAIE 7

1:w

give them a sense of achievement * - %4&.4:1-—-#;&%5
[ Daily Mail #16]] Sport provides fun and a sen;;*@gg.chuevement
& e
\E;»
E Wl XBEEEHTE, EELTUIENESHFE ° %& 70O

06 promote healthy lifestyles
[&X] (B, #E, 2&) B RENEFHR

o encourage people to exercise

o raise people's health awareness

1 & T S

18 3 AN 8 B R iR o encourage people to make healthy food

choices M AHAANE ikt RS A0

o improve public health

3 it o> A o 4 R o regulate fast food advertising

RS ERAIT ARG RS
reqularly A AN *i#‘%ﬁﬁ- 4} 7 3



A [EL TS Writing Test

(7 improve healthcare services

[EX] HEETRS

-

o medical technology
E7HE (29448)

S

o healthcare workers E#F T4, ) T e E
#l4=: doctors #o nurses (& i9421%) o mmwsmm

13 i+ - N

AEEFKRR

S

08 population ageing (% X#5) / population aging (£X#35)
[&X] AEI.%ﬁ%ﬂ: (ZEEIF)

1 3% i0 —

o elderly people V&£ A (£4di5)

o retired people
iBkeGEA (L4545)

o rising life expectancy
. EANACTMAS (Li94E)

retire £ 1, retirement &4 i, retired /4%

ADERE -

HokmEE |7

ADERN |
CRwHE =

cause labour shortages *
(Ao, KitA %) FRFIHHeh4a8

put pressure on the healthcare system *
HEFHRRMBEES

increase the burden on taxpayers
M EHBA fi e

[~ save money for retirement *

(AA) HiBKFE AR

raise the retirement age

(BORY) 3%k RASFH

encourage immigration
(BUAr) BBARLEARENAGKESEK

101
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09 cause stress and anxiety
[&X]) SHEHRER

5% |
reduce stress and anxiety & & A B &
5 1 % i .

o cause health problems

5 5k 4 AR 9 4
D= i e Cot
¥ | e |
5 :k)y ‘ TR
[ BBC 4] The report nmere%giness in everything from family life to physical
(%4 #9) and emotional health . <! S
%
10 have a stressful lifestyle 4 }Sk
[4X] EEFDRERRANES, "EAUKX" 3
e — & ~\

o have busy careers

EL 30k 12

o work long hours

Bt i) b T AE

o often work overtime
2 o

o cannot achieve a work-life balance
RiE A TAE S 4 & 0 KT 45

o

-
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S wPEREN—EEE: pressure EEFEFH a

& A
N\

|
peer pressure (FIREH) REBIAZH—AF RS, Hld: “H
g fdn eAdaE, —ARFEHIBATRKA KL, REB
WA BH T, REMERARATRARGED /)

o face tough compeition for jobs — (RIR#) d@arsA LS
o face to ompetition for promotion (R £) @t AlsAREF

o face tough oo?&@n for business  (4ik) @A R L E S
[N x3MEEEN %&& keen 4 & Hy ¥ 8 3% X

%'5?1@
11 have a strong sense of belonging f&}@

[4X) (RI. BER) ARENERE
1 % [ - — w

(

o lack a sense of belonging

B2 )35 &

o do not even know their neighbours
&+ E RN RN 4 E

o feel lonely and unhappy
&3] Bk LRR o
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12 spend too much time online
[&X] BiE&euntE L/

o spend too much time on the Internet
Rit % éetiE £ R

o spend too much time on social media
ALK (4o, Facebook #v Instagram) 7% % it % &4 8t a)

o spend too much time playing video games

it % & B A 475 2%,
(’ TS Lkl | N\
o spend too much time in front of a
o cause health problems \§ Lo R R it 3 :
F B hk R 9 A *” ) B ) it A&
l
o damage their eyesight 3 m)‘a time in front of a
% E A8 A television
AR RN EG AL 5,
A oA B ) id A
N J
| Pat's Note: ¢

EXXRELTH-MEEYE screen time (THEFEENEE), ANA FAEBM,
6 o B B 4T o F 0 R B9 B B A8 T L AR Y screen time, T limit their children's
screen time UK T XXX KNIWEE K&

[ Telegraph 4] ] Prince William encouraged parents to limit their children's screen
time

104



I £ TS WVritng Test

|ELTSEEEER

(1) EEBEBRT

rely too much on fast food it & fHt T2
rely too much on the Internet i B4R H T M %

rely too much oncars EEEMTAE

(2) - LA
are adgipted (0 junk food AR LA

=
are addicteﬁr&gfal media STAL TR ER

PWERREIM® o

(REE “FEREMT - ", MTELB; rely heavily on ...)
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NM%ﬁﬁ%
(BEMAMS, RELE, JRKLAR. RS, EREH)

01 develop good spending habits
[&X) R RIFHE%IR

1% 0 s
(

o manage their money well

E RN M F

o save for th %
AT >

N

02 follow the latest trends
[&X] BHE& &N &%

1 iP b
: '
o consumer culture 3y

FHE RO (Bi9424E)
o create more johs  4)i&# $ehsc

o increase international trade

HhoERT S

a3tk
o become selfish and greedy

&L S-E NN g

o earn more money ## £ &4
(eam money ¥ make money #
ELEBH).

e
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03 involve high costs
[&X] SRESRNHBA

[BBC 4] ] Some courses, such as medicine and engineering, involve high costs.

o the cost of living
AEFE, AERE (LA4E)

o high housing prices
# 5
s

o high transport
R o0 Sl e A -*,:*

o high healthcare costs -
BRHESRA

LS

HE B 09 % % " 4F tuition fees

[ Guardian %14 ] The plan to increase tuition fees for students in England may not

save the taxpayer any money.

04 are more affordable
[&X] MEEERE

o low-cost flights A&Hr-ALsE (.&344248)
o travel more efficiently £ & &bk AT

[BBC 4] ] Air travel (& e##ha#k4T) has become more affordable.

-
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05 the gap between rich and poor
[EX) REZEE (BEEE)
- 1 3% 38 s
o low-income families
MR F R (2 194245)

o live in poverty A FARH¥

3tk
o reduce the gap between rich and
poor MY REEE

5 r .

%
23
T

Qal

06 reduce costs
[&X] ROFX

o make large profits
(28], i) RFRHH A

07 give financial support to ...

[EX] (BA., A%, BEEQ, REERE) »---REHAY

e g . ‘ =%
o receive financial support from ... i B W o

RAT R B

o rely on governments for money
(AxEHE, AABHEE, A3

FREF) AT g e L
Ve - ) J
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(8 have more important concerns

[£X] (BF) EEREERARKINEA

p 1 3 g s
o only have limited funds o government spending
RARMRGTE Hpey & (BiE4EE)
o improve public services o give priority to ...
& AR T . ALUTE SR RAES
o o

#XE, governments (FRERA) RZ# “SEKF. SRKFAE SR
popee

[ BBC #4]] Governméﬁﬁ'{sﬁan help to reduce greenhouse gas emissions by 50%.
o is a waste of public money iﬁf}%’ﬁ'&éﬁlﬁﬁ'
o is a waste of time 2k % 8F0E IR

o is a waste of energy ZREHAH

09 improve people’s standard of living
[&X] HEARNEEKFE

4 % it — sy

o are under-funded (F#&, B,
#sikk, H#HEF) FTLFRR

o are funded by

& s o 4 B f
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10 is a waste of public money

[EX] BNFAXBSHRE

- J

- 13 90 ~
© is an important source of govern-
o increase the burden on taxpayers ment tax revenue Fise .
B AR fi 22 (RH#FL, JEFL, ATF L
¥) ASARMYERRE

HTHH#ANR @B, H %KM E XK imposed high taxes on junk food, 44 #
“REREBL”

o

increase the burden on" I e W A

increase the burden on taxpayel's .
poE AA R 32 1

increase the burden on the healthcare system 1%y,
mERTARS N

ncrease the burden on the state pension system
mEREFEREKLN i

government tax revenue B A8 HLIL
advertising revenue (#4Kk) R A £ % kA

admission revenue (H#4948) R BB H 6N

M. A RE SO fE income, B A HLAY B R revenue

B3 %%, Mty E R 4% admission fee, %[1E %7 free admission
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11 contribute to the economy
[&X] AEFEIER

7~ 1 7 B
o make the country more competitive
LEEEREAESS
o contribute to the local economy _ : ;
(s, #E HBR, RETXF o damage the economy
F) AHLheFuTR P ES-P S 1
= make the country less competitive
HBRERSESSH

attract + B3 “ % 9150,
o attract many tourists (ﬁﬂi*l‘é.) BRI K FHHE
o aftract many visitors (#4148 *:';}:iﬁ}._zgilkiﬁff‘m:#

o aftract children’s attention X
(BERZG &, ARG &) BILENGEHA

Wipfeth “fE#” 4 museum collections

[BBC #J4]] This museum attracts many visitors each year.

12 employ many people
[&X]) BRAEHAT
EEIES employ £33 “R&fi”, employer 4% “B& %", employee 4% “RL”

—1 3% T
o the tourism industry © buy souvenirs 3
Ak (HEM) BERITRES

i
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o contribute to the local economy

PEEPIED S0 S

o create jobs for local people
A LAk

o spend money on local goods and
services

(#HEM) KSR HERS

o hotels and rgaurants
B A AR .%%
R,

3

r  —

vy

)

[ BBC fi4)] In the UK, the advé% industry employs (&% “¥=") many people.

S

the art industry ZK*ik

the sports industry 4R H &3 &k

13 take away jobs from local people
[&X] #ESHANRLNES

o long-distance food
HWKIEBEMGR D (L44F)

o provide consumers with more
choices

XL E XD T3 X FT o

-

— % g
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-
o increase greenhouse gas emissions
SxtEE FHBEHE LR HA TN S
o contribute to global warming
I B 43K B o contain harmful chemicals
EEE KAL)
N

14 multinational companies / multinational corporations
[&X] BRAS,(2RA&EE)

- ; 1 % 0 —
o provide consumers with7more @ employ local people
choices RMEmE R L (%A, employ
ABEREMBHE S5 .'Mampbymnt-ﬁﬁﬁﬁi)
_ R
S i [
o control the local market o mmk '
T ST (BEAE) AELEHDHEHN
o drive local companies out of o poor working conditions
business EBEEG RS (2i9445)
- A
FHRES MRS H R Nl dvetoly
o pollute the local environment R XACH $ A
E - NES

LR threaten R threat (K Bi)
o have similar lifestyles (R Fl# HWFHEABR, HEASXETLUREE
R &AM ) it FAnded £ & pose a threat to % %

X

[ BBC #14])) These housing developments will pose a threat to local wildlife.
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15 international aid
[&X) EF#EE (BiFEE)
- iR

o donor countries
o financial aid &% 8h REEHHER, #HE

o development aid X R&EB) (% o recipient countries
TARESHBOHT, 84, £ BEHBHHEER, £HE

ik, B FmEehish)
o boost economic growth

build underglnding and trust Rt e K
XX TR R S

(]

. o are interconnected (Nﬁiil‘l.
is a long-term solution ~ 2%, BiFzE) RAALKEAY
(KR 8) ﬁ*mf!&ﬁ‘]ﬁ*fﬁ

o

n reduce their dependence on inter-

aid AYeMh (Z£#@)
X ﬂ%; .30 49 M
o is a waste of public money ().S :
(—AAH EFRER) A bt E
FoeR® o influence the of other coun-
tries (#| A BFRES) Braiie
o misuse the aid (& E & BR) 0 R s
M R 3% 85, misuse & use # A L
 “mm” = lead to more corruption
FHESHRK
e S
AEiRE.

WRRYE “BEHE" f “FHRE" FHE, ETURAREHEKMBEEN.: REY
& # £ countries that provide aid, i % 4% & % # # £ countries that receive aid 7, #
A i impressive B F kb, KAALZHRAXRMB LML EEFAaRHER
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REREE
CEXELNEETTNE PESE NPT ENES EYSIEEYS

01 reduce crime rates

[&X] BEIERR
p 1% g — =

o prevent crime TWEHLE 'u s mm
Sa3FEE LAHREE
o commit crime
" © violent crime & AL
\_ AN J
HEXAXETE do crifnéf X #A make crime X

FTetesssecctccccccccccccsrssasrrss s s s s sassannnn e e e

deter + ®ifF W EEE “#&ﬁﬁ-)\ﬁ#!ﬁ%ﬁﬁﬁ”
o deter criminals KU (BHA)
o deter crime EKMEFLE (EWATH)
o deter dangerous driving & &7 5 64 47 4

[ BBC $4]] Local shops will install (%% ) more security cameras
(Z2BE/BLK) todeter criminals.

02 reform criminals

[&X] sug e

1 3% 3T
o prepare them for employment o provide them with career guidance
W B4 A 3 L HOR & EEANE 2 AIECE
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o provide them with vocational
training A A3 L3R Ak 3591
(&% . vocational #f A FHE vo)

a family support
O TRAHELH (L4A4F)

o have a steady source of income
A — A RN RE

o become useful members of society
AT AGIER AA AL AR

Bl
o have a criminal
A Riak (Lia4iE)

03 give them harsh punishipents
[&X] Siefnr=FEHEs

. J.#'R:V:'r-‘;-”

o are sent to prison
AR YR (2%, send #Hit X
413 & sent)

o serve long sentences

¥ B 1) 3 AR A

o lose their freedom

k*xBad

7
<ZT

o become

(M) T T

o lead to resentment
F 5 R

o are likely to re-offend
RTRRESAALE

serve long sentences F + & “HKEARE" ©

overcrowded (X F###) BRHER
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04 address the root causes of crime

[&X] MRAE EEBARILER 5

@ﬁﬁ KAMEEEN address FRAH “Hi”, TRFHE “Br, Lxt” HER

(

o create jobs
#) itk

o reduce poverty
BYREARALR

1 & T ~

05 threaten people’s safefkl

[&X] BhANNES (threatemEﬁl'? ﬂ)ﬂ_ﬂt&ﬁﬁ])

EXREHRE, AIELL% FAHEF pose a threat to ... %

J%"s

18 threaten

[BBC #14] | Their violent behaviour may pose a threat to other children's safety.

-

o increase people's fear of crime
FHRAMMN FIREG BB LA

Fate

o make communities safer
it R T E 4




9 '//;/ g

06 violent images

IELTS Wiriting Test OIIE T T e P

[&X] (21 ¥E. &%, EFHREN) RHNEDE (BEEE)

o copy what they see in the media
(L&) i inssa 24268
T4

o copy what they see in video games

B RAE L TR 2R O4TH

o develop anti-social behaviour
R AT H

o drop out of sch&dt - &%

L

- 1 3% 0 R

o glorify violence
(#k4e) XHLRA

o are frequently exposed to media
violence (F I H) M¥EwiER
IRBERARHIAT

o become aggressive
ERAAA LR

iy

|A %A anti-social behaviour Z ﬁ‘ﬁﬁﬁ FHHLSKFRMBALFNTA, FlD,
graffiti (# %), noisy parties (% ffl # ®4£) . #v school bullying (#E# %) %

(07 Internet crime
[&X] RLILR (BIFEIB)

- — & i

o computer hackers
LREEE (Li94F)

o spread computer viruses

Higt A&

o steal personal information
BRAAAE L

L

o online fraud
Mk (2i4E1F)

|=.15888 online XA 5 & — ¥, E
TERAZE

o H
r

o steal username and password infor-
mation AR P L FEBEL

08 are likely to re-offend
[&X] ROIELBAILE, RIUESEIL
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-
o prevent crime
e i

o prevent dangerous driving
5 1 ) B AT

o pay fines X4

\

09 involve high risks
(£X] ﬁ%gﬂn&, Bisn. K2¢is space fiights. fEKER) dangerous sports

[BBC 4] ] Danger , such as rock climbing and boxing, involve high risks,
~ involve + Fif “»mm%iz,(gumm"
o involve high costs ﬁlﬂi*i‘lfﬁl ﬁl‘:/
&7 /S
@ involve high risks B AR & & A M (73)\

o involve many challenges &7k $ 6B &

10 protect national security

[&X] REERNRE
p

o wars and conflicts
B$fodE (Li944F)

[233EE
o build understanding and' trust
g MAmLEE

.
[%u#B serve in the armed forces #= serve in the military # & “ M &"




& ay /7

X EKEE
(BAHEXHK, $RXH4, BERXLXR, BF, AL, LA, 24
X )

01 protect their heritage
[&X] RPN TILEK

—1 % g ~

o form an important part of their
heritage  #) A% #1169 AL 45 K &)
—AEX¥H 4 (form ﬁiﬂiﬂi‘;&
o better under’stﬁ; their heritage “HAT HEER) = {xt]
iﬂﬁa#mmﬁxmﬁa _
ErA

& heritage Z‘ﬁﬁﬁﬁ!&.
o erode their cultural identity
%$§(§#m SEAF) WA AL
%Kﬁkﬂﬁ

A.

f

-

€3 K
[ Telegraph fi5]] The use of plants for treating diseases 1orrﬁsign important part of

their heritage .

02 threaten traditional lifestyles

[&X] EGAHEFH AR
- 1 i I0 - ~

o traditions and customs
Hog o R G (L1944%)
o pose a threat to traditional lifestyles
o fraditional values s 8 £ 7 F XM AR
HRAG AN (HL9 . value &
IR “HERL HER)

.
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03

04

are more open-minded

[EX] LEEFR, ERERETEANEY

(25 % A4 ] People who live in a multi-cultural society tend to be more
open-minded and more tolerant ( # ¢, % 4) of differences.

- A
o a multi-cultural society
—AF AL AL (L4045
o respect cultural differences 7
FEXALR = understand and appreciate cultural
o can speak two or more languages m
RUBMHAER B HET LA E NS S
o have méréﬁ;greative ideas e
EHUE T,
[ﬁ;\;"x‘iﬂg ~ 9'!939: oI5 B e )
a have different values and Ilfesty'fes L HHIRERENES
AR R P EIA  765 X, S 2
%6?“ L L By
o lead to misunderstanding [Q}
$SRM SRs

build understanding and trust

[&X) B ERAOBEREE

p 4 % L ™
o promote international cooperation
o work closely with . sl
Lot B0, A o transcend national borders |
(BERS1E, FREFMEF) M T
o work closely together [ EAUEED 8 -2

— A R F Ak SR e <

REXCERHEE
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05 threaten cultural diversity
[&X] Epit BHY

(u cultural globalisation
AL AL (B394548)

o multinational companies /
multinational corporations
HENE (BiA4EE)

o intermnational trade
HER S (£ia48)

o share the same fashions and brands
2 ¥ 485 B

o watch the same w televi-
sion programmes ° {'gk
ARMHG LY LAY B %%%l'

o have similar Ii!estylés (REH
FeAA) it ARAnieh £7E

o

7 B

IELTS Writing Tﬁﬁ

06 make communication easier
[&X) itABRERERS

(
o a global language

—HeRBRANHES

o international business

B FR# 4

o international trade BET 5

ARtk
o |ead to misunderstanding
FRGEM

N

1 3% iR ~
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o the expansion of English &84 K

u the expansion of the Internet Z ¥R &4 7k

o the expansion of multinational companies ¥ B 23] #9477

07 feel isolated
[&X] (BNERAAL) BBIRIML

,f
o an endangered language

—# ¥ EE
£ 4
o a minority Ian@@e
‘j‘ﬁ'# %‘*‘\
3,

of people
RARYHANZHAHES

N

o is only spoken by a small ﬁ%l o X 3 i ;

(08 connect us to the past
[&X) (FLRH. FRSFR) BHRNTR., BRIX

o introduce laws to protect historic
buildings  (#Ar) @3 ER

Ry RA S L LR

o are an important part of our
heritage (B EEA) AHM
LAt K — A ERHy

-




IELTS Wﬂﬁng_

o historic sites
itk (%44 43.4F)

o attract many tourists
BRI RS HE

a contribute to the local economy
EEEAGEY 50§

Se

RS -@
give character to ﬁ&.i&’f\ﬁiﬁ! B character FR#EA KM, TR ALY

BE *%
[ Guardian #1%]] They can give ch@ger ($96494% &) 10 cities and towns.
s
K
%

09 adapt old buildings to meet modern neerf%&
[EX] Lt ZBFERAREFHES
( 1 t 3 l i r I :

o make them safe
iEMNEfEs

o update the equipment
xR & it 4T £ ¥

fxfE

o demolish old buildings
HwEEF

N
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10 enrich the local culture

[&X] FELHBOTL

— 1% 90+ :
o public art
AELTK
o public places
243 P ;i &
' ) 7 o broaden their interests
o bring art into people’s everyday lite FRARA 6 3 £ 4T
RELRFAAMGBFLFR _ .
o expanm@g horizons o reduce stress and anxiety
ﬂ-ﬁmmwmi e
o attract many iourlstS" > o make them more creative
iR S HE /B e EFEA S S
o the art industry . 'j""f-.b o
LREL
e
o create jobs
)3k Q’
o contribute to the local economy
AR SR
A y

11 increase job satisfaction

[&X]) RERINIE#HREE

%P

o are treated fairly o provide a friendly working environ-
(R ) &B|a-Fehstss ment 34— A AATH TR

125




o feel respected and valued

BERITHERER

o achieve a work-life balance
FIIASL 4 E2 i) &Y #F

o achieve their potential
RO RBE RS HH
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FRBEEIE
(BAKREH, ERER, $3I5THGFE, RE5LA)

(01 fun and relaxing
[4X) E@8mALLARKRY (KEEEE)

[ Guardian il4] ] Playing outdoor games is fun and relaxing for children.

B4 fun F0 funny REEXE, fun ERAEHEER “H&N", M funny 12
“wmEe

= educational games &4 # %, #1

o play video gamesyJ.y_

FUp— ..,}’° -bn: online maths games #= online
o play mobile games .f; A .?" “language games
50 F Bt K, = e
J%fam games
o browse the Internet k7 %
R k .

o satellite television
o play outdoor sports

ZEE
MF P ohiE 3
o reduce stress and anxiety o provide a wide range of channels
BBEAFRE W/t 5 A 54 HIE
\ )
&R

browse the Internet 1 surf the Internet R Ry XX, EREFERFMNHAEX
E browse the Internet # &2 “#M %"

EER # satelite ZEAFA | (HARARERANERRE, SAUNALEDE
F cable television 7))




,i/'(/;/ v

()2 encourage imagination

03

[&X] (r&, HR, €¥) HRERAN

HERAAIE encourage B “#RN" MEE, HLAEMIBIHE LR encourage thi2 % A
XFoR ME" EROEER

[BBC #I4) ] Many video games encourage imagination and creativity (£]i&#).

| Pat's Note: &7

W F R 5 — A4 2 improve hand-eye coordination (& FBHhE Gk H), €

RUFETAAK, FUFRERSDPEFHH 4L EHF R (a sedentary lifestyle), #2
### A (damage their eyesight)

< ﬂb-“.:\.j':‘ ~ - ﬁ‘ IE‘ : ﬁ\
o make children m&@:égggtive

L LA RAE AW o develop imagination and creativity

o are fun and educational # A& %.f;,_ %*‘&a”'ﬂ*’ﬁiﬁ
BRAERMG, FRTRET S
L = 'f?:., j
B4 creative RERE “HEIENH" , creativity 253 “Blih’
in a virtual world
[&X] E—1TEHHERE
7 — 1 % i0 s =y
(n share ideas and opinions 2 . /
oy websites i XA, %% A3,
o share interests and hobbies #l 4w Facebook, Twitter, Instagram
S F A Ao & 4T

o online community
M %3 K

o share photos and videos

2% Bk Fo il
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7~ 136 30 b ~
o make friends online Z£R EX A o take part in onfine di ;
o interact with their friends online HimF s L&t
ERBEEERAMNTALS
}
xfk o reduce face-to-face interaction
e rely too much on the Internet By @@ A
it A AR Y B BE A
o feel lonely in real life = cause social isolation
BT 65 R RS RN FHBLEASGEEFX
N Y,
PR

“TH” & downlbady T “ Ef#” BiZ&E45? %42 upload, ##w: upload photos,
upload videos

o interact with their friends on théf-_l_r:__tgrnet
A ZBRR LA AR E

o interact with their classmates Fe#tu {149 Bl $401 X 4 & 3

o interact with local people (#%) F S HHAMNTALF

04 an important source of information
[BX]) (EEM, BE, &, HEAE) —HEENESEER

[ #14]] Public libraries are an important source of information

- 1% I8
® find information quickly and easily o have access to more information
ik | BRI EL TRAKRES 6915 8
o search engine o provide more entertainment choices
HEINE (LiA4E) REE B YRRk




o

f/zxy /s

05 online shopping
[&X] REmY) (&i8EE)

4 .
o online shops

MEHE, “RE"

HAMBHE S ik

a buy things at lower prices
A E ARG M4 4

o save time agg.gnergy
s B LR S R

HEGHE, “FHRE"
KT RA

o try on clothes

o provide people with more choices

1 3% it

g[\A

o can easily compare prices
T AR WA

o save money on transport costs
FHTARA

o provide more interesting shopping
experiences
&ﬁ-i%_‘ E TS R RN

06 make our lives easier

[&X] (FH. 8 LRNNETE/EEN

¥R

are thin and light
| REmBLRE

o save space Y AHZH

o are easy to carry and use

T HFAER

o make our lives more convenient

EEMOLE TR E TR

o rely too much on technology
i B AR B T A

o cause health problems
RE & 3 30E

o reduce face-to-face interaction
@ o 84 54 8 XA
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07 keep in touch with family and friends
[&X) EFRENRFER

- 1% i —
o mobile games 7
oo o mgetnelpquudylnap_mw
FALH, “Fk B B S H AL TOARE AW B

o spend too much time playing
o mobile phone radiation

i (£9438)

mobile games

M it % &4 ot 8 30 F ALK

o pose health risks to users

o rely too much on mobile phones

t e s R A AR @ U
08 are fun and créative
[&X] (%) BEBTHAREYES
| ‘o famous people in them / have
o make products more attractive % in them
i B RATRE] A '

(%) KA LA
o boost the sales of products

RA B EE o inform people about new products

& fo AN £ T St TR
o advertising campaigns X #Lik&) o build consumer loyalty

L FHED (LT . ;

FEERED (LIAHE) sk 34 98 A 40 S B

9 give them a sense of achievement
[&X] Sl —FpAR &
13 T

o achieve their goals o feel motivated
% WA &9 B 47 BERAHA, “FHAHTR"




/) 7
.‘///y o
= — = IELTS Writing Test

e =)
@ achieve their potential o hardworking arq dedicated
oKX FE hsbnes#H ey, # (ﬁ#ﬂﬁiﬁ)
o compete fairly o build self-confidence
2 W F #MILhE
- J

10 increase their motivation
[&X] ¥t (TheRESES) 9500

F= 1 %90 w
o feel reSpe%nd valued o career path
(ﬁxi%#iﬁ%§§ﬂ7;f FLUERF G (Li5H)
o T > chooss career paths that really
o feel rewarded Qﬁ}@% interest them i # ik 4o {17 L JE &%
B B TH FHAA DR 3?‘% & A F L KRS B

- ;%g( J

75
. R,
11 feel bored and unmotivated ¥
[&X] (¥4, RI) BRIEWRmALEHH
1 3% 8
o fall into a routine o repefitive tasks :
RN IE M T § T, ZoRIES (2i94835)
12 explore the local culture
[&X) BFLhaxik
1 % it
o expand their horizons o tourist attractions
FF ) A1) & BR R E IR &R BT L
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1 3% iT \
o interact with local people o cultural attractions
5 LA AL XALFE &
o better understand the local cul- o historical attractions /% £ % &
ture
P47 T MR 5 4o AL fLUER 2 L4 E E ¢ attractions
MEH “RA”

o respect the local culture
o appreciate the local culture

% 389 AL
e A 5 8 A

L XfEE o experience different traditions and
o |lead toﬂ@qgerstandmg customs

FHAM U IR R A5 KA

explore + Eif & “#H#-----"

. o explorespace #KEKZE
o explore other planets K& L E#HITE

o explore their own potential 3§ % #1118 & 4938 7

¥ * *

EPERFNOEXE, SEMFRFEREHEIMNTIE, BELELPaH "TH
o MR,

BNSXFINHAN T L SHEB DO IESEIE (natural phrases) # 2R R EXRIE

R, A, B QENRHA, AEF-MEE, sFLELCK, D&, SURARCERE
[T

(FA TR (MFLAR) Day7 Zth% )
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Clarity is the most important element of a good essay.

— Pat
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EJEE%MEE%EH&#iE&&"mﬁﬁ\E?K\ﬁﬁﬂ\EE“&#AWE%
SRMRIREBOVKIAEBNENE. HESIFSHATHEHEXLTEAD HM.
WX ED, MERBRE “WR" EXMHERFRE, MFXSEEMLED MR
0 BE .

FHERINEB AT XERE Cambridge English Language Assessment 124 ¢ E & 4
BN, FIXLEBEXHFERANBETEE 4 Na)8E.

(1) AXRXRAAHEON THERRENGN, FEASHEEHTEBXRENS
B, BEEETE?

(2) AXNERERRFLE, ZEE, FRETABREENLIERIESS? §—F
BIEEH e (BH)? E8— TR ANCHRTHE TRAXH
4] (supporting s s)?

w)tiMﬁxmﬁgﬁaﬁ%%y (AT WL, FROERE? REELE
BT30&EENR (cohesive d%a’)

(4) Iii*ﬂﬁﬁ?ﬂ'}?éﬁi%itﬁgiﬁﬁmﬁ] HIBFHERG, BR "K

REBHAF"? A é@%\ -
.
Ry
Py
" SIFE ARG Acree or Disagree B7.5 HX -

[ % M| Some people think the high sales of products reflect the power of advertising
instead of the consumers' demand. To what extent do you agree or disagree with this
opinion?  —RARAEROHHBEEFRAHRA S EHEHHERN, ARAEEENH
TR, £ XEE LGB ERA KRR FEXAWE?

CER R @

ZEA R agree or disagree "EAFARE" ®f) Argument, XEHRBRFENBEAFTPRT
O, MREBEFSXBFREENENER, ABFERFLEEFAEEL LS
AWK, UESRMNREFTHRIIRN, HFFSLURMELSHTE,

REFANRFITNEREEES, L SN0 KESEEHERIEHE, 518
RiE, MERTLTZEE. EREEXERERE, BRAN, HREFLLHERENN,
ERESTANBATR, MASIANERIROIF—H, BRZBNIFENECHER
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ERREN, EASREERWE?

NTFRBRAEFE, BEHNHAEZELR "BEHER" NEF, hITBARNE Day 7
EZHNI0RESHEBHNENNEMNEEZXRETES, RERATEBREN S
(reasons) -

A NG FENEE TR0 LA HEEN B LB h AL R,
MFREME, WF BN CTRARKE. KA. HE. X, FEXLAELY
%, TR, WA, . B, TANERNELER, RERKRLE,

SEEEH: $YELDay7 EfAMAXN L XE RN YAREERY BREE,
fliw, ¥ % % 4 iF boost the sales of products (#R # 7 & # 4 &), encourage
people to buy things (B A11£W4y), are influenced by trends (2B #MkAP &
¥ %ﬁ%ﬁ*gf%%f’ﬁﬁi, have different incomes (# F B 94 N\ ), have
different budgels% TRl eh W FHA), have different spending habits ( F #F 7T F
HHESIR) SNTUHREHEEN AT ROURAR Y, RELEE provide
reliable information (46 WA L) TRIES & 6516 M. M5 AR XA
consumer culture (%M #H H & Huy things on impulse (s W) L4 %5
AR, 5# % iE adverising ca%@n.(kﬂ&%f%%?ﬂﬁ%%b&), are

creative and entertaining (ﬁﬁl]tﬁﬁﬂ&fﬁ% ), have famous people in them
(B4 A##A %), make products more atlractivéf%w BERIA) F4BTU
0 4 T AR B — B ‘%§§

B X BT short essays, BHE|FARFHERN (§14) ~ (& 12) F The Official
Cambridge Guide to IELTS (EXism) BENEAXLEASHEXEZHAH 260 ~290 words,
MFXAEN essay ki, EFSENHFFBEERHIAZNEE, XSEXHIABEET
3~5 £EiE, HELBFEBENHILA (reasons) 7, BAFRX, BHNESILENSES
HBRFAXHOSHRBRET T,

TIB R ST

FRABAKMHAZEF (common sense), A& Lt KAFiEHEY “¥
B ETERFHOHKR, BE “HEHEL HBENG, BHTHEH “F
£, HE, FRKERHE" GRN, BEEGF, ZEKMEY

&, BINRER —EREFTRUNRETRHENREARL7. 5 2ZEMENIEREREN.
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There are many advertisements on television or on the sireets foday. Some
people think that the advertising boosts the sales of products and it
encourages people to buy things unnecessarily. This arguments may be
frue.

In my country, many advertising companies produce advertisements with
famous and popular actors or singers. People, especially youngsters, buy
goods that their favourite singers advertise, although they do not really
need the products. Also, on the television screen, a product may look more
attractive. As a result, people often buy goods without enough
consideration. Consumers may not actually need it but they buy goods on
impulse after they watch the advertising. Furthermore, an advertising
campaign can make many cusfomers buy a particular product. Therefore,
other people may be affected by the trend, even if the product is not of
the real needs of society.

On the other hand, consumers are not controlled by advertising. It is
people's choice to make a decision to buy goods. Individuals have their
own spending habits. If they have got enough income, then the right to
make a decision is given to them. No one actually can judge whether the
goods sold are the real needs of society. In addition, people try to
allocate their budgets because there should be a limited amount of
income that they are able to spend. They cannot be easily influenced by
these advertisements.

In conclusion, advertising encourages people to buy products. However, it
is difficult to say that everyone is easily influenced by advertising. In
some areas of business such as the foy industry, if may be necessary to
ban advertising to children as children do not have enough ability fo Know
what they need.
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There are many advertisements on television or on the streets today. (iX % # 2
4 # # ) Some people think that the advertising boosts the sales of products
and it encourages people to buy things unnecessarily. (#H B ¥y &F%, FL

B, 8, %4%4 Keep the introduction short and clear. & FE%, {2 |
SR KREARY, RALH 4T 4 this 5@ # 4 # 4 % arguments th &
MR, REFEHRT? FHRY, Pt BARVEELE N RBTELE D
WALBEE, IRELRYPAREEE PR A AT L RA BN FTERTR
WIE LW, (fFkK) Dayd HERBTH S EFERNEAHMEFLETR)

In my country, many advertising companies produce advertisements with =
. famous and poﬁ\@ ctors or singers. (X EABH 2 A 1, B reason 1, WA
BHEST) %) Peop ecially youngsters, buy goods that their favourite
singers advertise, althoug do not really need the products. (iX &4 & 1
| WRFEHA . AN, BAURKOBQEAMAAEREN TS, REXBES
N ALEHFLMHNECHTE) @?‘C‘Q\I@ television screen, a product may
. look more attractive. (KE# 2 K2, EF%};@: FEXRBLFRERRER
5l A) As a result, people often buy goods Trlﬁ?ajagl enough consideration.
. Consumers may not actually need it but they buy goods on impulse after they
| watch the advertising. (X4 7.5 4% A2 # K25 T HHRF L5540, EF
AENBREREL, BRAVAANESH ) S2EREFHFHMFICHR—&
FENAR, 8RR, EHAEHAREEREALEL LEAXREN, FL4EF At
~ real content #] 5 £ £k ) Furthermore, an advertising campaign can make many
L . customers buy a particular product. Therefore, other people may be affected by =
 the trend, even if the product is not of the real needs of society. (& & E# 4
L B3+ BRI RHEA. ARBENS SR EEEHLUR S MY B—F&%, L
- AeHRES, PHANEREEWTACH T —FHEGTENZR) " :

T ENMEFEXE, SIHERBRETHE2AREE I ALK (reason) AARSHEER
& Also, f Furthermore, # B} 414 A 2| Another benefit / advantage of .. is . XAHR, B
R A Bl Secondly & Thirdly, E4AEE: sIHEFEXERVEAEARENBHIREN
moreover, X R E % : moreover HIFAFHER, EREAFECREATREAMN®RX, €
REBRBEXEHN Dessay EHEZERRK, & F “HAI”
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. On the other hand, consumers are not controlled by advertising. ($— A, H##E o
thEEZANZH T,) Itis people's choice to make a decision to buy goods. ( &Ex#) |

4841, B reason 1) Individuals have their own spending habits. Ifthey have got
enough income, then the right to make a decision is given to them . No one can

~ actually judge whether the goods sold are the real needs of society. (i1 &
| MR, FUIE47.5 4% @it C What does this mean? MM EEETT
CHEFXHARMCHITHE, CHEREEARAXEFE. NOXEHEFAK
" £, HWHERRE, HhEA4W, EANAERAERT, WXL RATEF
 AXHEBEFRSBANELSEKX)

~ In addition, people try to allocate their budgets because there should be a
limited amount of income that they are able to spend. (KB E2, B
reason 2;: M H AWYN L LT RARSN, FUMN Lk EL#HTH)E) They

- cannot be easily influenced.by these advertisements. (2 & 2 8 & FF X H5 4

'ﬁMX%ﬁiﬂE%%ﬂf%%ﬁﬁﬁ%W%)

- In conclusion, advertising encouragéé people to buy products. However, it is

- difficult to say that everyone is easily influehcédby,_ advertising. In some areas of
business such as the toy industry, if (X4 if 7 4 Eﬂi'n iR, BEZHEMN
LB F? RBMRAL TS AR T ¥ 4 A BIE it # 5 HMLM %7 ) may be

. necessary to ban advertising to children because children do-not have enough

| ability to Know what they need. (/& — 4 1 # i % 7 # 1 #l 4 xt L 80 &,
know £ T HF K5 R )

b ihalss ALY L iet-ois oMy | hrligl Tl i

A . N 1 B
gk X R — % RS M E F agree or disagree Bl F ME L, X 2 &

ARRATHFXE#, /2894 APE % E£0 0 T RFRAE
FT#E, FREME, G4, A “BHREAR ., TARLGOEAN 58 S8,
Aeh, MAAEFAPREZEHRALREAE, REFALEI LS RORAT LN
8, BEBEM THHRRAVAZIRAHEZRSY, A—% “FREEAL" 4R, 2
A TALZARBENERALERSAE, oM, HABRSFRT 7.5 58 54EHS
(E###E L4145 . The points are well-argued and supported. ) ,

L
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ALBRE SR

hEEEAT agree or disagree (“AARAE") RETHOBELEHERRE. L

HARER" RS Some people think that... Others think that ... 894543,

ﬁﬁ%@%ﬁﬁﬂﬁﬁ%ﬁﬁﬁiﬁ@%ﬁﬁ%ﬁ%miﬁﬂﬁkgiﬁﬁﬁﬁiﬁﬂ

i

wEE T

G AP S

think ...". Z&Mi§ 100% #¥/HAE (off-topic) o

ix —#p LB &G Ak, TR, ERARERMIET BHRAEHI " Other people

ZXBHMAIDAY 7 | o N
HiEHEIE

| o boost thg@glgs of products o are affected by trends

PR LE S £ 3R A B PR

o encourage peoble te;byg, things o have different incomes

L REANE Y z A & R Bl 6N

1

| = make products more attractive have different spending habits

L EE&ERIIA HERRHHERIR

‘o advertising campaign o alfﬁalg the money

ks A RS ERES (BAEE)  AEER IR

% o buy things on impulse o are easily mflﬂmjged by advertising

R Ekm REDLH S EEHOYA

AR E R #iE TBE (cohesive devices)
(do R ik 2,42 Finigix AT i F R A &, AR 4k i A Day 6)

. ﬁ:ﬁﬂ:
they (£EMX, “24&"), them (EEFEHX, &£45”), their (HEAR#H), it (2%
Fo &1 X ADF] )

o EHEE:

although (&%, itF%x3), As aresult, (Est, AR%%&), as (& T, BRXR),

even if (Bpik, ikF £ %), If ..., then ... (x££ %)
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L ] -?t,‘ 1.'-«] .
consumers, people, many advertising companies, an advertising campaign

3] AR B2 Sy ae P RIRAER s YRR AR
[E&4)

Individuals (“4A) have their own spending habits.

[REMG])
Children do not have enough ability to know what they need.

[EiEME]

People, especially Youngsters, buy goods 'hat their favourite singers advertise.
AXHBE Fﬁiﬁ*ﬂﬁlit—é-'ﬂl?ﬁ “ERE" TXRRALNFEHS 7.5 AL,

BATERE. "TRFE XMRRT7S Heafex, N EENEX— R AAS R
BAERER, itRNOWEZZ k...

Fair enough. BB —E2kE—& 9 A,

"pac ( Discuss both views and give your own opinion. ) ﬂ&‘iﬁand ~9 essay v

%X M| People have different expeclations for their jobs. Some people prefer to do the
same job for the same company. while others prefer to change jobs frequently. Discuss
both these views and give your own opinion Amﬁf;ﬁ;ﬁ*:{;ﬁ]ﬂﬁmgo —dAFE
RER— A28 2N EHaF I, @B —EAR BRI T, i A ALLE I
Bk g T ekik,

'thé

FURAYNERNRAERUSHBAH S CEEND & CRER

=R

i#&ﬂcﬂ»#ﬂzﬁﬂﬁzﬁi, {Eﬁfz?ﬁﬁiﬁﬁ—ﬁf&ﬁlﬁllﬂfﬁﬂﬂ%: O IkERE
ﬁmziﬁt%ﬁuHQEM"gb"#ﬁﬁﬁmﬁwEEOEE#&I¢MHﬁME;
@E?&#ﬂ:#ﬂ%ﬁ*ﬂﬁﬁﬁ. @Egé‘q:!:f’ﬁﬁiﬁo
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{17 Day 7 ¥ IWLAEBFLTUAZELBARBRUBRSBd, £NIHAWEHE
EUERNGE. MR FE. BE (LEREK) ME. FREIAXEBHEX, BB
[[:: 22 PIA ﬁ“P@]’rZ:ZJ’L%EH&RTF‘B’JiE IHAEBSIRSEXEHT, Blw. have
ob security (& I {E#EM), have a steady source of income (EREAHWAER),
ire more reliable (EAT ), |0y to the company (R I ASEWE), Is wel
rewarded (B3 RFEE), have more opportunities for promotion (HFE £ M F R
<), fallinto a routine ( Bé}}\ﬁﬂﬂﬁﬁ’]ﬁﬂg) feel bored and unmotivated ( B&E|

Sk BHTEAH), Increase their employability (ﬁﬁﬂg‘mﬂr‘]ﬁﬂ Eﬁ) gain new
skills (BB eHAE) , meet new people (&IRSMEREMA), are more confident
and well-rounded (ﬁafgﬂﬁﬁamﬁmgm) 2%,

BINKFBESXRE D & G HIVEX,

Today, many workers change. jobs frequently. Some people think that chan-
ging jobs frequently leads to more opportunities, while others believe that
staying in the same job is a better ¢hoice.

One of the main benefits of staying in one job'is job security. Changing
jobs often means that one may have to think about moving house, or tempo-
rarily losing a steady source of income. Staying in one job'means that these
problems can be avoided. Another benefit of not changing jobs is that one
is able to gain more experience in his or her profession, which increases
job security. Their company may also reward their loyalty and service. By
contrast, those who offen change jobs may be seen as unreliable and em-
ployers may not want fo hire and invest money in training them.

However, there are also advantages to changing jobs frequently. One ad-
vantage is that workers can increase their employability. Working in sever-
al different jobs often means that the individuals have more skills. These
people are seen as more confident and well-rounded. Another benefit of
changing jobs frequently is that one never falls info a routine. People may
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feel bored and unmotivated when they stay too long in the same job. As a
result, the quality of their work would suffer. Also, increased salaries and
promotion are often easier to achieve by changing jobs.

In my opinion, while a new job can often lead to a higher salary and more
career development opportunities, it is important that the decision to quita
Jjob is made responsibly..

Ay i e
Today, many workers change jobsrequently. (A REE W EE M 4% &)
Some people think that changing jobs frequently leads to more opportunities,
while others believe that staying in the same job is a better choice. (## B B

o AL )

[%,288 D&GREEXEFLBNEXLAET H B C MMM LUE T, Fit
SIMEATHDAGRAEXSMHABRAEFLBALECHEE, MEXEDHE
FHELERBERSE, iX Hagree or disagree Bt E XA B EF LB AH
LHACHBEEAMARS., ESHD&GHIKHELEXHE: (519) p.167 8
D&GHEFEEHEX (MEE (£19) p.77) # (5I8) p 173 WD&GAEXEH X
(BEAE (%8) p.129)

One of the main benefits of staying in one job is job security. (A % #4 # B — &
THESH 244 1. THF#EH) Changing jobs often means that one may
have to think about moving house, or temporarily losing a steady source of
income. Staying in one job means that these problems can be avoided. (2
B o FAaRIF X4, BRIEREREPEH AR EHRNKRE, THE
—tr TiF#ti# % 73X 4 5 B ) Another benefit of not changing jobs is that one is
able to gain more experience in his or her profession, which increases job

security. (AREWM2 LA 2: KMMF—RIHABTRIAECHELHMRER
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EF LM THLH) Their company may also reward their loyalty and service.
By contrast, those who often change jobs may be seen as unreliable and |
employers may not want to hire and invest money in training them. (2 &2 8
HAEF %44 . #1t By contrast, £ M — T4 H RIEA B WAL ATNK
Jﬁbiﬂﬁ%%#ﬁ’#ﬁﬁl?ﬁﬂﬁ&*&%ﬂi’ﬂ‘ﬂﬁiﬁiﬁﬁ‘ﬁ]#ﬂ#ﬁﬁﬁ? At k)

However , there are also advantages to changing jobs frequently. (EL# % D &G
REH MLABRUAHZEARLYRIAE—FHALT) One advantage is
that workers can increase their employability. ( &R BB 2 & 1. 7 U #54
#% \ 7 R ) Working in several different jobs often means that the individuals
have more skills. These people are seen as very confident and well-rounded.
(A A1 %@Ez%i%*’ﬂ . HERITHEEREAE S HE, IFRHAMNK
WHERBE. W%%%? # ¥ 4 ) Another benefit of changing jobs frequently
is that one never falls intg‘a routine.  ( KBk E2: BEREETLBRBA
EHIEE W Y ) Peopls; %? feel bored and unmotivated when they stay
too long in the same job. As a E‘the quality of their work would suffer. (%
BE2QHBEANALEA. KENLERE —-%&@&ﬁ ot ARBEZERTHKDF A,
‘AT E R T RE) Also, increased salarie’s;ﬁ)d promotion are often easier to
achieve by changing jobs. (& Bt #h 4t & 3 ﬁ%’ﬁ‘f‘i%% REFHH I RN

R X
) ga%

" In my opinion, while a new job can often lead to a higher salary and more career
development opportunities, it is important that the decision to quit a job is made
responsibly. (AZRBRERMEHRETHOHER. BRFHTH EELTX
FENIARESHFLRRIS, ERF—RIENRTNZEATELE H
&)

%§§ﬁ FRA—ERBH DL GRUEFEL, AXEFKEMA, LRLH

HTHEZHBHHNE, AFTAREZMNER 2 \meh HAPIE 5 A Sk
Thd. FEAEASREAME R T HALEFR (common sense) . H B iR
SEHBRFEIBL, ERAERBETACH AR, R4H4E D &G BHM “Discuss
both views and give your own opinion. " #34 B E T3
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| iﬁii&ma@Day 7 S Sy B sl Ll el s S e gl
Lﬂgﬁﬁﬂ !
5 |
’ © have job security o are well-rounded
L E AL @, 2EARN
= a steady source of income = fall into a routine
 (BAEE) — AR AR RN DB AL 36 46 69 1R 45 35 o

| o gain experience i Z1 o are bored and unmotivated
| BE|Z ok Hée3 3 A
o are unreliable

! o opportunities for promotion
ORTEE, REAEME . d

& (&742+%) eSS
| o increase their emﬁ[ggzablllty
BB etk s 5 wm )
[y e - L
A SO P 4 .

(o R R e i 4338 Fo 4K, 39 4 A o | ﬁaﬁiaﬁﬁgowe)

‘S >

* 7. wam
they (£#EHX, “£4#4"), them (FBHX, “£48”), their (%14’(.16']) this ( 45
7R4), these (74/i9), problems, these (4§#4]) people

® EHEE .

As aresult, (B, AR%£%), while (, ﬁ&ﬁ]—&ﬂ%ib&ﬁ#ié}%ﬂtt),
By contrast, (52 s 8¢9 xt 1k eg 2 ARG B A6 F 2 i) a4 38 & 21k )

* Zid / Bh&id.
staying in one job (% %4485 ), changing jobs (%) £i44i4&), people

GB] A SCHR BN SRR <l ARl A

[E#a])
(1) Their company may also reward their loyalty and service.

' (2) These people are seen as very confident and well-rounded.
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[ ®=EMNG]
- Working in several different jobs often means that the individuals have more skills.

[EEMNG]
' Those who often change jobs may be seen as unreliable.

BANBMERRE R Report MEMNALEHTEX,

¥ SR E A RGNS Report BX -

(% M) There are more problems with students’ behavior in many countries. What are
the causes and §at are your solutions? ERPERE, FAMMITHFIMAE S, X

AEEARA Bk Ak e MR Ak,
%ﬁ:gﬁq‘
(EE2% A4 R,
s
A 502 8B 1 Report &, ‘“\?gﬂﬂ
1S
S

$EQOTHHMEME, oK fUNES (bulg§ounger students), FIAKFi# (do
not pay attention to the teacher), FiM~F¥&E#ME ldofﬁt jollow school rules) HIREFH
RE, LOREN, HEN, BHEGH, 2R (gﬁa&g-ﬁ@ﬁmz:. AR
4 MR 73k ;

Day 7 28X BE BRI B A H IR K ideas, HIH0. have busy careers (RKHE L
EBICR) , feel lonely and unhappy (BEFBEIRAMIATEFRF L), are easily influenced
by media violence (REZRI|REEHNRNAZNEW), copy the behavior they see in
the media (BOMMNERE L PBEBNNTH), become aggressive (EBAHHHM),
spoil their children (RKBEMMIABEF), lack self-control (REZBEHEH), break
school rules (ERF®HE), develop anti-social behaviour (FEREHL8FTH), respect
each other (E#M &), communicate regularly with each other (K itEZ2¥EMEXE),
take part in community activities together (—E# M X &%), become responsible
members of society (X ABRERNHEMA ), regulate media violence ( BAFX FiASE
HRNABZTHTHRET) & phrases BTUBBHRNBEHNTENE D, S%, THESHEX
NREFFABEILZHNER, REEHE 3 ~5 FEERCERET,



% ;
Lz )
. T AR R T T S e

Poor student behaviour seems to be an increasingly widespread problem
and I think that modern lifestyles are probably responsible for this.

In many countries, the birth rate is decreasing so that families are smal-
ler with fewer children. These children are of ten spoilt by their parents,
not with love and attention because working parents do not have the time
for this, but in more material ways. The children are allowed to have
whatever they want, and to behave as they please. This means that the
children grow up without consideration for others and without any un-
derstanding of where their standard of living comes from. Also, when
they get to school age, they tend to lack self-control. They have less re-
spect for their teachers and do not follow school rules in the way that
their parents did.

Teachers often complain about this problem and measures should be
taken to change the situation. I think that the solution to the problem lies
with the families who need to better understand ‘the. harm of spoiling
their children. If they could raise their children to be:considerate of
others and to be responsible individuals, the whole community would
benefit.

Parenting classes are needed to help parents fo achieve this goal, and
high quality nursery schools could be set up. These measures would sup-
port families more in raising their children. Government should fund this
kind of support for parents because this is no longer a problem for indi-
vidual families, but a problem for communities and for society as a
whole.
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Poor student behaviour seems to be an increasingly widespread problem and |
think that modern lifestyles are probably responsible for this.

M Report EXWMAARERANHSEM + MERE, XABHGTFLARE
BETHAMSME AL, FENNIER I NERERIRBHARARR
D FEBEERELT, MY EIEAFNERERNTK, BEWFAUEASLT
L CBKT, REHIEREX “LEMB” WARNE

,‘_, In many countries, the birth rate is decreasing so that families are smaller with -
‘*‘ fewer children . These children are often spoilt by their parents, not with love and
attention becéﬁ%@rkmg parents do not have the time for this, but in more

material ways. The a%@e are allowed to have whatever they want, and to
’behave as they please. Q‘aﬁ;% means that the children grow up without F__-
~ consideration for others and wit @ y understanding of where their standard

of living comes from. Also, when theygg\@o school age, they tend to lack self-
control. They have less respect for their teacﬁggnd do not follow school rules
in the way that their parents did. '5( pe

o

.._
E Ay

ABRERE. REWBTEDT, UBFHHE, :f:;@,\,ﬁ}\ A& F#HAN
¥RZE, KARDPEERY, RZHE WA E, ARESHHERLFLE
5“5‘ (common sense) , ZTXHEFTRER THEER, WA THETRE ., AHRK
aﬂﬁ%iﬁﬂ%ﬁ%%& SIMEXHEEREPRAMGE, TR “LE"

%3 HWXAMHLA “FER"

ﬂ Teachers often complain about this problem and measures should be taken to

change the situation. But | think that the solution to the problem lies with the
55 families who need to better understand the harm of spoiling their children. If ’
,?.:‘ they could raise their children to be considerate of others and to be responsible

:_; individuals, the whole community would benefit.
£

R S W BT

D REMATEEERAEREABTHEN, LMNRAERERHA, TELK |
A THRGER, KAEET T HEANEERE
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Parenting classes are needed to help parents to achieve this goal, and high
quality nursery schools could be set up. These measures would support families
more in raising their children. Government should fund this kind of support for
parents because this is no longer a problem for individual families, but a
problem for communities and for society as a whole.

ZEASRBRHBZF R —LRKKIE I, FARIFNHILE, BB RKAM
BREET, BABRFNOTANECERARLEET, EE XN ZE, K

ATEFREEXNZEE “HAR" XNMEX

D=
FXEHMADay 7 _@?
B ATE s
i o spoil their children \3&%@\,‘ o do not follow school rules
 mERRNERT D FaTrRent
o standard of living @ achigs this goal
| AEAE (BB 35%&4@‘@&
n o lack self-control 72‘\‘}
Bz AR

J ASCREERm TR

® £id.
they ( £#EH X)), their (4 £4K79), this (#5-7433), these (574K 1#) children,
these (4874%#) measures

® EHEE.
because (ATERXA), if (AFMHEXE)

e 2.
teachers, governments, the birth rate
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(3] AR MBI SEPEREN BT MR

[3#3514]
Teachers often complain about this problem and measures should be taken to change the
situation. (and AIG&EF—EFBLEH)

[RiEMNG]
This means that the children grow up without consideration for others.

[BENG]

They have less respect for their teachers and do not follow school rules in the way th:
their parents did.

* ¥ *

#BEEIERSHLET a good English essay EERTROAZKZRNM, KA
SKEWIE (RS ENEHRE Hredl Cntent) , MARZMAY *HK" 70 %4,

E—Ei2@EM (ElkZE) Day 8 BTG S E 07 876 0L 5T o kg
SEBHBNEREHEHEL,

FEWE B G 1 3C

Cambridge English Language Assessment ¥ Filit X EHMANPHEKR LS.

| ¢ Keep the introduction and conclusion short and clear.

¢ The main ideas in the body paragraphs should be well supported.

|

Rk, PERZMNANRIHNFEEFLBRNEREBEN "#iR" 70 “&Eq" ¥
WHBHEY "L, TRERE. X3 (HEEREFLERAEHNIFRE native speakers &
EXBHILBREMANE), EXT examiners AT ENNTEBREN S LESHBFEHS
EXARIEAR (real content), AFMAEER "HPMIL" BE “—#Hmwd",
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AVENBXHE Pat BRENS /¥ EIE, MALEHLHEREKR, HEE. RE
BTREE, BETEIXZALCEIEXENZTFRE LIS, RO URXLELITRUTHR
BROEA, SHEEATHBETH real content,

01

Some people believe that artists should always be given the freedom to express their ideas.
To what extent do you agree or disagree?

B FAESMEZ 1 (Agree or Disagree )

Some people think that artists should always be free to express their ideas. Although |
agree that artists’ freedom,of expression is important, | do not think that they should
always be able to express theirddeas without restrictions.

Artistic freedom of expression is impodant_,‘_;o the development of art and culture. Only
when artists do not feel restricted in creating their works, such as musicals, sculptures
or photographs, is it possible for them to prod‘hce;_ truly original works of art. Their
freedom of expression is therefore crucial for art to d'ev'el_ep rather than repeat itself.
Also, art is one of the most creative and diverse parts of a n'at'fon's culture. To protect
and promote the diversity of cultural expressions, governments should respect artists’
freedom to choose how to express their ideas and emotions.

On the other hand, some rules set by governments to limit the freedom of artists may be
useful. Some methods or forms of artistic expression are not widely accepted by the
general public. By limiting artists' freedom to use these methods or forms, governments
protect the people who are likely to find these artistic expressions unacceptable or
offensive. For example, the film rating system that is used in some countries helps to
prevent violent or sexual images from reaching the audience who may be negatively
affected by them.

In conclusion, while | agree that artists’ freedom to express their ideas should be
respected and protected, | believe that there should be effective measures to ensure
such freedom does not pose a threat to social order or to other citizens' well-being.
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@ X FE1ESCE A 2169 band-7 phrases <O
freedom of expression (BiA48i8) Aikth A
feel restricted B & B FR4), restricted & “ & FRH 4"

(FHEHE) 2& e £ K4MERD, work o9 5 % X
works A iE XL TFARBERARGHSR

create their works

[BBC #l &1 ] The artists had three weeks to create their works for an exhibition at
London's Saatchi Gallery.

musicals, sculptures or ]
(HiA4EE) FHRA, MEXEBA
photographs
truly original Wo&,&ff art (£i9458) AERAREMHERAKES
creative and divgr%iﬁg?\;% (M5 i4aiE) Aol &ML SHY
the diversity of .. e | (#i4E#) SR
— . ¥ -
limit their freedom j Gﬁﬁ)gﬁti) FREMEME A d
are not widely accepted by éf-iiﬁﬁﬁg;!" P L
unacceptable or offensive (% %99 ﬁt&)ﬁw AT RAEFH FILLe
film rating system (&784248) t#i’fjﬁ@}%p
violent or sexual images ( &842i%) &ﬁi%éﬁ‘%r
pose a threat to social order (FhF424E) sTALo4 A A B
_ (n.) REFEHAEERS, 4146, sense of well-being ¥
well-being s
i 2

02

Some people think that giving aid to poor countries has positive effects, while others
believe that international aid should be stopped. Discuss both these views and give your

own opinion.

» ¥4£35%Z2 (D&GH)

People have different views about whether or not international aid should be continued.
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Those who support international aid believe that it can benefit poor countries as well as
rich ones. International aid ontributes to infrastructure improvements in poor countries.
For example, the World Bank, whose key members are mostly rich countries, provides
poor countries with low-interest loans each year. These countries can improve their
infrastructure, such as schools, hospitals and public transport systems, with the loans.
In the poorest countries, international financial aid and food aid can help to save lives
because in these countries, many people suffer from starvation and extreme poverty.
Rich countries that provide generous aid to poor countries are also regarded as
responsible members of the international community and are respected by other

countries.

People who think that intefn’aﬁt;pal aid should be stopped tend to focus on the negative
effects it may have. A common-tongcern is its fairness. Even in the most developed
countries, there are people living belovdthe poverty line. Government spending on aid
for poor people in other countries may bé unfau {0 poor people in their own country.
Some aid is even used to serve purposes for which itis.not intended. For example, in
some countries, foreign aid has been used by their govérr‘iﬁﬁgnt_t_o purchase weapons or
has led to more corruption. Sometimes countries that receive iht'err'lg;ional aid also find

the aid unfair because it is tied to political objectives.

Personally, | think it is important that the aid provided is used for the intended purpose.
If the donor country cannot ensure this, then the aid should be reduced, if not stopped

altogether.
G X i SC R H B9 band-7 phrases <
infrastructure improvements (%9488 s TFRA LA AE
nterest loan (&ia424F) 1585 3
lic transport systems (£384845F) AL LA ERAE
starvation and extreme poverty (&%i942+&) MEVURS % T H
/ide J 1erous aid (ﬁﬁﬁ?&) -ﬁi‘fﬁ‘lﬁ:ﬂ.ﬁﬁlﬁ
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responsible members of the

. ‘ : (#F4iE) BRFALEAFEAGATE
international community L

fairness (n.) 2

live below the poverty line (Zh#k48) £ ELERTBLEUT
government spending ( £184215F) B A6 &
(BFEABE )

Government spending on national defence is sometimes blamed.
purchase weapons (BHFE4E) WEXS

lead to more corruption (FhE4EE) FHE SHMK
is tied to polmca; objectives WAH B Y

the intended purpose: (£34538) BRAM B8, FLAIH A

(£i948+8) #BHE

donor country
JAZT e recipient country &4 B )

mm———

In many countries, the proportion of elderly people is increasin@,ﬂ-l)o the advantages of
this trend outweigh the disadvantages?

S RESMEZ3  (HEEFIHRB)

The proportion of elderly people in the population is rising in many countries. | think this
trend creates more problems than benefits for society.

An ageing population places a heavy burden on the social welfare system. The more
retired people there are in a society, the more claims are made for state pensions.
Governments will have to increase funds for the public pension system, while reducing
funds for other social programmes, including support for low-income families,
unemployment benefits and student loans. This will also lead to a heavy burden on
taxpayers because the proportion of people who work and pay taxes will be smaller.
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A higher proportion of elderly people in the population is also likely to cause labour
shortages. This will reduce productivity, damage the economy and result in rising labour
costs. To cover higher labour costs, businesses will have to raise the prices of their
products and services, and then pass on this burden to consumers. As a result, the

cost of living will rise while people's standard of living will decline.

It is true that an ageing population may lead to an increase in the demand for healthcare
workers, and therefore may create jobs in healthcare-related fields such as nursing and
pharmacy. However, compared with the negative effects that population ageing would
have on other industries, the growth in healthcare-related jobs would be insignificant.

In conclusion, a!thogg; __tse rising proportion of senior citizens is a result of progress in

health care and improv‘é?@yp the standard of living, | believe that the overall impact of
N,
population ageing on the socia@a‘re system, the healthcare system and the economy

y . gé%f
is negative. \L’ﬁ?@&
QL?;\
;“ %
e X ffESCHR A band-7 phrases ©
)
a oF 'Y
o by A&
place a heavy burden on (BhE4EiF) &oooeor %‘-kﬁti@@ﬁ&
XL
social welfare system (2%i94338) LAk AR N
state pension (£i9488) HAFLAANKEL
the public pension system (£ia40i8) DEFELKER
low-income families ( Zi4878) RN RE

(Lia4aiE) 2 &, ETAAMH “RLehFL", AL
PR T &

unemployment benefits

(£i94i8) FAGK (ERXRBEARLINFERIL

student loan
i students’ loan £ % 1)

cause labour shortages (#hE4E) FRFH A4
reduce productivity (#HE4E) BIKEZ %
damage the economy (ZhE445) BmHEF
labour costs (219431&) FHHAA
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the cost of living

(&iA4iiE) £EAA, £EFL

standard of living

(&i94ai8) LEAKT

healthcare workers

(%id4ai8) EF THEH

nursing and pharmacy

(%i942i8) PEAHF

create jobs

(S E42iE) Elidstdk

insignificant

(adj.) RER$, &N
[ &3] significant (adj.) B##7, E&6

elderly people

(£A42i8) £FA

progress in health care

(Zi42i8) B LA SR
E % . progress A& T 85 £ 39

the standard of@

(£a42+8) £EKT

e
By,
AERHARGINRAA

BURNHBLHIRINA, RANARX

\ﬂ, TS MM AT a good English essay E@
th 2 E N4 %IR8 real content), MARE

BAZ=H “ER" f0 EG", Nfﬂﬁ#ﬁﬁﬁ%ﬂﬂu&‘kiﬁﬂm%ﬁi% (IELTS Bfk5E

BHAESHXLM) EEINSEAHENAKS

ﬁ%%;sﬁ%ﬁ&&mﬁio
Q ):S‘)‘\
53
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Figuring Out a Set of Data

EERFRREA—ETH

We have plenty of quantitative data on our hands now.

— Pat
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% Buskh, EEHEEHRNR1 NHZARTE, BES5S—44EESthe Tzt
REIRNHE LSHBLE note, FTIA, WR Task 1 RJ/IT BB, XEFRFS, B
RIUEBRHREBELBNHEY,

ARk, 2 Task 1 EEEL A LD A E1/3 95%, ELEBFEFC—ITNE. 0
RIFNEREIL LR TE &, BATHSBENSEDBINSSOIMTHO.54%, X2
Pat BIEFEMK, HIRBE—T. WRTask 1 &5 471 Task2 26 4, MASHBSBLEN
NPFARAHF5.5, MARE 5 (BANFNHTE AN EZRREXTS. 75 A6t H6), FREM
BALITRLHNEBESELT6 5 HE7 S0AFNS L, B4, S#0.5 45895
#, BERNTERZEN Jask 1, R Task 1 M Task 2 WAKER T A, BEEESH the
Writing Section ﬁAﬁ\g%

ESRONBE, ﬁﬂﬁﬁ&%ﬁ —S$—S$HEERTERENBRETE, By
T Task 1 80 thik B R FOB k& “’ .
<’d,f\
A%@
ﬁx_ %,
oo Task 1 )& SR M "*1 T

R

RERFEFRENRRFARIMAIYFEER, U Task 1 (IESHEHTFE
RAEE, EREBSHNNMEXSUHERH Task 1 HRBTERHY,

Task 1 REMMSHE, SERBEZNREVAR, FEX “BE" . LORNFDE
R-—TTENLERZERNEEEX, $—BRE (§12) 286.5 5 6.

From 2003 to 2006, the percentage of people who never ate at a fast food restaurant fell by
1%, while the figure for people who ate fast food every day fell to about 3% of the

population.

EERE (811) BH7 H4EX.

The results illustrate that before the refurbishment, only 15% of visitors were very satisfied,
while the figure for dissatisfied people was 40%. After the refurbishment, the figure for
dissatisfied visitors declined to 15% .
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B=RE (§810) BE—EEEMN.

Swiss sales figures jumped from 15 million to 47 million euros, while in the UK and Belgium
sales only grew from 1 million to 5.5 million euros and from 0. 6 million to 4 million euros

respectively .
X—BURES (/9) HEEEX.

Consumption has fluctuated since 1990 but both now provide 24q. Coal is predicted to
increase steadily to 31q in 2030, while after 2014, gas will remain stable at 25q.

BE (818) EMXTEE, AXNIHRBHIARBR .

65% of farmlan k;:legradatlon is caused by animal overgrazing and tree clearance,

constituting 35% @@0% respectively. Over-cultivation accounts for 28% of farmland
degradation. >§‘

TR EH, mmmst#ﬁét?z&;gamg: “R15”, XR Task | BEREMTFER
HSENBARRES, ﬁﬂ@ﬁ@éﬁﬂﬁﬁﬁﬂiﬂﬁ%m&lmﬁﬁm RMNESE
HEIPBRREN—RITR, .

x>
’J?f@(
oo M 3 A B ER o

REERVEIEFL X,
table gL
line graph “%E SFELKENHEE) ;
bar chart HAKE (thiyFEE)
pie chart BEKE
; process diagram ik

ELTSEHEXE—REEREAH, ERLEN “FHE" AHGHEASE (map), HEXHH
A TUEXFEHKE (ELTSEHARERNMESEXLM) FHEHXMPEX,

AXEAURYEBANZERMERRELSENMSE, MU XEEHHSE, et
LEFBXARLEN. FHEAREXHEI MHEABS.
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EWME (objectivity) -

HHBEREXFm iz S EEEETHLELH,. Qs CHERERNASK S,
"EEEAEMARNANEMHL" BTask 1 WEEEN, BI6ER 2R 3 BN 08z
MR, AR S BRAXSHEEER S, MEZREEENLGFAZEHSEN BY
(ESROBEBARINFEE LR,

AT (accuracy) -

TBEPHRE N ZAREBNE, —EFEHEIZ, i, SIS — 1 HER.
- M EAH B EFFSE— N AR LERE (540 500 =% 1000) B@ﬁﬁ RFEE
HTEENEN, %\m

btn, (817) 24 aﬁ*&@%

Lamb and chicken were eaten in sam&ﬁ@tmes ( around 150 grams), while much less

fish was consumed | just over 50 grams). %<’4 T\
T,

A
BR (8112) BHEHEXHE. % fé%fé\{

From 2003 to 2006, the percentage of people who never ate at a fégj'qogd restaurant fell by
1%, while the figure for people who ate fast food every day fell t0 about 3% of the
population.

BEETEXT4E (line graph) .

| B —

3000
2500
2000 4
1500 -

Harry’s annual sales of
hamburgers (1998)

1000 -
Jan  Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec

b
1148 February 8%, BT % 9 {3 2 IF 13 8 5 4 3 & 2000 HLIREEE, RINE

N . - ]’EITS*W'{“,”Q Tag T O e TRy S s
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3‘-535?5—4\*!%&?. ﬁﬁEﬁl’i&lfﬁﬁiﬂ!E }USI under 20000 @%R‘T:F MarCh, Bﬂ?
xR ABEEFF 2000 EELH T —BREE, RIUBW—T (around 1.800) (FF “KH"
BELIESE p. 179)

BAMERREFEBRILETINESERA LN "BTERE", BX L, Task 1 BE
FRR RN BEELARRELENEFS® " JXTEEL, BAHER, BHER
LEBHRBZIERE, Task 1 HEBEERRNBRNES BT ABEXERFEAFES,

@/m H&ﬁ: Task 1 IBEIRREARL) 0 o

BEiL. M*Eit.trkif’ﬁﬂ'l\ﬂ?)’(fﬁlﬁ’l HFRLEF. T, dramatically 3§ L£13:C
(HAMBLFHORELAEN, R p. 17?3; MRER ETREMERIAESIE, ENARESE
HEHEN HERS" 0 ERAL BMEJEFEE

1. {RETHESFESE? ’“’5?15
4 ;~§\
X—SEERRABAOHRT, RXEFIMETERRE.

(1) EEN—TEEEE2 1. WREBHRHT “km®" (8146 £—F). “grams”
(§I4F7 ) . “units” (SIHF7 LWE). “million tonnes” (&I#F 8 ME) _ “billions”
(GO E—F). “millions of euros (&I#F 10 E_F)". “metric tonnes (&IHF 11 £=
)", "% " (A 128EE) SEATHECHPIXEE, nRIAPYF. FHEL
RESHBFELEN,

i AAK R REPERFITERNR.

E*ﬁﬁliﬁﬁﬁqit‘iﬂmousaﬂds millions, billions X8 HER, {E
E%?ﬁ‘lﬂ&ﬁfiiﬂﬁiﬁéﬂ&{ﬁﬁ BARP NN EHER, s, Fltn. 2 mllllonn

V, 90 billion V&, R EES 2 millions X, 90 billions X BHEMNERER (1H:5£|:-§E100 |
MERERE, BHARSEXEXNEOMELER "BHE AN ),
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S#FSEB .
In two places sales increased by the same amount. 1.8 million to 2 million 8uros in
Denmark, and 0. 8 million to 1 million euros in Sweden.

(2) BENTREIANEBK LALZER T HEHOBY L FirH,

SR ( (4111) p.54)

You should spend about 20 minutes on this task.

The charts below show the proportions of British students at one university in England
who were able to speak other languages in addition to English, in 2000 and 2010.

T
% of British gﬁ@gg able to speak languages other than English, 2000

Other language(s) spoken

15 = B No other language

§ [ French only
: ﬁ: erman only
&

Dé'zhjgnlv

[] Another laﬁ% e

10 [[] Two other lan es

% of British Students able to speak languages other than English, 2010

15 10

Other language(s) spoken

No other language
French only

20
German only
Spanish only

Another language

O0EeoOcCm

Two other languages

35

Blao. (§111) p. 54 R X FEH speak other languages in addition to English, iX
A HE L AR 2 H & speak languages other than English Bt 2 &IFF AR “ X &" =t
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MBARERTE, TUEFLBRASHENER, Btbin, (8112) p. 71 HRKE L F 8945
£ the frequency of eating at fast food restaurants among people in the USA 7 5 F 3k ER Y,
SR "RE BHAXSHE, JUBHARERBERFEES how frequently
people in the USA ate in fast food restaurants, X4EFE AT LIARNBHA N BE
RARFREE " 43" (useful words) .

(3) BB HLANREAHT E, hEXLESTA, Hlto. (£18) p. 101 ZEEMHE
B £ 3% road f0 rail WP LEAWABX 71758, Eﬂ']ﬁ%%ﬁﬁif“%&ﬂ (1 thiF &
NARLBENEZECEETLN, EREXZHERS "HM1" REMRELE "FEN
BURTS, PR “BUX" NEESAERSERLEESBEALHALEE )

EXHEZA—KNENRRALTRRANE, ARESAEFNAANIM. U

AOHTELEEIE,
2. W&Eﬁ&ﬁﬁﬂﬁ%mﬁﬁ? B
EMETERNEM, #ﬁﬁ&%%iﬁuﬂﬁrm
B % f & ’%Qg\
kBt 51~2%4 X5 E# (paraphrase), ﬁ%&?ﬁx?fi
EREA

B FARBRS— A B EEE (overview), X AR

...... E1{4+ XA
X R RAS (deals), RKSELTH

ZRENE AN AEK otal ((BInRESHEH
AT H 45 S total, IPARXAEMAE, &, —
SE AN i R R P RS BUR SR A, oA RIBFE
HRE B1~24] B ELE . Task 1 HEEHRAES, BREEZHAE
). BoMRSE, nREFHEERNGE R, B4
AEEGN I X ENEEABRHTEEAHB LR
¥, ) "BRAXE", BRESELTY
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o B4 Task 1 /) 3 RhEESE o

FABRUNEE: XERE, 51~24 -
FABRRRRENSRE, SIFRHNEEEXLBLML,

HE (§7) Test4 &) Task 1 JEH.

The pie charts below show units of electricity production by fuel source in Australia
and France in 1980 and 2000.

B, EEANTXFLRRECRELMHSRT .

The pie charts compare the souftes, ot electncny in Australia and France in 1980 and
2000

M@ (1) wg— ﬁﬁg@@@g@@Auxmgifﬁg HEESHEHNAMLLEER
LEBHEY ﬁBﬁEﬁ:&Eﬁ%ﬁiﬁﬂﬁﬁTu}%!sarnpare F & show,

(2) REEM below — ALK AMAAMNE , XREEN, EHREEDEXN, HX

AERAREHNEME (Answer Sheet) £ 5, SHEHEXFMAOE KN HEK

( Question Paper) HAERE—3K4, Fr IR EK % T T £ below iF £ above
BE#T

BNBRBESHFLBRASREY, (818) Test4 & Task 1 REL .

The graph below shows the quantities of goods transported in the UK between 1974
and 2002 by four different modes of transport.

R, BRIFFRHENE AEXFARIEERSHT .

The graph ﬂ@j@ﬁ@ the quantities of goods transported in the United Kingdom by four different

modes of transport between 1974 and 2002.

Xtban, (§110) Test2 69 Task 1 HEIZ .
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The tables below give information about sales of Fairtrade-labelled coffee and
bananas in 1999 and 2004 in five European countries.

ZELXRLERESHHEMT .

The two tables compare sales data for Fairtrade coffee and bananas in 1999 and 2004, in

five nations of Europe.

MNEFRENFLRUASKAITUBRREH. FARVNNRFIIRELNFTAS, &
BR2~4MHELRFT, WR "FR" IBAARME "FB" LHENFEEHRNOT
AEo

RERMNEKEPEIUEALER, SELTHNLEBFARZERBE S —BOHE,
RELR—TABHLBRNEFT,

(X B AT EH 1)
You should spend about 20 minutes-on this task.

The table below shows the proportion of differenit categories of families living in poverty
in Australia in 1999.

Family type Proportion of people from cach household type living in poverty

single elderly person 6% (54,000)

elderly couple 4% (48,000)

single, no children 19% (359,000)

couple, no children 7% (211,000)

single parent 21% (232,000)

couple with children 12% (933,000)

all households 11% (1,837, 000)

S

(1) REAEH show TR lustrate, MEEAXNTREBESRE T 6 HREZE
BILERR, FRIAth ST IR B A b {E B compare SRR B show;, REELHNEE AL, L
proportion ( tEf) el IR percentage; WREFULEMPE), AL categories
(250) B kinds / types HIRE,
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(2) hic. REZKbelow EHTHSHLAME,

P BE. KEEZLWHRETS, BRWRERLERR (make comparisons) KA, HE

REHNOAMITS, ARBELTHNRELEEL,

@ # %85 A1 (single people) fak % (couples) th#k, HE T 4L FERBE Y $?
@ #% A (elderly people) & # [ t 17 2 % i £ 1%?
@ ERBETHREML, ARTHREARLAEFLEREERK?

HEEANTFEFRUMEXNSAREEERX, MA ELTS IMEXHLEBRABERF TS,
AERESANLERNBIRARRET, RNESENABREXERZRAEIHTHLES

HIEO ‘@%
Pat?ﬁ%:p%Task 1 EXREIXARRE

LA -

the UK | <> Brita @t’:‘e United Kingdom
R o : "-i‘@.. o B
. proportion ‘ <> | percentage . A,
: i i s/
information | <> data ({E# data thAEEMN s?& o
males T ¢:> men
females | <~ women f

| betu;éen (ﬂg;t) and (1), ﬁ% over a
;‘ period of ... years

from () to ()

.

| | underground railway system / underground train

subway system il < |
' system
~ store 7| PN rshop—__ TR e
the number of + - IRy e e T e e
! | : ,
A& EEOER <> | the figure for + ¥4 " 88 FOER ~l|
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the figure for + A~ 7] #4217 i) L HUE X

( A figure X MA A AFAL R . A{UHiE, MEHAEE
AT BT 04 0 3, T A BRR T3
ZiAH BN, FrIAEES 5 2 LI B RS X IR
N % i the number of i & /i i% Al the amount of

the amount of HyelgEatfa), (HEY)C.: 7 figure 5 H S HFACH
something + > fHAR forV, TiAR of X)
VACIE €T [:0): K 65

Bl4® 1: The figure for children under fifteen was
significantly ( £3&h) higher at 21. 6%.

B4 2: The figure for natural gas increased from
just under 2. 6 million units in 2000 to around 3.5
million units in 2006.

BT (5 %85 %05

You should spend about 20 minutes on this task.

The chart below shows the different levels of post-schaol qualifications in Australia and
the proportion of men and women who held them in 1999

Post-school qualifications in Australia according to gender (1999)

skilled vocational | ]
diploma ]

undergraduate ]
diploma ]

bachelor's I ]
- degree ]

postgraduate 1
diploma ]

[ females|
master’s 1 ] males
degree J

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

BME .
XIER B R X2 chart TTAI— P EFF MR bar chart; show TR lustrate (
ARS BRABMNEH Z B LEE, BFRIRM compare h 8T L) ; proportion B BL#R AL

percentage. men and women o] AR males and females
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PREBAREFARS N ERBENMGRANE, BmLFLE, SRE, 4K
BT R, AR2E/BREYE, B4 EAR ARy KB k2 CE o R?

MEBEBELHEY, 2XERIXTURECHERT., R AN E females
fomales HEEHR L X, SANERE, 27N FE LML anHE, 2 —#HHF
TR, ERBRFRA, PR THAHER R, EH skiled vocational diploma, -
postgraduate diploma # master's degree X = f ¥ 4 & BHFr Sy &, AT LT RL
EENKEER - EEHREANE, T undergraduate diploma F bachelor's degree iX #
REFBELBFENUAR, FULENAES P EZRBREANFLRAEY, X
BT RBEXTUEENLALTFNEENERARAE,

BT NEES CFEETIK))
You should spend about 20 mintites on this task.

The graph below shows the mmu@ﬁu-of fish and some different kinds of meat in the
UK between 1979 and 2004. '

Fish and meat consumption 5
300 1 |
ALY Chicken
a . \ . -
-3 \ ’, ‘\
E, 200 "u / 0y
iy o \ Beef
g 1504 - A
(-9 ~
o 100 - Lamb
€} s N
50 -“::‘::-‘-,M\‘;:‘Q_:_:__::' ) - )
S
Fish

0 T T T T
1979 1984 1989 1994 1999 2004

MBS
REAE B graph STRA0— 38 F AL line graph; show #AL ilustrate ( B F AL ¥
HUXFRFEHNRSOEE, Bt IR show A compare ) ; some different kinds of
meat ATUMEB=FHFEREKH “"HWEB" . beef, lamb and chicken
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?.E#:
EXNARE YT, AH/LELSAN1979 £2 2004 FHEERT AP EITH
H? AR RS EIN P ANEREAET R A

=Ez3

You should spend about 20 minutes on this task.

The graph below shows average carbon dioxide ( CO,) emissions per person in the
United kingdom , Sweden , Italy and Portugal between 1967 and 2007.

Average carbon dioxide (CO,) emissions per person, 1967-2007

12

™ 7
= -,

g 10— e
E ) - ~——_
8 L Y .
a8 Z
g / ~—-~ United Kingdom
e 6 = Sweden
i B
2 Portugal
§
o) 2
8 .
0

T T T T
1967 1977 1987 1997 2007

ERBNELFINTE, RORTUXSEATEHOER.

The line graph (G EEMBRBEH below) llustrates (BFEEBRIANREEROEIE,
- FrlA B compares t3f) average carbon dioxide (CO,) emissions per person in four
countries (#0%RE in four European countries thIE®%) over a period of 40 years.

OB,
EXWUAERE, FRABEXNEEERRHE AN PATEHBEZIHETHRN?
BAEBXRAOBERELATTH?

REFRME, SBRNMETNEXFAROUBEFZELR T —BLUHESNRKR, £
EETRIE—LEHYG, ABONTELSEXRNOTERERHE,

17
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EAB S 48 Beda s A iR 2 fe ks H5at AR — PITR

-7 OTD
(BREZHEINHEE, FIOBRER)
&) 13
TR _LF HFHiT
go up (went up, FSEMRiTEE)  increase (increased) |
# rise (rose) grow (grew) :

Hd, rise 0 increase XA MF T U{ENBEER,

|
|
$9h, ST EFHOBE LRI M TROBE" E T HEREE show an upward |
trend (& show a downward trend ,*ﬁ_i&. :

|

BlfI: In the UK sales grew from 1 millioh-euros to 5. 5 million euros. (3I&. ¥F/E
8 million ARRFFLE)

It is expected to remain at this level until 2030, ‘while the others should rise
slightly (fR/\IEEEHL) after 2025.

R~ T A3HIF

# decline (declined) (¥1ic. Fx& “FM" B decline 4 & =) i

+ fall (fell) drop (dropped)
decrease (decreased)
X-MFthEEITUEDLEFER,

Bil®): The cost of average homes in London dropped by around 6% between 1990
and 1995.

The figures fell steadily over the next ten years. (fell £ fall 8933 %8¢, 5838 fell
steadily & “ERHTHE")
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After slight increases, hydropower fell back to the 1980 figure. (g% fall back to
B "EEE---", |:.ﬁ?ﬁﬁﬁﬁiﬁﬁz!‘)&@ﬂ&ﬁﬁﬁﬁ#ﬂﬁ:aB'J‘?Eﬁfﬂ)

B#E BRI ERRMN - J:ﬂ (*"!Z%‘Ak ------ "FB@) F weeves ﬁﬂ‘)"rﬁ]ﬁ!ﬂ&ﬁiﬁﬁ from

o o BERURHFBRHURZNEAKENAYE, MREERBLFA (RNETR)
MIEERS D, BAXZABTMTER?

MRERBALARETRNEE, FREREANE by, ME., XA by REKKIBE
HEE, ENEERAFNHNFIET LI, BERBRHE,

. (i) Sales in Belgium grew from 0. 6 million euros to 4 million euros. (from ... to

ﬁﬁﬁ%ﬁﬁtﬁiﬁ?ﬁﬁﬂﬁﬁﬁ%  SMER S D)

(ii) Over theﬁws years, sales of mobile phones rose by about £ 26 billion.
(mmﬁmmﬁﬁmﬁjzxﬁmmﬁezy~ EXAKPIEE, by BEN
EQH&E—Aaﬁﬁﬁg

~ i) !‘/

(iii) Exports of goods fell by 1. é %"in the fourth quarter of 2015. ( #£X>SEH)
2E, by EHOEHEER— ﬁ%ﬁh
e L 0okl A S i L7 VI RTPIIR SO

xR~ EHNAFIE

* fluctuate (fluctuated) (¥Ni2. EAEEFEBHIER)

WAEER. fluctuate between.  and

#i41. During this period, the figure for chicken fluctuated between90 and75 pounds

per person per year.

REBEEE —KFNEES

# remain stable at
(REFH—REEF—RELTKENLE, EMBLIIZBTXMEIE)

# remain steady at ( E#0 remain stable at BR¥ H, Rig—MeBaTL)
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level off at (EX=MEBEMN at ZEHEMARENKIRETHL)

BIf: The figure for Australia remained stable at just over £ 260 billion between 2001
and 2011.

The figure for the UK remained steady at around £430 billion between 2000
and 2002.

RFEEHTERTULOFE (RAEBEFENENEER—TEAT)

* see (saw) * experience (experienced)
witness (witnessed)

$If): London saw a significantintiease in the number of visitors between 1985 and

1995.

The cost of furniture and equipment saw:an opposite trend (B E%E 1B see an
opposite trend HEER “SMHBARNBE").

The unemployment rate in the UK experienced a sharp/rige. from 2. 5% to 7%
between 1970 and 1980.

RRENLRE S NRIE

* peak (zhid) at... # reach its peak (41i3) at...
BRRMIEEN at CHRAKNBERET HHEFTL

| . After peaking at 90 billion minutes, local calls had fallen back to the 1995
figure by 2003.

REBEEES HEE
* reach its lowest point at fall to its lowest point at
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RRAE - RE LT HTHE

reach (Fx “&E" &4, ENTEEZ reached)

stand at (®xx “fLF" £, ENIT LR stood at)

O desh, BINGITMAREFEN  EHE- TRE EEBRRTENEIR
i xR Y E{E

RS2 VHENNE (2EHEIHENEAELH, LRE pie chat EREZFENRER)

* account for_ (accounted for) * make up (made up)

S,

: * represent ='('i;oé'_'ifaj"g_a_._sented) constitute (constituted)

#if); Office buildings accoumad for 36% of total energy consumption in 2007.

The cost of equipment repres:erned 23% of the school budget.

— La¥ AW N

FR A TR RS FOTRA B9F)iE _
* expect project
‘ * predict

! EE: Z=1HEPENMEXERERMED KA U, B, REEERARXNYT,
BRENME be NFNAER is E are W —MIMAEN LK, HEXH.

BEER. (EiF) is expected to /is projected to / is predicted to ... (FEEE |
R '

#i4/): Coal is predicted to increase steadily to 31 quadrillion units by 2030.

1 (HHEIE. SAXTMEERNLERNER, EbeHFANR s, MAR
will be)

The number of train users is expected to rise to reach almost 7 million by 2035.
(XTMEBEN be A ANtLAE is, AR will be)
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* double (iFZEfE doubled) (TERERXRNFER)

increase twofold ( TR EEHFEL)

B%: HRBPERF G increase twofold XM EFERISTRARNBREELER
BXNH=F, BLIEXPH. increase twofold EEX£MBERAERAETHEX
BYPfE, i increase threefold A 2 R FEMR KN =1F

* triple (£ & tripled) (TEMERFEMH=1)
Hilf. Sales in Switzerland doubled from 3 million euros to 6 million euros.

The use of mobilesphones Iripled between 1999 and 2002.

g o

w3 ;

TEAEENE RS ABRET A A ERAN DO EHXR

RE— T EPES— I EVNREIF =B ORE
* be twice as high (=(# long / fast / popular &) as ...
* be three times as high (=# long / fast / popular %) as ...

#If: In European countries, the average meat consumption was twice as high as

the global average.

WRESNE, HE, T three B#A four HE five EF T, B IELTS NMEXREEF
MAREHY, B =FNNeRIREBHRELT

i B

LER HEENSERRFANTEOEN 2 G0OEHEXR

R WRERT EATEORROBE", "EHTHEROREES", "LFERT
FENH=E" FEX, ETUMEA aimost doubled, more than doubled, was nearly
three times as high as = ZERARRIE
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RTBLEE T AERAET HaR

% is (RFare) consistently higher than ... tA%&EF ..
(I EBSHR is / are #AL was / were BITT)

* is (=& are) consistently lower than ... tA4£{EF------
(IFEBF YRR is / are #AY was / were ®HIF T )

Bl : Per capita ( A¥J#) health spending in Northern Ireland was consistently
higher than in England over the 30-year period (#EiX 30 fF8ijg]).

REFANEEL) HOD

b

The gap between ... and's;. narrows (i3#8. narrowed).

Miv(, "
Bifd: The gap between men's inGomes and women's incomes narrowed over the

25-year period.

EX @A The gap between ... and ... widensff;;f?ﬁisﬂjy: widened ) .

u Lo -

S~

~-
A SB
L

RTFEFEDL T, EEEXRED RV

exceed (iIFEER exceeded, EEHBRMAAAKNFHEE )

overtake (iF%Ef & overtook, ESEERLEBHTR)

#4|1: The consumption of chicken showed an upward trend, overtaking that of lamb
in 1980.

IMEXENHEBRAERAPHER. @ Mk, ARREHAENZHNRZIARNEHEXER,
® Xit, hRREHBEENBRARNFB/UZL, RNECENEXXABEEE
X EEFOKLERIF A

1
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s EEENEng s
For 2B AR
7 7* sharp | ;h:a:rsz;) : 7 g f;:\pit;ii(irapia;) -

* dramatic (dramatically)
#FSENRaEErS,

#l4Fl. There was a dramatic increase in mobile calls from 2 billion to 46 billion

minutes.

TR O EE

» steady (steadily) 5 consistent ( consistently )

« gradual (gradually) |

B4 consistently ®& "HEh (LARETHR) " SRIBRERSHBETE
i gradually / steadily MI@%HE B (EFARETHE).

#i|) . Coal is predicted to increase steadily (### FF) to 33 quadrillion units in
‘ 2035.

Spending on landline phones is expected to fall steadily over the 20-year
period.

#75: WREA i RENES @, # IELTS MEXERERNBRESNE continueo

RTEEN. KiEEF OEEFRE

+* significant ( significantly) noticeable ( noticeably)

considerable ( considerably)
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$if): The consumption of fish increased significantly from 58 pounds to around 80
pounds per person per year between 1970 and 1980.

This rise was particularly noticeable between 1999 and 2002.

FrREE OEFE

* slight (slightly)
#l|. This figure is expected to rise slightly to 9.1% by 2030.

The increase was slightly larger in Belgium, from 1 million euros to 1. 7 million
euros.

HE: % IELTS fEXEREM a bit larger X8 OB LFRIA

FTrA e 89iET

* about + around
* just over (B&ZT) * just under (B&/F)

approximately (X MANHEET—EHh&EM, FIRETH pp X B IMIBERES
#, nRBCHLMCA, TUFITFIC)

#i®: In 1960 the proportion of people aged 65 and over stood at (fiZF) around
8% in Sweden.

The figure for people who ate fast food every day fell to about 3%.

x4 3 HEhE

respectively ( HERENEZEHEFNEE)

#i%: Inthe UK and Belgium, sales grew from 1 million to 5. 5 million euros and from

0. 6 million to 4 million euros respectively .
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SAZHIERSNBPEBERTRE, BF. FH. TROEGIEESSR
EHERm, BENEKRT "&H. " "REE " LTt "BRME" % Task 1 @HED
REANESCAFENFEERS B, FREE/NMEXE R ERRMAER account for /
represent / make up, remain stable at, stand at (stood at), significantly, is expected to
/ is predicted to, peak at, consistently higher $EI##biEE&4EX “4" 6938,

" rhBNEE. S1+X4, £10E8EMEER (overview)
B X AZIAF N BZER MR ESIE (details) -

= (1) EERE 1 AENEZE

43&\

mﬁuﬁ@xmﬁmgg NPEXTMHFBENEENRAFEL —BH TRl
9:@"$1$E§E#J%1Ev§ vﬁgv&w] HENESHA, RERFEERNSMEXTH
B%E 1 eNEHEERE ::t%ﬁi;

ﬁﬂ%ﬂﬁﬁﬁiﬁ’{i?ﬁﬁﬁﬁ%'—aiﬁkfx‘é \“‘1@1&] BREEXREPLBETERRAEA

ESBEE. g
TR,

D WREBHEHFERH RS (P, FEETANHES - AEHAH. TR MR
E-XENARNES), BAZBLEBT H5H, THBNRSTRTL. O BB
MWRATSES (RRALF. BHATH. EHERERRTR), 2% O BEZALIOH
—KBIBE BT A& X BUE

@ NRBHERGEN GRS, BAZBURBTHAE, 245 “ThBB", FNE
HROBEOHRTL, O BEZELOSWLLNE, 2F O HERALIHH—XNR
Bk AT 2o B XBIE,

(ZhZEEe B H 6 KF)

You should spend about 20 minutes on this task.

The tables below give information about sales of Fairtrade-labelled coffee and bananas
in 1999 and 2004 in five European countries.
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Sales of Fairtrade-labelled coffee and bananas (1999 & 2004)

Coffee 1999 2004
( millions of euros) ( millions of euros)
the UK 1.5 20
Switzerland 3 6
Denmark 1.8 2
Belgium 1 ( 1B 4
Sweden 0.8 1
1999 2004
R (millions of euros) | (millions of euros)
‘Switzerland 15 47
the UK 1 5.5
Belgium 0.6 B
Sweden b 1.8 1
Denmark TV 0.9

FABXSRENRNKFECREERS, EHEINFLRREXRES T RE.

The two tables show sales data for Fairtrade coffee and bananas 1:1999 and 2004 in five

nations of Europe.

BINBRBEFLEXREHSEHRNE 1 41,

AMEHE— N RBRHE T 1999 F70 2004 EXFENNGHBEE, BFHEHEEH
BEEk, RFH4E, NESENELARHBE LFN, FUEEHIEXEE— 1264
R 1 AERBE T X BB ENBIBR AT AR

The first table( %&#&) shows that coffee sales increased in all five countries.

EEE et GES TERBES

ZUEMNE T REVMT 1999 FF02004 FNFREBEE, LB F S E, Hep
Switzerland, the UK #0 Belgium = E X & %ER LF 4, f Sweden F1 Denmark # E )
BIER TR, AUE-ITTARBRNBEGURMBEXIRLXBRNELBE ORTUN, B
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BT RBEF P EWURNRER Switzerland W EREBREEFSHUIAER, Frid
EAEXE-NTUBRNREORSRETHEBR I BROKEEG S THbEEHKIE.

We can see from the second table that Switzerland bought far more bananas than the other

four countries. (RTMUXNFRYEBTEZZSTFIZITIER)

Xtetn, p. 170 GIBRA B NMBIEA (chicken) # 25 FENTLEENTARBREBEOR
BAL.

We can see from the line graph that the consumption of chicken showed an upward trend

between 1979 and 2004. (BEARHEE, FIUBEORBMIERENT L. tF)

i 48 iR 53 9?‘_:..*1“&':.:#]% TERRAEESEXENRIRMITRES.

The popularity of beef flsh decreased over the 25-year period. (REHEsH1AME,
Fr A IS BN T

t#pzBWWE+ﬂEEm%Iﬁﬁ§ﬁEtH@EQ RF95E, MELRNS
BERERYSETERNEE Ao, Wuﬁnﬂ§§¥ﬁ%bm&ﬁﬂ

¥ .-
It is clear from the line graph that the daily demand for el%? in England is_significantly
higher in the winter than in the summer. }S?\

¥

EEN 1 FoAmaR e BY (FPaAB), ThBROBESH (overview)
TR B LRI A KA, & TN E M KM T
CEEHIE,

/OBE: TEXAER - NFEHAELHERENIARE 1 45, ARAREHNE
EXRE, BANEXINEREENAZPEANAAX?2HMHL?

It is clear from the bar chart that between 1955 and 1975. beef was the most popular

meat in the UK.

PETHTENETERE 1 9EFTUARRER, RNEXEEFSHaTLoBY
(BEE) BRSXHBRNRES,
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SN (vrEsmEa5E)

You should spend about 20 minutes on this task.

The pie chart below shows the main reasons why agricultural land becomes less
productive. The table shows how these causes affected three regions during the 1990s.

Causes of worldwide land degradation

deforestation

over-grazing

over-cultivation

Causes of land degradation by region

s
Region %m% by...
deforestation over-cultivation oversgrazing Total land degraded
North America 0.2 3.3 1.9 5%
Europe 9.8 T 5.5 23%
Oceania 1.7 0 11.3 13%

FENXBE I EHFEEEEL, BTRABNHEHE, 2R "_B’éﬂ:ﬁﬁ'“ gyEl’l, Pl
EEREONRIERBRETLEET,

SIFREXEGE (pie chart) HRECRXHRMBEN.

The pie chart shows that there are four main causes of farmland becoming degraded in the
world today.

BFXIHEEREREEL, FUREORETHREINMHESHOELIE, XRET
BSEAREONERERZ—

MY NMBAMELNRE (table) B, EFEXUIFRB|IFBEEHNRE.
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The table shows that Europe had the highest proportion of degraded land among the three
regions in the 1990s. (R E L. The table shows that Europe had a significantly
higher proportion of degraded land than Oceania and North America in the 1990s.
2

BREOMBETRBENB—XEENBEALXEREEEYN, XRSBRSBREONS —
R AERE,

BN A TR4w AT BY ($458) £, THRARES (overview) T |
A B AL ASMILEKIE, LTRSS KIEBRHEON—LHBEEXEA LS T
AESEHE,

A% HEE R CBSE",FREACNNREAS N ZMEHL, RSHEE
BREREONERER, rﬁ«ﬂf%jﬁ,ﬁﬁfﬁ zn fo ",

r’i
M \\

- (2) SIFEHEE 1 A2ZFH “X g%

FEHEERNEME1 +X, £1 Eﬁﬁtﬂféfﬂﬂﬁkﬁ% (ove&w\). “Xa" WEn
BRKKIE (details)

EBFHER ‘X9 BNI=XLE

L1 SRTEDEBEANENOIESF RNMBEE, HF/N4FHEESTEHARS,

EXBHEXF, BEH Bit" BBEREFISEHABRIBEVEL.R, 4% Task 1
REXNBENE, '

W REHLALAMEEN (FFHAE), A2 HEREE @0 F A8 R
Wr; e R—AEHEEANEEL (FPBRESE), F2#AEBLSIELESABHR
18 % Ao,

ET—TE, HNBBEIXOIRFBERSENIAF M BHEIEOLEE X,
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L2 dTEtNNEHR, REENAFNMBRFHAFIERE—EE "HEX"
AELHEF,

EEN (814) ~ (8112) EdaFFRHO Task 1 BXEX—FI5MLE “RHE" T—
SERENT, BRAME THERETE “HKFR",

NREBEHMAMMA “BXLRR" 67 ERHERE

2 A RZEZALAMAEA (HAHE) RHTELA

% Mo, BLE

| Bfetas  RESRRENABALSLRET “FLER —ZERL

% 0 L REBHLRALKRIRLA, RAHRELAREEA |
BN ST, FUWRTHRS $HBAR RS \

B GERAMARME, EMETRSHEHELA, KRN
M R (P

|% # wREBLABALL4F (the same) %4 & ¥4 ik
‘ (almost the same) #9145, 4t # B4R 26545 4e 048

633 wRBEIHANBBEZAALEAZHBEXE (Hld. BE
RAEZ4E), AL, EARVROBARXENRLITE,
FEFREREARALEILE (make comparisons) “&iR”

B, MFEREE, RNEEHEOTRRUR. (1) EFRREBOMFENS,
(2) HEBBEXETR, (3) MTHEBFELRE, ABEHEAFNITRTRESNE
HRET,

£33 EpARB R table, line graph, bar chart #i pie chart &3 X8,
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s RASE (table) 3THI G
FlAN ~ BT+ =

CIHBIA (table # A6 M 2 kB 5 E4])

BNAEXRBEENNBIE p. 181 NNHAEFRHESRNRE, UNEERFEEENE
— 4 table 4.

We can see from the second table that Switzerland bought far more bananas than
the other four countries (X —B ¥ 1 A BMEP - X BEAE L FHEUNE X HKE).
(Fegdt NS E@F M “X ") Swiss sales figures rose sharply from 15 to 47 million
euros across these five years, while (&L FIR) in the UK and Belgium sales only
grew from 1 to 5. 5 million euros and from 0. 6 to 4 million euros respectively. Sweden
and Denmark showegd a different pattern (2 & H 8. BRI H F E &4 4E), with falls in
banana sales from 1. 8%t04. million euros and 2 to 0. 9 million euros. ( “X 4" x5 A E
FHHBRERLARS HREURD AP UHANRAFRAEFNE, FREATEY
LB ER, MEABETRENEER)

table (FHH) HEFBXE—MBIERENHEFIE, NS BRE SRR
£ o, |
EGRERS Ik PRI MR, F LR R
(FE#ic, CHmBHPET) O/

« It is clear from the (X the EEMMAZEAY2E!, tb1n table / line graph / bar
chart / pie chart) that ... (;&. #Ethat IEGESIHANGZ B FEMNES, T
ﬁ!ﬁﬁﬁi*ﬂbﬁﬂﬂtﬁtﬂ TESHED, TURRT —#, ﬁﬁﬂﬁ%ﬁ?ﬂﬁ' )

« We can see from the (ZEHEE) that (E’Mhat FEH#TS&MJ@E)

» It can be seen from the [ﬁﬁﬂ’lﬁﬂ) that (X that Eﬁﬁﬁxﬁuflﬂﬁ%)

* The (ﬁ@&‘]iﬂ!] shows that (that EHXERFHRES) .

RINBERE—TEEHMN table MEKREF X,

ESETTRE (table #0438 & 4% 4 841)
You should spend about 20 minutes on this task.

The tables below give information about the per capita ( A$]87) beer and fruit juice
consumption in different countries.
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Beer Fruit juice
Country  Amounts ||  Country Amount x
Belgium [ 98 litres Canada . 5_2_6 Ilt—re: s
Germany . 119 litres Denmark 3;; Tltr; N
United States ‘ 85 litres 10 Unitec;_Ki-ngd;m 2_9 _:_a_l'rtr;é_“
Ireland . 155 litres United States , 42. 8 litres
Den;na;rk . 98 litres Gerr;'lany : 38. 6 litres
United Kingdom i 97ltes | | lIreland | 28.1litres
Canada ] 80 litres Belgium I 2;. ;iués \

* Litres per person per year

S

XEFERCEERA, RIXARKER, BRINAERERUENS I ENSERFRTAB
BAERIE, HRESERMRT T, RINEBFNHEXNFLRFE— 1 table HEEHERE
BHEH,

FABYREAT.

The tables show data about the amount of beer and fruit juice consumed per person per
year in seven countries. “

FHE .

It is clear from the first table that (iX 2 F# 5i& %) beer s more popularin Ireland than
in the other six countries (Z&Z#EZ— I HAE, FUEEEREAREAMELT LAY,
MERMETERZHOAHEEHRLHXEANEEXRBES). Germany has the second
highest per capita beer consumption of the seven countries (119 litres per year) (  #,
XEHS table EXENFHE —FIETHEERLELBEAFTARKSEFENMEY, &8
MBI FLBERAHRANEHR). The figures for Belgium and Denmark are the
same (98 litres per person per year) (R EFHEHAFN T2 HERFEWFEAH
B, #HEE “EH”), while (%) the per capita beer consumption in the UK is
slightly lower (97 litres per person per year). The figures for the US and Canada (85
and 80 litres per person per year respectively) are significantly lower (2t t: B EMET)
than those for the European countries.

TR, RIERNTFHEERN table M, FWiAFNSEOEROELTENMBNI
BEEEmEHA,
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TEHRNBEE—H7 2 table MEXNEEHBREZX.

ST (1able AMMEKET 2 %H)

You should spend about 20 minutes on this task.

The table below gives information about the underground railway systems in six cities.

Underground Railway Systems
year
City Date opened Kilometres of route T-;:: )

London 1863 394 775
Paris 1900 199 1191
Tokyo & 1927 155 1927
Washington DC 1976 126 144
Kyoto 19814, 11 45

Los Angeles 20017 <, 7%, 28 50

B L 2
EARUNAHT MEXRRBRBLIOFBNE SBRKEASEIXOREARK
ERAFNBN.

BARE-INB2NBIE.

London has the oldest underground railway systems among the six cities (% — 7| 2 @&
% “#" ). It was opened in the year 1863, and it is almost 150 years old. Paris is
the second oldest (#% M F/4), which was opened in the year 1900. This was followed
oy the opening of the railway systems in Tokyo, Washington DC and Kyoto ( & F # 1 %
Z, FUGER AR TEL LS ERHMEHIE). Los Angeles has 1he newest underground
railway system, which was only opened in the year 2001. (X —7| E@eh& “#H" 4,
REBELTEES)

7 AKENOFRRAELAAKENOFRIR— L, BESBHFNEL ELRXAH
WL R B RATY,

TRE I BHEIE.

London has the Iarges! underground railway system (Z#| 2 & 89 % A f4). It has 394
kilometres of route, which is about twice as large as ( “k4HF", IHHAD B R £
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%) the system in Paris (199 kilometres of route). By contrast ( &t tk), Kyoto has the
smallest system, with only 11 kilometres of route (4 EH F6t, SIHREFRLAFE
BAGEHERE, EXTRERENLAFFNME).

TENMBE=FENEIE.

Interestingly, Tokyo, which only has 155 kilometres of route, serves the most
passengers per year, at 1927 million passengers (/4 4% 2@ &% A{€). The system
in Paris has the second largest number of passengers (#% Mi 5 /4 ), at 1191 million
passengers per year. The smallest underground railway system, Kyoto, serves the
smallest number of passengers per year( only 45 million) .

R THTEE, hEEERBLARENHIF#HETTIVENEE, BENTHEEETEEH
BEBHERT . S5 EOE “Interestingly” MRH T RROBKBELREGENRETRS
@i@ﬁ"’ﬁﬁﬁﬂﬂ%‘a "

Tasmgqus&ﬁﬂm&#ﬂl TRYEONERPE, 7, YHBROLE
EZBAE BREGERTER ﬁ@#ﬁo EBRNRAEEFSENHFNELSHLER, B
O RUL table AL ES/R “ER",

(table ZARB %5 iEH])

You should spend about 20 minutes on this task.

The table below shows changes in the numbers of residents cycling to work in different
areas of the UK between 2001 and 2011.

Area 2001 2011 Percentage Change ( % )
Inner London 43, 494 106, 219 144
Brighton and Hove 3,168 6, 635 109
Bristol 8, 108 15, 768 94
Manchester 4,610 8, 426 83
Newcastle upon Tyne 1,781 3,223 81
Sheffield 2, 365 4,267 80
Cardiff 3,514 5, 791 65
Gateshead 816 1,314 61
Exeter 2, 304 3, 542 54
Leeds 4,189 6, 237 49
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(&%)
Area 2001 2011 Percentage Change ( %)
Liverpool 2, 686 3,970 48
Outer London 33, 836 49, 070 45
S

REFBABEE TR TR G N AOKE, 0T 12 MbEOKEBIR, ¥#
BE#fTESMIEE, REFXE table BEERATERS, dTX 12 MoX N TLBAEE
ZLEF, FUTEEEF EAOBRAOEFT TROBRER 12 MEX #1752, BFAMR
FF/ . inner London, Bristol # outer London iX 3 MR E FHABEEZFH 49
M, FIAESEXRER TR 3 MR BHER— T TRRENR, MIBAKERLHR
EHXBEZ—TETERRENE, IEFNERXEHE, MELEXMERE 7 EEEER,

E Y

It is clear from the table that the figliré for, cycling commuters increased significantly in
each area between 2001 and 2011 (B THERHE N ENL, FUE1 HXBTHEE
ey & &%), Inner London had the most cycling commuters in both years ( “ x” 4
NERGBFHRMARERATAMY S, RFMWHHHF L), In 2001, 43,494
residents of inner London cycled to work. This figure increase@tto 106, 219 in 2011 (a
144% increase) , which was much higher than (. %. ¥ & # # ) the percentage
increase in the other areas. Over the same period, the number of cycling commuters in
Bristol increased from 8, 108 to 15,768 (an increase of 94% ). By contrast ( %),
although outer London had the second largest number of people who cycled to work in
each year (33,836 in 2001 and 49, 070 in 2011), its percentage increase was the
lowest of the twelve areas (45% ) (#HHK BN R/|ME, 4B LS T —LEBREHT).

EEER 2.

The other nine areas all had fewer than 10 thousand people cycling to work in 2001 and
in 2011, but they also saw a significant increase in the number of cycling commuters
over the 10-year period (LB # & FH X 5| FotaH E ey 24 ). The area of Brighton
and Hove saw (he biggest percentage change of these nine areas (109% ). The
numbers of cycling commuters in Gateshead (816 in 2001 and 1, 314 in 2011) were
the lowest of all the areas shown in the table (*t T &HEHE, FELRHAER “T@
mERE").
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BAERNFERBIE ine graph W EARBUERREGFERN . HB/T.

m (line graph & E £4k& 8 9 %4))

You should spend about 20 minutes on this task.

The graph below shows the number of people at a London underground station from
6:00 to 16: 00 on a typical day in August 2010.

400

3

g

//\V/’" *\¥

Number of people at a London
underground station
o 8

S &

N

R

~

S & & § \‘5@' “\\-SP ; ,@}9 \.,5@
. AN
ENGEEFEENETY, FUREORTUREBENRRAER (K), BRES
BEY "X 46" FHERFRTBEEN, MEXTES, BLED, BENEHS, &
£, BRENTFHHEKRBRABELNMBHTYNU, FRER "HEBRE".

It is clear from the line graph that the number of people using this station fluctuated
significantly over the 10 hours. (B FEH#AE, FUF 1 AL BMBRENERR LR
#. EFHHKF) At6 am the number of people in the station stood at (fiLF-..... ) 100
(#4EL. £4). The figure rose dramatically over the next two hours (/4% B & % 1L
#P. REMLEA), peaking at 400 ($FE L. HiEM) at 8 am. After that, the figure
dropped rapidly (M BER B &% . REH T M) , reaching 180 (FFEXK: WA EH &K
%) at 10 am. The number of people using the station increased between 10 o'clock and
12 o'clock, reaching 280 at midday . The figure then remained stable at just under 300
people (NEHREH AP, AE, TEAEFELFELHKERLKFERM) over the
following two hours. After that, the number of people in the station declined again,
reaching its lowest point of 90 (4#4E & . R1K{E) at4 pm.
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FEREAEH—RE, FURREXHEENHESNBLERNERSHESHY, BE,
HTEEFFLE—RENEE, RINMLNEERERIFERET EBTRRN TAUIMEX,

-l‘&' VIl (line graph & B /K8 8 £ 5#])
You should spend about 20 minutes on this task.

The graph and table below give information about water use worldwide and water

consumption in two different countries.

Global water use by sector

3,000 4 Agricultural use
2,000 4. _
E Industrial use
1,000 1
Domestic use
(jni=sss =z _."‘_-'.

T T T — T - g T T T =
1900 1910 1920 1930 1940 1950 1960:1970 1980 1990 2000

Water consumption in Brazil and Congo in 2000

Brazil 176 million 26,500 km? w359 m?
Congo 5. 2 million 100 km? g8 m?

XERMERFLE (line graph), XERE (table) , MENBLBEIEN "EXE
4", RETHERSHE Task 1 TR, FFULE line graph Hﬁ&ﬁ_ﬁfﬁuﬁ\ﬁﬁwﬁi@
ESHBEREREET.

FHER 1,

It is clear from the line graph that the quantities of water used for agricultural, industrial
and domestic purposes all increased between 1900 and 2000 (B FE#HAE, FFul % 1
AHEETHEEKN E/LZY) In 1900, around 500km® of water was used for
agricultural purposes worldwide, while (& A B4 4 F 5E& % k) the figures for
industrial consumption and domestic water consumption stood at (stand at 853t £ 8. £
Froeenns ) only around 100km®. By 2000 (by + Bf El% 7T “# ZiXx/Et[E"), global water
use for agriculture had risen to around 3000km?. By contrast, global industrial water
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use had increased t0 around half that amount (tt¥: MK ZRVAKEH —F £ 4)
and domestic consumption had only reached around 500km®.

BINBXEFEAENESHERENANR,

! (%M line graph Z4REH S EH)

You should spend about 20 minutes on this task.

The graph compares the rate of smoking among men and women between the years 1960

and 2000.
Per 1,000 people
700
v
300 "'_"_‘:1\\%
200 ‘; oo
o0
|960 1965 1970 1975 49&} |935 1990 1995 2000
mdmﬁumm
-o— Men - Women
S

X EEEARS, NAKENHFEE ‘BEAWE", AERR RSB ERER
gT, SNRETRELRA "HE" AR ESNE,

RNEE—TEEHIEXRNASEXHERABTUNXIETEREN (BBERABREL
AE), X%E L AHREEHPer 1, 000 people # & every 1, 000 people &R,

It is clear from the line graph that the rate of smoking among women was consistently
lower than (#F41&-F) the rate for men, but the gap between them gradually narrowed
over the 40-year period (EE4A A EZE, FFUE 1 AXBTHEEGAS. LERY
WAHERTEER, BEAXOFEFZFZFNEZEZRAN%E D). In 1960, the rate of
smoking among women was very low, at only 80 in every 1, 000 women (#E&: £4).
By 1972 (# % 1972 4 ) this figure had increased steadily to 320 per 1, 000 women ( ¥
B . H4& LA) . The rate of female smokers then remained stable at ( #%E F
------ ) around 320 per 1, 000 until 1984, at which point the figure began to decline (4F4E
&: BESEIN A, reaching 200 per 1,000 women by 2000 (#FFE&: #5).
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sy AEYRE (bar chart) 3LfB) i
15 R+ 5 ~F B+

Vil abadl (bar chart BKE FARE8 45 F4)

You should spend about 20 minutes on this task.

The chart below shows the main reasons for study among students of different age
groups.

Reasons for study according to age of student

e
60
50
40
30
20
10

0 4

O For career
O For interest

under26  26-20  30-39  40-49 ~ gver49
Age ~ 1

ST,

XIEREEH study for career 0 study for interest R, MABBTFFER, THUEE
— P EEER, R bar chart EWMFEEN EE B, B4 5L BME B4 698 8 If 5k #R7
ERBHN, BHIIEIRS MEXERNBFTHENBENTBE, NURBYs
= IE- -

FEEHER 1 ( KERMB study for career HF RV BEES I ABFREHBT L)

The bar chart shows that there is a gradual decrease in study for career reasons with age
(BAZEEHAFREL, FURENRB THEEGSS. EHTH). Around 80% of
students aged under 26 study for their career (% 4E &. £ & ). This percentage
consistently declines as students get older (A 2 th R L # % . #4£TH). Only 40% of
students aged between 40 and 49 and 18% of students aged over 49 study for career
reasons (R E, #EE. 26-29 ¥ F3I0-9 I XFNEREEAMTHHERLEN
£57).
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FEHEER? (FEEXBRNA study for interest B FHBEINABFFSN BT L)

By contrast (#ttk), study for interest increases with age (% 1 AMFEEEKEH . MFH
& & ). Only 10% of students aged under 26 study out of interest (4F4E&: £4).
This percentage increases steadily as students get older (A Bty & k&% . HELA).
The proportion of students in the 40 - 49 age group who study for interest is the same as
(%, H#HE 8 #IE) the figure for those who study for career (around 40% ). However,
70% of students aged over 49 (## F1E & %1k &) study for interest, while ( *fi)
only 18% study for career reasons in this age group.

% study for interest (M B WIAF], FieER T, RREBHMFHEEL LR, &
wumnﬁammggﬁmmﬁxo
LAY
big++ RO chﬁf@@miwm 2 %4)
F 4 f'\%
You should spend about 20 minutes q task.

A
The chart below shows the amount of I%surg;@me enjoyed by men and women of

different employment status in March , 2002. & fg{}\

3
Amount of Leisure Time %‘é
% r
80
70 -
60 F
gso 3
‘n -
30
20 F
10 |
0
Employed Employed Unemployed Retired Housewives
full-time part-tim

O Males [ Females |




_f;/'_,,y N/

2
SEELEREAN, NZEZEERSEUSTER, RNTUERNXLEM "EE
k" eAEE T K0

FHEMRXS BRTIUEH. S4B (employed part-time 0 housewives) RIgH#t T
TUHNEE, MSEREEMNERE, REN=ZEEERBEENTR, RUTUIRXHER
BROBRAERBEE—ITERREXRNE, HEBI=ZERES— T TEHRRENB, ENEBR
Ze¥Fe, BFXMEREEEHEHN E T L, FNEBREEMAKRI/NREFNEE
B8,

FIEER 1.

We can see from thé%ﬁ’ art that in the employed full-time, unemployed and retired
groups, men enjoyed more time than women ( & 2 & & H A et B &K b, FFLLK
FEEERENHRABTR=4 %@&é@ﬁ:rﬂ BEESXANEE Y BERE) . (#
AN&@F “X 4") The men in the unemp@@ _g\roup enjoyed the most leisure time (85
hours), while (i) the women in this group @Rly had 75 hours (& FEBAE,
URHHFIE, BLFRERKEATHEN S HEA T AN 0 %FL). In the
group of retirees, males had 83 hours of leisure time, whé@'g!\s\( *t i) females had 75
hours. The difference between the figures for males and females X\:@ group (8 hours)
was the smallest of these three groups (HL%; #FHEX -4 EHN EMPLHNBELIE
# /) #7). Women who were employed on a full-time basis had the least leisure time (38
hours) (k% &t [E &> & —4). By contrast (#fH.), men who worked full-time had 48
hours of leisure time.

FER 2,

Only the figures for women are given for the groups of part-time employees and
housewives, which show that female part-time workers and housewives had 39 and 52

hours of leisure time respectively.

REFDESFFAXLETHTERREALLN “EERBY S TEE, AEES I TERE
FErg b AT B F S E M EN S ERNERF T REF" HRERE,

BF bar chart AR EASBERMEEE “SRHE", FFlY bar chart BB EHITES
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BRKXES MA", BREAERBAENONUFHEHTISY R, HHM bar chart
TURRSRE, WE FEXERE LR AN EE.

SETERIN (bar chart KE 8 4 %41)
You should spend about 20 minutes on this task.

The charts below give information about US marriage and divorce rates between 1970
and 2000, and the marital status of adult Americans in two of the years.

Number of marriages and divorces in the US,

1970-2000
3
TR
g . i« i [0J Marriages
g3 B I Je BT | [ Divorces
E | - ; Ak :
os 1l -8 |l
0 . T — - T -_ ¥ &..‘ T -
1970 1980 1990 _ 2000
Marital status of adult Americans, 1970 and 2000
70
= 60
- :g ' 1970
g 30 012000
gzu
|o-—1
0 ] ~ r B i = |
Never Marned Widowed Divorced
married

S
Task 1 MMEXMNARRERESEMARENE, FTEAREEXFL "H&e", B
AERTERENBYRNAFRET, REEF2HALKRNB/E,

EERE 1.
It is clear from the first bar chart that the marriage rate in the US was significantly higher
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than the divorce rate over the 30-year period (# 1| A& A EX K \HTEEKG L&, w
REMKTREREHHT L, # LW E 3 p.180). The number of marriages remained
stableat (AR #EH. #FF) 2.5 million (£ F # 5 milions) between 1970 and
1980, while ( i %) the figure for divorces increased (A B & ##. E#) from 1
million to 1. 4 million over the same period. The number of marriages then gradually fell
to 2 million over the following twenty years (A E#y#% . ZH TH, FE4FH L% T
1990 F ey EHE, FFE “WEHRZ"). Similarly (Fbk, #HHRAMAES), the
figure for divorces also showed a downward trend , reaching 1. 1 million in 1990 and 1
million in 2000.

FEHER? .

The second bar chart’shows that married people accounted for ( & -« ) the largest
proportion of the Americah adult population in both 1970 and 2000 (70% and 59%
respectively) (% 1 A ## T Eﬁ%&’ﬁ — % ¥ E R/ AM). The percentage of adult
Americans who were never married wasM% in 1970 and it increased to 20% in 2000
(MBFE =S8, &FH/FH— %2 %M By contrast (xtH), people who were
widowed represented ( ff «-eee- ) 8% of the US adu’lf, jpopulation in 1970 and the figure
declined to 6% in 2000. It is particularly noticeable that-{/& i {4 & + # #7 &) although
divorced people only constituted ( & ------ ) 2% of the adﬁlt'bdpulﬁation of the US in
1970, in 2000 the figure was 9% (a 4.5 times increase) . 7

bar chart ¥ EMRE, EENEEKNEAX L EHATE R XL HH bar chart &
EEME T,

IMEXREZERF LR “BWHIL" RFE bar chart, IIREHEENELLBRTEBEIE
WITNE—F (HEAZEKNEFF-—SRIEF/ANELESNEE @, BIELNEK
EEHLEYPHIANARATS) .

- “HE" E@

You should spend about 20 minutes on this task.

The chart below shows the total number of minutes (in billions) of telephone calls
in the UK, divided into three types, from 1995 — 2002.
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UK telephone calls, by category, 1995-2002
Call type: [[] Local-fixed line
[[] National and international—fixed line
[ Mobiles (all calls)

Minutes (billion)

n99 1996 1997 1998 1999 2000 00] 2002
iﬂiM£AT% b&ﬁi#ti@&&&ﬂz F|—F B, AAT
feis a4 g b Lam&é?% ﬁﬂ%##iﬂ

A EARZT@iEEG, &mﬂﬂruiﬂu&{s “ORAT HEHEZRFEHRA =R
## (local fixed line calls, national and international fixed line calls #= mobile
calls), £ATAMGRMHE— LK, #NE-NEKE, F—ROBH
QAT LA R, RERIHIESE B ARS T, BT 48 AN
RTARAR R AS,

bar chart EREH S EH

The bar chart shows the time spent by UK residents on three different types of telephone
calls between 1995 and 2002.

Local fixed line calls (AR E@HERFE— LA K. BEFTE6)43E) were the highest
throughout the period, rising from 72 (70 A B E &L s L47h, 72 A EAFFTARM SR
#454k) billion minutes in 1995 (4$4E4 . #£4) to just under (B&{E-F) 90 billion in 1998.
After peaking at 90 billion (#F{E&. &®&m) the following year, these calls had fallen back
to the 1995 figure by 2002 (4FfE&. £2).
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National and international fixed line calls (A&AERE =%, B AL EFFE L & 569 48)
grew steadily from 38 billionto 61 billion at the end of the period, though the growth slowed
over the last two years ( AMBHIESFotFieAi Y ).

There was a dramatic increase in mobile calls (#BR#¥ = %£. FHuill # &4 4&) from 2
billion to 46 billion minutes. This rise was particularly noticeable between 1999 and 2002,
during which time the use of mobile phones tripled (4§ 8] 2 6943 # % £ . 2002 45 F 4
WEFEAAT 1999 49 =48).

To sum up, although local fixed line calls were still the most popular in 2002, the gap
between the three categories (2£5!) had narrowed significantly over the second half of the
period (A4 : UK RIZ M eh £ 36455 ¥ M Rk D).

S

HMERFEN, E%ﬂ% FRMUARERBFEMBRAT A 2XR,
%a
S E (plé?@na\rt) SCHy
A+ L~
s
(pie chart $f B £ 4K 8 4 %#])

“
‘}:S“?\
You should spend about 20 minutes on this task. iﬁ&
The graph below shows the demand for electricity in England during typical days in

winter and summer. The pie chart shows how electricity is used in an average English

home.

Typical daily demand for electricity
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What the electricity is used for:

(1) 52.5% Heating rooms, heating water

(@) 17.5% Ovens, kettles, washing machines

@ 15% Lighting, TV, radio

@ 15%  Vacuum cleaners, food mixers, electric tools

o s
}Fa‘ks&auﬁm%?,?

LA

The line graph compares the n% electricity in England during typical days in two
seasons, while the pie chart illustrateﬁ%electncity is used in an average English
S

household. L
%

T @EX4 pie chart Bﬁ%ﬁ?ﬁﬁ]ﬂﬁ@ﬁﬁﬁﬁ?ﬁb&kﬂﬂﬁﬁ XERHEEEA ST,
XESFEXEMAHEE R LOIRAF, FNFEFIER GRENKESEE, ©
NENBHENSHIFFENEALLEBRAER.

It is clear that the electricity is used for four purposes. Heating rooms and water
accounts for the highest proportion (52.5% ) (& A {f) of the total amount of electricity
used, while ( tt %) the running of ovens, kettles and washing machines constitutes
17. 5% of the total consumption of electricity. Lighting, TV and the radio represent the
same proportion (15%) of power consumption as vacuum cleaners, food mixers and
electrictools do (HEAZAHASFFEHAMBFH AT THATRL).

HRRE: D LEXTTEBENEEEIRNBE LN BINEANHE, EHE

Pttt S Bt - S B S USSP RAS O B S

BAFE0EN, HFich, O nRELEAESNABYET, HHIIE. BESENET

AR AR A R

NEZBETHNESEANEE, MAeNd, MABSHIENHFHIELE EXENS
¥HFERNZBERBEFENE, Fl.

The main causes were over-cultivation (3.3% ) and over-grazing (1.5%).
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You should spend about 20 minutes on this task.

The charts below illustrate the annual spending (4% 657 %) by a UK school in

1981, 1991 and 2001.

Total School Spending 1981 Total School Spending 1991
Insuiancc Insurance
. s Other workers' 3%
aries
28% Teachers' 22% 5
salaries Teachf.'rs
40% salaries
50%
Resources
Resources e.g.zgcl;oks
e.g. books °
15% Furniture and Furniture and
equipment equipment
15% 5%
Total School Spending 2001
Other workers' Insurance
salaries 8%
15%
Resources
8 :;0 ks Teachers'
. salaries
48%
Furniture and
equipment
20%
S

HFEHESD KB WEE, BTNEIMIES— I THE (ZHSEESSHE—
RN BYEOTRERAMALRRE) 25, RNQTLUEEMBHEERR L LR HOMIE
ARRBMB KA THR, IRHEMTMERRERSOFLR, RIT T 2E & LKE
ERRERZ BN BB,

FFKER.

The pie charts show how much a UK school spent on different running costs in three
separate years: 1981, 1991 and 2001.
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FEER 1.

It is clear that in all three years, teachers' pay accounted for ( &+« ) the largest cost of
running the school (5 B4R B KT TR REL VB E RHA TN 4). This cost
increased from 40% to 50% of total spending between 1981 and 1991, and then fell
slightly t048% in 2001 (M ERRHWFA KRG - X BB R CAFREGEFKE).
By contrast ( #f i), although other workers’ salaries represented the second highest
cost in 1981 and 1991 (28% and 22% respectively) (£ 5B LS —BHEMA T TH
BEREEH#HANG, BFLEHNEMWF), the figure had decreased significantly to only
15% by 2001.

FHEE 2,

Spending on resources’such as books (RM=ZAHE “EHEHE” 87 X) had
increased from 15% to 20%. by-1991, before it decreased to only 9% in 2001. The cost
of furniture and equipment ( % 2| ﬁe’ﬂ AMMEEHRRAfIRERMAT) saw an opposite
trend (3% BB 4 B 30 2 b 1%33#&#3%#) This cost had declined from 15%
to only 5% of total spending by 1991, but fose dramatically in 2001 when it made up
(make up it £8f, HET “Heoeee ") 20% of thé-;g;al spending. Similarly (& |48
et 5% T %), the cost of insurance saw a"r'ié'in‘g trend, growing from only 2%
to 8% by 2001 ( & H 4 tffk By — % FF X insurance 4 3 B T #1991 £ty R G F £ 3%
EAYRFERA, &5, OFREFAE, UBRBAEHT, ¥ % X 4L # £ main
features, EF & “EXEHAE") .

HREER.

Overall, teachers' salaries constituted ( & -« ) the largest cost to the school, and
although spending increased dramatically for equipment and insurance, there were
decreases in spending on things such as books and on other workers' salaries (% & &
HEIREMTARNRBRTTEARSE, ERANLRRNATEARABETARS
Heyfg R, Tt “BHRE").

ALHEMoeyx kMo 2RET BEDELHAAEEAMY F
PHEALFTREIARENBEHMA PR EE, ARSTE-—FFEAEH
e “HEALE", 1
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Y MExERENSE: S1-24 -

KT Task 1 MEXRE—REF S, FENZEARLFLERARTS—HOAR, B
B, M (814) ~ (8112) EEMALEHERE, BASKBENMEXNERAN T
BOSIR (LEEF (£111) p. 138 M7 HEEAEF (£]12) p. 128 896.5 FEEEX),
Filt, Pat BWENRNEBNE, FRENMXERE—IERERE, MA/EXNE
BHIFRES,

SREENSRAZERAENMERLEETHEFLHNYNIE, MASECEE
BR, "Fomi" SEUHENRETUESY, VEEEE(ACEHTFENER

BEHFRRE,

wmpw%mmﬁﬁ%@ﬁﬁﬁﬁﬂ%ﬁ%%tﬁﬁAﬁ&ﬂ&maiimﬁw,mu
EEREXERBOE LR BT,

Il1s clear that although the rate of sm‘t‘i:ffi:f‘i'(éjamong men decreased throughout the 40-year
period, it was consistently higher (f#ﬁ%‘i}:‘),{h@ the figure for women.

MF p. 170 ABIREE, SIHFEXAHNERNE.

~L M

Overall, the line graph shows how the consumption of chickeh "(ﬁé}{éased dramatically
while the popularity of the other three kinds of food decreased over the 25-year period.

HBE R HMITCHMHABAR LA, MiX25 FEBH=RARNBRIDEE FHE,
BARL “fEEr", hRRPEEH “BEAMT, EXTF ELTS MEXRFEEZEB T,

XEEgn, po 191 P+ =B AFREN 7 D EE B XA MBI RS RGHERE
R, 2EBNBFEEEAREAMOBIBFIHOSER.

In summary , the underground railway systems in different cities vary significantly ( i g
HEHZF) in the site of the system, the number of passengers served per year and
the age of the system.

RUETRBTHRRRAER =T THBFERER (XXHFLREEF), BXRH7
NERBEZRES ‘NATE" T,
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R VEXHERHSHER—NERER, ABZREEN (WRRHBIEETHABR
SHNELS. TRETERYN) RT, ¥FEHZTENM, WREEEEZEELRE
—THRALSAEY, ERNRETHEORR, BLoREEEBHEME-—THRAXKREEA
EXERANERARN,

@ Task 1 BEEMAR 7 EZR oo 9

m BNFTREXROBEZLRE, PERXES/IMEXHBEROBHER
4 .E_u‘%gkﬁiﬁ%?% HELERH TESEEMTEHZFRAER.

I. The number of ﬁ@}%the UK increased from 21.9 millions to 29.6 millions. |
( ) * $
Z;f’p/\
2. Between 1980 and 1990, beef consﬁ% arise from 70 pounds to 93 pounds per
7

3. The average house price in the UK reduced from £ 19J @%“E%ZOOT to £156, 700 in
2009. ( )

person per year. ( )

4. The figure of France fell slightly, from 4.8 million travellers in 1990 to 4.6 million |

travellers in 1992. ( )

5. The per cent of people using their mobile phones to access the Internet rose to 39%
in 2005. ( )

6. The number of car users increased gradually, the number of bus users fell steadily.

|
( ) ‘

7. In 2005, consumers spend an average of $ 680 on mobile phone services.
( )



v R

F1RE.

REBSLA . 21.9 million 0 29. 6 million, # IELTS BEfidEs AR R IIENEH AT
X8 H B id thousands, millions, billions X HFHEE, BRBFIZ. EHRECHEXE
MB RGN FH, HJx thousand, million 1 billion RIFE KR ©, FNEEMRIHE
ﬁio

F2RE.

rise NIEPWITERXR rose, Pat —ERFFAHL2PERFNE/NMEXERT LF3
arise X1 #1] ‘ FEBRFE , HREHERXE arise RARFRIELA, MREXHAR
%, KM, EIirﬂ?E'EfﬁEBﬁi_ﬁﬂh happen,

$£IRE:

-'EEIJ\T'FIEﬁT?BﬁB‘i TEERE R reduce ﬂ‘ﬁﬁﬁﬁ fall (id %6+, fell) / decrease (i
%8F. decreased) HE¥FEx .,

FIRE.

the figure for (E¥. the figures for) BRT "RXAREXYNEST" REHH—
®ik, BURFEFNGREMT the figure of X, FEFES, RMENS, TR=AEH
HERE. the figure for .. (EMEERS, EERTME AN EFTHE TLKHT
L), the number of ... (ENEERIHLIEFREE), the amount of ... (EMEEBRFITH
BEEE),

BE5RE.

1€ percentage $# 55T per cent, AEEEHNETHE, B— 2T ABRTERSFET
fiRA,

W EMEAXEwRA thousand, million § KT “AFLF", “HEF" SRXBHAMSE, U
TUBEMNmA S, EREBHEAK S ELTS X E, W% 74 F # thousands of people
“BRTLEFHAN" ARZITEHNE



HiC percent Xz REEAERGENTAHE, ENEAREYTF—TEAS (%),
RREEILE, EXHEN "B KEATERST "8X" Tk, Bit, EX&NRR
hiER. (1) SERHWSRENTHEN, METHFEREISHER (x%), #l.
10.3%, 15. 7% %, (2) YEMBHARRXASZIR XV SN EIELBHARAH,
IR E #b fF A the percentage of X428, #in. the percentage of people aged 60 or
more, the percentage of Internet users %, thi 2. REEENIA % (FESMEB
¥F) Fpercentage (MESE the, BTES of), MAKLF T per cent, REBHLRZEN
#EXiH B4 percentage #0 per cent TR WES B HEFHIN ST, BB EL T HR,

F6=E:

Wiﬁéﬁiﬁtﬁ%ﬁﬁiﬁ%ﬁﬁ&—ﬂ‘ﬁ?i. B EfRaPHFEEEREE, TUESG
¥ (SELE S0 the number of bus users Z8]) #h Lt while SREIE, FXRER. whie 89
EEFREERESES,

7 RE:

SitENMBEHNENAEN, MA spend E‘Jﬁ%'tm spent, ;¥ EAHES A spended X,
;RN 1‘Fiﬁ?“ﬁ’lxﬁﬁiji?ﬁﬁﬁﬁf’%iﬂ’lﬁﬁhﬁo

C o ERETRE/IMESCRIBE BT T O

IELTS MEX KR SER ‘

* Task 1 MEXMBNARLSBERAXSHERY HESLEME— 8" 69E0,

* T CHERFT, ARBTUEL - XEBAKEEXHGP, T
wEER AL R A —RIEN ., Bk,

The line graph shows / The bar chart illustrates = & The charts compare ... / We ‘
can see from the pie chart that... / It IS clear from the line graph that...%& ({EiF
B fEX®HiES @ that 7 how 3| SHM G EEmHIMANFN HABEREEE
Fir s 69 RKEY B R B EZ BT )




/] s
_/af/ 54
TEFFS_'.’\'mu‘-g T T ——

PE—
| * TEBABNBREKBRESLBB O, 19908 550 05 6 6
FA, HHRRIE. NBEENENKBRARRAITEN, NBEEHENKES
Rk G K, l

| * MRBVESERHHAGE (BMY, AOFESZ—ORBNEXERFS RKH
[ B, BLeXMEH ML,

& ue;ﬁtz'gt}.t%Day

e e
1 se it 2k >J %g_
R,

HERE p. 170 IR ENLE; gfl\fﬂta’-]% "RAER", ATESGIEE

HEhiEEAEROFER (HH5F08E 55, ), HABBSE,
S

(1) The line graph ( ) (3hiF 1. iIIustratéji/’{g anges in the amounts of beef,

lamb, chicken and fish consumed in the UK betwee and 2004.

Sek

(2) In 1979, beef ( ) (3hig2. is) the most popular typ ,@h about 220 grams

consumed per person per week, while lamb and chicken ( ) (®hiE 3. is)

eaten in similar amounts (around 150 grams) .

(3) Over the 25-year period, the consumption of beef and lamb { ) (®hid 4.
fall) dramatically to 100 grams and 55 grams respectively.

(4) The consumption of fish also ( ) (Bhi8 5. decline), but less significantly, to
around 45 grams per person per week.

(5) By contrast, the consumption of chicken | ) (®hid 6. show) an upward
trend. By 2004 it ( ) (#1387 increase) to almost 250 grams per person per
week.

(6) Overall, the line graph ( ) ()35 8. show) that the consumption of chicken

( ) (#hid 9. rise) dramatically while the consumption of beef, lamb and fish
( ) (#138 10. decrease) over the 25-year period.
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W T e FEAERE RS R, HiEFRAERFNIE.,

0 The figure of women rose from 19% in 2009 to 27% in 2013.

o The market value of New Hampshire's agricultural products fall from $199 millions
in 2007 to $190 millions in 2012.

0 The per cent of Americans living in poverty rose to 14. 7% in 2009.

;giv ‘35¥$

4?
A e A ) B Sz,
1S
¥.
zhigd 1 illustrates
oAl | f;é.&jf
%A, XERE#iBiEN1E illustrate "B s é EReKIEEE, FFRIRZ

ER—MMEE, BN, EATEREH (lne graph), FINE Mjlustrates &) * ="
KA RETBEEH—H,

#hig 2
zhia 4

ZhiAl 6

Zhia 7

was A3  were

fell Zhid5 declined

showed (X4 show BRI ENAR, HTFRNBZEAREBLXIE
=)

had increased

%A, by 2004 (#IEZFE 2004 ) B “HFEMIE", AHERXE, SBFboy +
i1 Z 66 gy ERET, BIERNIEE R A XA (FrAXaiE £ A had increased) ,

(%1 10) @l4). By 2004, sales figures for both products had risen across the board.
(#IEZ 2004 &, ®F “idEedE", FUEEAEA T A5 had risen)



yay 7

(€111) $I4). These calls had fallen back to the 1995 figure by 2002 ( #1t % 2002
F, hRFT "HENITE", UG EREER T iTE5ME had fallen)

BhiE 8 shows ZhiE 9  rose
Zhid 10 decreased

#MA. The line graph shows (XM EEBTRT - ) BN BZEMERNKESEE,
FRASh AR ZA—MNEN (EEREH, FUSHEFER "2=" &R), BE%E shows
B how NI BEENNFU L BETENTABE, FFUNZBITER, X5RNAEGH
e "HESRENE——ME" TR,

.&mamaﬂ%x

A1 the figure Fﬁﬁ’]ﬂiﬁfr 2 for .
Lz
© H#RiF £ E W HIBE AT R A “@u\rm MidERR fell (B, TR felled
X)), E#EEE milion E!J\‘f‘ﬁS'(E.lZvﬁ‘f:‘Eﬁiﬁ&}&
K
3 the percentage of \/ RIEHHIER, ithe per cer{@ }3(9 N 2R

Py
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The Ultimate Template for

Process Diagrams

FRER, —EHERHHBNERNER. "XABXZREEE!
mMERPatAFFMNNENHR. "MRANEBRATNT, BAREH
HERMEREEHS. EFATED. "

AREETLEACENBHBIRER, RHEEIREENAL
#HE— ﬁTxﬁﬂAio

— Pat
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Z'Efmfmgqnmm&m@ﬂ "FRLE BBHR, (RBEECANTRTANRREA?
me, fREEHa.
AEABBBREAT EEFLOEXTHMAR S,

mARA FAMNE" . RBEREE, BTORE, K
‘im. RALE R R TR A At TG A,

BIS XHILESE LY process diagram FEZ|FH 1= L EB RN KE,

MRIT10 FHEENEXRE, BEER3 -4 N ARSHA—RE&E, FFUNREL
FRH2ZHH2 ~3 PANTEEHITREE, BARNZXIE—TF7,

%
ﬁHZHiﬁAﬁ'ﬁﬁ@ﬁﬁﬁﬁzfgﬁwb#xﬁﬁﬁmﬂﬁ@,ﬁﬁﬁ&&ﬁ
FERTBORIE L ZEH— “KE ﬁgﬁm EBETHARENIANES, #=2
TUETRIICIRE T H A,

Vg
&x%
O o WREN 4 BE o0 b

O AEEANERLNFEXRETN, MAR “—HN—%" 1. B, EEEHLH
EMFE. RTEREEE—NEY, ZNETES SENBNRENRE,

O MEAEEGHELEARRSIEN. MESR— BPXNREE, EEENEARE
RILOTREFIAIR, FFIL process diagram (FiEE) FHH4LEAANEBES A INET,
LREPHRLENHE, HALHAZTHEAREREMNEE, RNSATFT— T EHRL
BHENER, ELRFOR2TURHEN, SFMEEEGLANSTF S AR 2E R
XEE, ABTHBEE, REATHWRINSHE (BREXHEELATES—Y),

O EXTIFHNEANEESE—EE2H. H4aWRRE? R —NEEAE, Frid
PABRESMER T EMNIECHEEA RS RERES.
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At the first stage of (2 in) the process, ... / First, / First of all. (FEaT I
E The process begins with the ... ER XM EBSEESEZFHELERET, MTES
FiBEM)

At the second (23 third / fourth &) stage. . (G fourth IHE ./ , R
forth - )

After this, (EREBEEEA) / After that, (EXRFEBEFEA) =Next. =
At the next stage of (¥ in) the process. = At the following stage of (& in)

the process,

then CEBeEREEBEXE, then RTUNMEGE, BITUIHARMNESESN
be Fhiaf0id x &8, XFEREEMRDIE)

PIfl: Then. the informatdyis sent back to the server. = The information is ther

sent back to the server

At this stage, / At this point, (X FRER),

Finally, (J0R1E “#H" £ERFERHF, BADBTHUH eventualy XTE, EHN
BEEEARPIRN "BEE ", BERERE WRETEFFTRIEFTHIT, B4
HEREHEA finally, MEERBIWLXEHR 1 41 B eventually K finally #9)

HTRERTAFOERD, TEBEXRATER, BNARETRRKERAN
L I

O NBELEMAEERSHNESR, BLAFSHAL T AS %S Yray—@Eeamz L
B RREE, ETEBE— 4. £, HRLBARIZEMABFAFRAS
0, NR— A AEEEEOE—ARNE, BARE—HTH. RE-—ZTUERL)BE
RN ANHEENS (BN 100% 2 BFR), TE, BENHR, YXMHLANHI
B, BEEE— S HREBTHRRIVERENBEHMANNE, SFHBLTANE
BRFmAERBERBIN,

%, RREN4NERSEHT, TEFBSESXEIRAHBR,
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oo EXRERE, EZEBHARE AT

EREARIEXS Pat BOATIEH . REEEWMRH TR ELTS EXNHEHARE
RUE, BER2TMEEHIFRHER. FECHTHEHERBOAEIN,

B2, ¥TFRAREXHETEXRFHEI ~4 MAEI—KHS L£NEXKE, FE
—TMEEZLAFME, BRENELXFTON, BARBBREXNERARL ARG
X, FIAEBRENNK, IEEABESHENALRYE 26", FTEFERA—LEE
HNEE,

ttzn, Cambridge English Language Assessment B4 4 H 6 X WAIHFEE RS EX R
REEREVRNER (EEIBRTOECTNES) .

The first diagram shows that thérexare four main stages in the life of the silkworm.

First of all, eggs are produced by the“moth and it takes ten days for each egg to
become a silkworm larva that feeds on mulbefry-Jeaves. This stage lasts for up 1o six
weeks until the larva produces a cocoon of silk thread around itself. After a period of
about three weeks, the adult moths eventually (4% &) Aap AN L2 Rtk A9,
CRABFREL T RKBANLRZE, wRALEAGRFDE, 20T LFK
A A4 finally £4F) emerge from these cocoons and the life cycle begins again.

The cocoons are the raw material used for the production of silk cloth. Once selected ,
they are boikd in water and the threads can be separatzd in the unwinding stage. Each
thread is between 300 and 900 metres long, which means that they can be twisted
together, dyed and then us=d to produce cloth in the weaving stage.

Overall, the diagrams show that the cocoon stage of the silkkworm can be used to

produce silk cloth through a very simple process

AR EECEREE S YR H AR ERATESAEMEE WA,
ANEFATABOEHiESHS, XUEFEHAREBESIMESHE> —,

FEREMEERE R, BACHORERTENTE, MBREEXP NS EREENH
FTREHN, MR FEuiite . BANFXEHB XNiZWNEESFER?
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BERY)§eS

S
HE -
You should spend about 20 minutes on this task.

The diagram below shows how The Australian Bureau of Meteorology collects up-to-the-

minute information on the weather in order to produce reliable forecasts.
Write at least 150 words.

INCOMING  ANALYSIS&
ANFORMATION  FORECASTING  PREPARING THE gpoanCAST

S S BROADCAST
~a L - § 4
By, A g B
satcllitcvl ‘ot ‘L-_“ww Hio=d]
| ~satellite photo . TV newsreader
| ™ .
| -
B &
O N ™
= 9{ ?3"?;:-7
' = 7 s .
- / N . radio
l radar screen b e,
| | 22
3\ synoptic chart recorded
dnﬂmg I announcement

S
FEBHZER —EBEABNREERT, EHET HNXTF process diagram #—1))
0/, +EFH. N2/)hEB. MEEH =808 %,.

ERFRER BT LCENBRE, BT ORARMNHINS T ERREGE—T,

O = ENEsasy FFUR—ESERISITENS/ M HERLT, MAMENTF
TINEHEFHEE— T,

@FEEaRssE. ERMNEFESBHIMEARHAMARINBERISE L.
MIASEERO—RR, B4, tLnME T A drifting buoy TTIAFEHRZEK L%
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REELN—RE, BANIXFERFTT, ETERBEHARKILXBNEERS X,
O HAF X EEEERRSRTINF SR ANIEIE

O ZLGHNBEETEESHALAS RS, FRNRSBRFR?EOAFTHIZ=X
P, REZERDE, EXFOFAF (difting buoy) RHAFNE=H, IREEBBLEEHR
8, BERBERERILRI, BLAFREEFNN S HER?

BAFRE—T, EXTRBENL T4 ERAENEILEE, SR,

Incoming information ERE
an.ah/s:s & forecasting AHTFOR
preparing the broédcasi AEEER
broadcast . B

BEXERRBIZNNY, FEHILE T B MRER,

X
FAEREARFE (illustrate F)/FE W The procésgdiagram illustrates how the
RxEhow, BLEERESMNG, Australian Bureau of Meteorology forecasts
MES—1TFBEEIAFTRREN) the weather.

There are four main stages in the weather forecast process. The process begins with

the collection of weather data. At this stage . information about

EEE (FAEE
I P & i8] 18,
Rahia#®sh X
HIZEER)

the weather is collected from outer space, on land and at sea,

w o H
B

|

with satellites, radars, and drifting buoys respectively ( % %I

H

LA
#.). The information about the weather is then analysed (then & %

AHFHESLG be APt L 5E2 e, XAARLBHEL LT

# A R k) then #5 by weather forecast experts, who study the satellite photos,
radar screens, and synoptic charts to forecast the weather. At the third stage in the
process . the weather forecast is prepared for broadcast, which is done on comput-
ers. Finally, the weather forecast is broadcast (£ # X ##& Zix MR H X TR

#e-ed) to the public on TV, on the radio or as a recorded telephone announcement.

216
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In summary. the process diagram shows how information on the
weather is collected, analysed, prepared for presentation, and
finally delivered to the public by the Australian Bureau of
Meteorology.

BRRZXZ "#" H—EH, ERBYNEN, XFAFNEBF0ERNEIEDHNTE
X, RRRERT,

BINBE—EFURBRNAEE,
2 =
mE= -

The diagram below shows the shaping and growth of the forests in Yellowstone National Park

after a fire disaster.
-\ ning ad
. 50-100 years l . 0-50 years
Liiil8

¢ 3 2
:
M
4 5

S

XERENEFRNE IR E—EHLD, ERFENAEFE, RBEE, ANEZ/1EEF
B=1TE, FNEMAEALT, NEO BRI TELEFHITHOERED,

WETEHNEXIEEX, ¥RINREESNRFIAFNEENERER.

JEX .

The process diagram illustrates the main stages in the recovery (4 3 ) process of a
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forest in Yellowstone National Park after a devastating (s ik Xk #9) forest fire.

he process diagram thal the old forest is destroyed by lightning and

fire. Dunng the first 50 years aller the forest fire, many young trees appear in the
burned area. Although some of them continue to grow over he second 50 years the
total number of trees in this area decreases. /! the next slage of the recovery

rocess, the number of trees remains stable and they continue to grow in size for
two centuries. Afler that, the total number of trees in this area falls again, eventually
becoming similar to that of the old forest.

. process diagram shows thal it can take 300 years or more for a forest in
Yellowstone National Park to fully recover from a devastating wildfire.

PR, RRBREEA ABDE4 N NER, REERNTLISEN, EETRSUERS
BREHS, F—ERRMigEENBRCE, NBEX,

VAN, i
SIFraa g “% Rk

The diagrams below show the stages and equipment used in the cement-making process, and
how cement is used to produce concrete for building purposes.

Cement Production f Concrete Production
g /\ ,/.
Limestone
Clay / Waler
2] Mixer Cement - ¢ / (10%)
CWW | (15%) /
| M—— ]
Rotating
heater
(f. 1 Bags
S f,/“L;,,
/r,, \,&5\;—(»’ p
= |
Cement *Gravel = small stones

218
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BANG T

HEWMHLAXH4LZ, EEENERF—SLERY. "KL, EEERE LRI KE
T!" MEAFREFEZFN, PR IEXABREEALARN—LEZPRETL, t{11/HBMNA
EIXAREE (AHEEDHXE) HNREESILLBEEERE,

WA, IHNEBE BT M, HR. EFANEELHT T RESHNEE? Fair enough.
BN RBEFF AR (the worst-case scenario) Ri&, BE—TMXABGVPELKEN
24 (XRIEEHRHAE cementfi concrete R ¢ Fko, RMNFHHRZH /Do) BR
SEMXEIEBEAMEHBLEEE (NRM  HEFEHAREENE ARFERE) ,

N ciRD, ZHXBEEABRNEERFERDRANNIERE (BES/D c FINRER
HEH cement XMNE), BIWUEFHES —HEA (MNHBREEFN/ c BEBRIA
i concrete XMiE) MIA %, BT UBREARRLE—RFEHENTRERK, PF, A
FREBFARANESECEESRTT, B/ cHBFERTHEN) 2BHE— "KKR"
2, RJE mix,

BE, N\cHBEESMEM/ B S aiEl @k " HH RUESHETCERT, #
R c—RBTUORRIAFEE. £-@EA LA imestone /) c RITBEBFIAIR, B
BEEHEER AL (RXREKA), ZREBERB T, cayXMEE/Nc RBELRITH
B, BT UBEE S EthE—# material, crushery c ATRIAIR, BEMNEMXE
crusher NiZEERMARZEMNE MNEENAZTTUREXHBREREHANTEN), MBEE
BF crush iZE B — 5018 (HLEESHNER), SEXNMRGBIFETREX N EhiEgHA—
T, powder KBETIAIR, BERE—SHMR, YRIBEENHNE-SNHHERALBAT,

mixer /¢ R8I, BBV, BHEE TN grinder #1T “EEHN" BW (R
BAEEEMHNBENTEXBEXRERECEBHET ), s, {8 heater F bags X EiFH
FHRET, SESGEEREN/) c WERF, roating FHERHAER, EEEENRTE
ROFLEBERTERBENEXN, ETHLNE-ITE, MhcEHE—F. Wow! BT
concrete kA FINIRZ SN ER R E gravel — 1 4£18, MASIHNRBFRINEAERFELT
MBS ¥EiHEE gravel = small stones, BUER, KTHB THRIYAMULER. -

BRA/cHETXAS, BNLEMNESNXSRA. NMAWNFNEBFHEXAIR,
XECZEABHRT (AT, TENESMEXTR/Nc, M2/ p BN, RITUFRE
BiEHE, BEnRAEABRBARTIHE, EERTERALES, BIREROET)

The process diagrams illustrate the main steps (L XX AN BH i T L oRMELEY
ABRBLZFLA step AT “F ") In cement production and how cement is used in
the manufacture of concrete for construction purposes.
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i that the cement-making process begins with the raw materials — | ¢ . limestone

and clay, being crushed into powder in a crusher. The powder is blended in a mixer al the

2xl stage of the process | and then transported to a rotating heater. Afier being heated in

the heater, the compound is fed to a grinder and ground into cement. which is then
packed into bags.

After the cement is prepared, it is mixed in a revolving concrete mixer with water, sand and
gravel in the proportion of 15% :10% :25% :50% to produce concrete, as shown in the

)rocess alagram.

In summary, the two process diagrams show the manufacturing process of cement and its
role as a key material in the production of concrete.

AR
manufacture n & vt %ljié‘ -
raw material n. R¥
e #*Eﬁ%#ﬁﬂ—’a\ﬁj’ﬁ] = that is, ...
blend v RS, WIRREBEXERKL ERDARNEROER
statina adj. ﬁ%a}‘]

una n. ‘;E‘é,“m

. AP ETI Z0 feed B "HiX" HER, FTEEHITE
' 482 fed

BRE, FEENITEMER ground (X— S/ c BSETLEME
vt. &, BEESHA#ERMNIT X451 grinded th BLEIRER T
BEhER)

vt. T8

BXELERT, T cEEFTNEXFIMBEN coment T concrete BREBHATRE,
HIREFBNAGER, £BRETNRFEHZR, HEELENERTIRBD I XE
EREBT, ETNEENSINEARFERL, MFSiXE process diagram X FH4 4
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P EREMN SRR CElT 6

18 M HFE IR

EROHEHE—HN, BEROMSHEHENTE,

REWYE, EPEFENNEXEHERREZATL TRPH{N, HPBTHOR
ETEX 18 1 "Pretty Little Liars”, "# %" BIXTHEERBOLELBHEENIRE,
{E Pat R ERWRIFKFE-MOEF R —KEMK, RE XN FR 0T3R4 AORB
EHX 18 183, SH2EHRRIXNBELE—ZX, BEECRTE2D "$RBIL" T,

-~
Il
+

—_—)

i friend ¢ important
= foreign dangerous
receive knowledge
° benefit " experience
believe convenience
achieve competition
modern government
research environment
necessary ' advertisement
o

)
=)
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- HERUGE SRR LAY 10 A RS

TH&E Vv WSEBRER, HENER, T X WSENHLULEEFERHER.
1 spend money (E(# time) on ...

spend mmey (53?,3 tme) in... X

1‘ __ﬁlj nJ Governments should spend more money on publlc
1 3k servuces such as educatlon and health care.

L SNEEEERL 4 v e —— O S e

i
|
|
t

2 pay attention to ... /

pay attention on ... X .
%Ef&‘}:&"ilﬁﬁ & pay attention to “pay attentron to"

encourage sb. to do sth. /

X

encourage sb. doing sth. X .
NS

-~

f DR Parents should encourage their chlldren to spend i
1 more tlme on outdoor activities ( P 91*;%3:?]} '

4 find it difficult to ... /

feel it difficult to ... X N

———aa. A e —

|{ %] %). Some artists may find it diﬁlcull to supponl
{ themselves by selling their artistic creations. !




. RERT CBIMEERER", B feel 095, BAL It GH, RLAH

is AL, fifind OEEHATUEEER |+ 7 = THRIER

pose a threat to ... v/

consist of a threat to ... X .

s

¥

' Global warming poses a threal 10 biodiversity (44 F
i Z#1M) on Earth. s

_

{5 £

VERE . 3t MR LD " &Y F IR AR BN pose F & hreal #28

rely heavily on ... /

rely big on ... X
. "EEERTRESEY SN rely heaviyon .. A3

at the expense of ... /

BFREHRFTRETDLE
ESRFRREA—ETH®

on the expense of ... X

L
Dt

N
S SRRSO, Ve, W

]

‘. %171 . Economic growth should not be’ 4t the expense
f the environment.

. Bl BN BMTIEA at

give priority to + ZiFE=HENERE (Zhid + ing) /

give priority to + ENFERF X

f’ B = Governrﬁ;ﬁts should give prionty 10 supporting programr;nﬁéé;ri
i that promote sustainable development (SIHFENELZRE).
. give priority to (1B HMERENUBEERIEZMRR) ETN o ZMNE, E

NEHRAEERENNEAE



9 s an indispensable part of ... Vv

is a must-have part of ... X .
\\ N

i 5 7] . The Internet is an indispensable part of daily life for }
|

many people. J

. BRE "B FURLN—HL", AEERHXEOBE@/RSHis a
must-have part of ..., BZEIERE{EE A is an indispensable part of ...

10  excessive + M &H V

excessive + ASPIREREELE X
N

{ 51 5] . Excessive use of social networking websites Hj:BIW

P i5) at work can reduce productivity. |

42, excessive MEXBET “UFH" OHEE, BRECETRAMkRE useof ..,
television viewing %1 % £ i , TRAREE R people, tourists ER {4 E13



d it % C
N Appendix. C

oo MBEHRERSERE o o

w|oh IS ERFEAERMMHER, Ak, Pt FERLHERTESHSEEAEAYD
X3, M “HER" N8%.
#EBISEENRREFLREIFR
B A s o

MBEEEN XS, SHHELEBEMEA credit card, WRE

RREASH ,ﬁmﬁﬁaﬁﬂ%ﬂmwﬁiﬁ

Eﬁ%%ﬁﬁﬁ%iaﬁﬂ%ﬁﬁ& BEEAERABIERES
HESHMEHARFR ﬁﬁﬁﬂuﬁﬁMﬁ%(ﬁﬂmﬁﬁ HMF K4 RiZWRA
W, LAEEERN Eﬁ%?ﬁiﬁ*%ﬁﬁ FEEDEERR, BEFANES
£HEFHA xwﬁ'

ﬁ}ﬁﬁ%%ﬁTE#Em(ﬁﬁﬁﬁ ------ ), BREEXEHER
CD #ley i E Eﬁﬂ%ﬁ%#ﬁﬁ ®EFREE 6] — FEE
ﬁ%%%ﬁ%%ﬁ%hﬂﬁﬁﬁ%%%ﬁhﬁﬁm WREER
EEN, BLERFEZIRESSIFTEREY., EREFHN
MEHBR, BAEFTRHENNEGEXTKNFAXERER
0F h ZHHE L AR listening, & hearing

Wr hEREN

FHLELEARER | FIHLESBRERXNBERESE, MITLEEFTRBIFNK
XH EXHITETICXTAE FTHELIZERNOBIRER

EREEQ, LLWFE Sydney H— MR, ORXBEERRIEESE
¥17, MAREFRGEBSTE

Qi —AR 7 1T

BS, Pat BRI EAGTEEEINERLESRLUBREES 28" BF &
H" pEE, ERMBEERE, ELTS SHEFHMNTIRRIEN, N ZYEN, AEHH
NEJBESXNTREBE, FUHF L HET— I EEBREFSH—RTBYKITY "4
Be" RELER AN




Pat’s Ten-Day Step-by-Step Guide

to tbe [ELTS Wﬂt"’lg Test

> IBENTRESE
IELTS Essays f33Zifi
> (B4~ (@12) FEE
REEZSH 'WR" A




	组合 123_页面_001
	组合 123_页面_002
	组合 123_页面_003
	组合 123_页面_004
	组合 123_页面_005
	组合 123_页面_006
	组合 123_页面_007
	组合 123_页面_008
	组合 123_页面_009
	组合 123_页面_010
	组合 123_页面_011
	组合 123_页面_012
	组合 123_页面_013
	组合 123_页面_014
	组合 123_页面_015
	组合 123_页面_016
	组合 123_页面_017
	组合 123_页面_018
	组合 123_页面_019
	组合 123_页面_020
	组合 123_页面_021
	组合 123_页面_022
	组合 123_页面_023
	组合 123_页面_024
	组合 123_页面_025
	组合 123_页面_026
	组合 123_页面_027
	组合 123_页面_028
	组合 123_页面_029
	组合 123_页面_030
	组合 123_页面_031
	组合 123_页面_032
	组合 123_页面_033
	组合 123_页面_034
	组合 123_页面_035
	组合 123_页面_036
	组合 123_页面_037
	组合 123_页面_038
	组合 123_页面_039
	组合 123_页面_040
	组合 123_页面_041
	组合 123_页面_042
	组合 123_页面_043
	组合 123_页面_044
	组合 123_页面_045
	组合 123_页面_046
	组合 123_页面_047
	组合 123_页面_048
	组合 123_页面_049
	组合 123_页面_050
	组合 123_页面_051
	组合 123_页面_052
	组合 123_页面_053
	组合 123_页面_054
	组合 123_页面_055
	组合 123_页面_056
	组合 123_页面_057
	组合 123_页面_058
	组合 123_页面_059
	组合 123_页面_060
	组合 123_页面_061
	组合 123_页面_062
	组合 123_页面_063
	组合 123_页面_064
	组合 123_页面_065
	组合 123_页面_066
	组合 123_页面_067
	组合 123_页面_068
	组合 123_页面_069
	组合 123_页面_070
	组合 123_页面_071
	组合 123_页面_072
	组合 123_页面_073
	组合 123_页面_074
	组合 123_页面_075
	组合 123_页面_076
	组合 123_页面_077
	组合 123_页面_078
	组合 123_页面_079
	组合 123_页面_080
	组合 123_页面_081
	组合 123_页面_082
	组合 123_页面_083
	组合 123_页面_084
	组合 123_页面_085
	组合 123_页面_086
	组合 123_页面_087
	组合 123_页面_088
	组合 123_页面_089
	组合 123_页面_090
	组合 123_页面_091
	组合 123_页面_092
	组合 123_页面_093
	组合 123_页面_094
	组合 123_页面_095
	组合 123_页面_096
	组合 123_页面_097
	组合 123_页面_098
	组合 123_页面_099
	组合 123_页面_100
	组合 123_页面_101
	组合 123_页面_102
	组合 123_页面_103
	组合 123_页面_104
	组合 123_页面_105
	组合 123_页面_106
	组合 123_页面_107
	组合 123_页面_108
	组合 123_页面_109
	组合 123_页面_110
	组合 123_页面_111
	组合 123_页面_112
	组合 123_页面_113
	组合 123_页面_114
	组合 123_页面_115
	组合 123_页面_116
	组合 123_页面_117
	组合 123_页面_118
	组合 123_页面_119
	组合 123_页面_120
	组合 123_页面_121
	组合 123_页面_122
	组合 123_页面_123
	组合 123_页面_124
	组合 123_页面_125
	组合 123_页面_126
	组合 123_页面_127
	组合 123_页面_128
	组合 123_页面_129
	组合 123_页面_130
	组合 123_页面_131
	组合 123_页面_132
	组合 123_页面_133
	组合 123_页面_134
	组合 123_页面_135
	组合 123_页面_136
	组合 123_页面_137
	组合 123_页面_138
	组合 123_页面_139
	组合 123_页面_140
	组合 123_页面_141
	组合 123_页面_142
	组合 123_页面_143
	组合 123_页面_144
	组合 123_页面_145
	组合 123_页面_146
	组合 123_页面_147
	组合 123_页面_148
	组合 123_页面_149
	组合 123_页面_150
	组合 123_页面_151
	组合 123_页面_152
	组合 123_页面_153
	组合 123_页面_154
	组合 123_页面_155
	组合 123_页面_156
	组合 123_页面_157
	组合 123_页面_158
	组合 123_页面_159
	组合 123_页面_160
	组合 123_页面_161
	组合 123_页面_162
	组合 123_页面_163
	组合 123_页面_164
	组合 123_页面_165
	组合 123_页面_166
	组合 123_页面_167
	组合 123_页面_168
	组合 123_页面_169
	组合 123_页面_170
	组合 123_页面_171
	组合 123_页面_172
	组合 123_页面_173
	组合 123_页面_174
	组合 123_页面_175
	组合 123_页面_176
	组合 123_页面_177
	组合 123_页面_178
	组合 123_页面_179
	组合 123_页面_180
	组合 123_页面_181
	组合 123_页面_182
	组合 123_页面_183
	组合 123_页面_184
	组合 123_页面_185
	组合 123_页面_186
	组合 123_页面_187
	组合 123_页面_188
	组合 123_页面_189
	组合 123_页面_190
	组合 123_页面_191
	组合 123_页面_192
	组合 123_页面_193
	组合 123_页面_194
	组合 123_页面_195
	组合 123_页面_196
	组合 123_页面_197
	组合 123_页面_198
	组合 123_页面_199
	组合 123_页面_200
	组合 123_页面_201
	组合 123_页面_202
	组合 123_页面_203
	组合 123_页面_204
	组合 123_页面_205
	组合 123_页面_206
	组合 123_页面_207
	组合 123_页面_208
	组合 123_页面_209
	组合 123_页面_210
	组合 123_页面_211
	组合 123_页面_212
	组合 123_页面_213
	组合 123_页面_214
	组合 123_页面_215
	组合 123_页面_216
	组合 123_页面_217
	组合 123_页面_218
	组合 123_页面_219
	组合 123_页面_220
	组合 123_页面_221
	组合 123_页面_222
	组合 123_页面_223
	组合 123_页面_224
	组合 123_页面_225
	组合 123_页面_226
	组合 123_页面_227
	组合 123_页面_228
	组合 123_页面_229
	组合 123_页面_230
	组合 123_页面_231
	组合 123_页面_232
	组合 123_页面_233
	组合 123_页面_234
	组合 123_页面_235
	组合 123_页面_236
	组合 123_页面_237
	组合 123_页面_238
	组合 123_页面_239
	组合 123_页面_240

